Saltsjobadens BS

Huvudtavling Alandsbridgen 2011 2011-03-06

Partavling, 53 bord, 103 par. Antal brickor: 72. Medel: 3742.6. Frirond (*) ger egen procent.

Plac Par
1 61
2 109
3 89
4 79
5 92
6 3
7 102
8 48
9 31

10 66
11 47
12 77
13 1
14 52
15 54
16 29
17 8
18 43
19 2
20 107
21 67
22 108
23 86
24 98
25 30
26 97
27 96
28 38
29 11
30 5
31 91
32 111
33 16
34 103
35 88
36 14
37 50
38 27
39 70
40 63
41 81
42 42
43 105
44 68
45 10
46 39
47 69
48 34
49 7
50 45
51 36
52 22
53 20
54 100
55 93
56 26
57 49
58 82
59 84
60 41
61 18
62 19
63 46
64 35
65 32
66 76
67 40
68 83
69 87
70 44
71 90
72 62
73 110
74 94
75 28
76 64
77 9
78 33
79 80
80 104
81 72
82 53
83 15
84 21
85 112

Poang

4673.5
4669.2
4583.6
4562.1
4516.3
4439.6
4412.9
4347.1
4339.7
4326.3
4301.9
4291.1
4288.3
4284.2
4278.3
4235.1
4220.9
4187.8
4179.4
4178.8
4168.5
4162.2
4161.3
4135.5
4130.8
4105.3
4100.6
4093.5
4062.9
4034.5
4033.7
4024.7
4022.9
4001.5
3986.4
3979.9
3978.5
3969.3
3962.4
3961.6
3935.7
3933.4
3927.5
3920.0
3907.8
3886.5
3883.2
3819.0
3803.9
3796.8
3784.8
3778.8
3760.1
3735.6
3731.6
3726.5
3722.3
3713.5
3707.2
3676.7
3669.8
3662.5
3635.5
3611.3
3569.6
3550.3
3546.5
3545.1
3516.2
3495.2
3492.5
3484.5
3441.2
3422.7
3408.5
3407.8
3399.4
3390.8
3360.4
3355.7
3347.8
3316.3
3308.9
3293.1
3290.1

%

62.41
62.36
61.21
60.93
60.31
59.29
58.93
58.05
57.96
57.78
57.45
57.31
57.27
57.21
57.14
56.56
56.37
55.93
55.82
55.81
55.67
55.59
55.57
55.23
55.17
54.82
54.76
54.67
54.26
53.88
53.87
53.75
53.72
53.44
53.24
53.15
53.13
53.01
52.92
52.91
52.56
52.53
52.45
52.35
52.19
51.90
51.86
51.00
50.80
50.70
50.55
50.46
50.21
49.89
49.83
49.77
49.71
49.59
49.51
49.10
49.01
48.91
48.55
48.23
47.67
47.41
47.36
47.34
46.96
46.68
46.64
46.53
45.96
45.71
45,52
45.51
45.40
45.28
44.88
44.81
44.71
44.29
44.19
43.98
43.94

Namn

Jan Molin - Hilding Rune

Anders Palmgren - Olle Wademark
Arne Johansson - Sune Sundholm
Erik Franzén - Hans Johansson

Bjorn Gjorwell - Alf Selberg

Tore Stormo - Ylva Strandberg

Kjell Hansson - Rolf Karlsson

Malin Helin - Daniel Sivelind

Urban Bjorklund - Johan Upmark
Karola Hogberg - Lars Lilja

Fredrik Alfredsson - Simon Bech
Johnny Johansson - Catarina Midskog
Eric Arvidsson - Svein-Gunnar Karlberg
Thomas Groth - Anne-Marie Hoglund
Bengt Bergstén - Andreas Westman
Micke Almgren - Lennart Eriksson
Per-Ake Jansson - Per Selander
Christina Blomberg - Marcus Hjelte
Kaj Sundsten - Markku Kanerva
Sofia Ryman - Bjorn Sérling
Margareta Sjdberg - Ake Sjéberg
Christer Ellwyn - Tommi Ramstedt
Stig Johansson - Anders Aslund
Lars-Goran Ehlin - Margareta Ehlin
Axel Bring - Per Lindstrom

Bo Sivelind - Margot Sivelind
Joachim Borgel - Kaj Toivosson

Jens Brodin - Erik Gulliksson

Kerstin Strandberg - Lillemor Strindberg
Torbjérn Sandbéck - Ake Sandback
Kalervo Aro - Pasi Lehmus

Jerzy Kawa - P&r Rosén

Inger Séllsten - Ric Séllsten

Tony Brandstrom - Ted Jansson
Markus Hedstrém - Johan Karlsson
Par Netsman - UIf Westlin

Ronny Hellberg - Daniel Svensson
Kent Maltein - Ted Olows

Sven-Ake Arvendahl - Kent Sjéberg
Eva Gunnarsson - Suzanne Larsson
Eva Andersson - Olle Olsson

Claes Bodin - Nina Bodin

Daniel Gullberg - William Hernebrink
Jan-Olof Hegethorn - Jan Ternstedt
Gudrun Strandberg - Nilla Sundberg
Urban Mentzer - Peggy Nyholm
Bengt Lindskog - Jesper Rundin
Roger Ahlbom - Leif Linder

Goran Eriksson - Nils-Erik Hedlund
Anette Ekman - Bengt Pettersson
Maria Helin - Carina Westlin

Robert Back - Lena Petersen

Tommy Gunnarsson - Michael Lemborn
Susanne Olausson - Roger Wahlgren
Per Eriksson - Per Sandstrom

Mart Altmée - Margareta Thunberg
Leif Ahlberg - Lotta Rodin-Lundberg
Leif Grongvist - Gunn Sundstrom
Daniel Matus - Micael Olausson
Jan-Eric Granwald - Sune Hallgren
Stefan Josefsson - Arne Karlsson
Armi Koistinen - Kari Koistinen
Per-Erik Jansson - Lennart Persson
Villy Glas - Robert Sjogren

Ola Persson - Pierre Winberg

Jorgen Eskilsson - Antero Karvinen
Andreas Jansson - Erika Rodin
Bengt Johansson - Stefan Johansson
Goran Blomquist - Hans Akesson
Pernilla Andreasson - Eva Netsman
Hannu Oikarainen - Eva Wiklander
Ulla Molin - Margareta Walldin
Theresia Didriksson - Mathias Svensson
Ewa Bjorling - Anita Lofgren

Lena Adolfsson - Lars Lundqvist
Lennart Bjorklund - Borje Karlsson
Mikael Parkeman - Michael Runfors
Christer Cedergren - Kjell Hikansson

Mari-Anne Elsasdotter - Biorn Torbiérnsson

Anja Gullstrém - Manika Aberg

Peter Karlsson - Eva Wallman

Patricia Kronbé&ck - Yvonne Strém
Hans Jidestig - Johan Pihl

Claes Andreasson - Conny Lévgren
Ingegerd Eriksson - Eleonore Kronbéck

MID

8664
1340
8768
76
13439
78250
35997
30933
9496
17222
83200
6116
16417
12749
4090
11390
2714
1933

78200
24704
19393
78428
10501
11106
147
4050
84125
9216
70

9722
8642
35999
87082
81529
84485
15967
5396
12598
3585
11300
37167
12033
4143
11111
490
11528
8493
8987
30932
11174
10295
90653
19493
5914
16742
39090
90716
11380
2033

2974
9042
84911
15590
19642
19315
16741
24710
35098
8819
29006
37928
25982
2292
14338
4027
89478
12616
1225
33879
13128
8837
50549

8743
14800
11888
14410
13539

9217
83414
12589
24498

4118
87173

2490

50984
23603
9020
15820
84282

80438
9207
51783
7835
10502
15223
149
1673
24169
8806
123

89407
12585
35998
32229
3230
18661
8281
3260
14984
7472
8131
41017
589
8520
51632
80778
11580
7585
2870
12540
12966
1215
12247
6638
9232
14792
91386
83375
5152
8570

2978
9210
87444
15801
93303
24369
14368
81530
17165
1907
11709
83339
6692
2290
10344
3733
8462
526
17289
8195
24280
24860
30328

Klubb

BK Stjarnskotten - BK Tva Ess
BK ALERT - BK S:t Erik
Gnesta BK

Borlange BK - Munkedals BS
ABB BK - Sthims-Polisens BS
Arla BK

Mariehamns BK

Bolinés BK - LudvikaBygdens BK
Bollnés BK - BK S:t Erik
Orebridgen

Karlstads BK - BK S:t Erik
Malungs BK - Karlstads BK

BK S:t Erik

BK Hudik

Orebridgen - Sundsvallsbridgen
Arla BK

Smedstadens BK - BK S:t Erik
BK S:t Erik - Upsala BS

BK S:t Erik - Bohus Nations BS
Arla BK - BK S:t Erik
Jarnvagens BK - Lindesbergs BS
Insjons BK

Gavle BK

BK S:t Erik - Katrineholms BA
LudvikaBygdens BK
Lindesbergs BS - Boras BA
Gavle BK

BK S:t Erik - Arla BK

Malungs BK

BK S:t Erik

BK S:t Erik

Mariehamns BK

Skovde BA - Hallefors BK
Bollnas BK

Veddige BS

Gavle BK - Sundsvallsbridgen
Insjons BK - Sundsvallsbridgen
Bohus Nations BS - Karlstads BK
Tjorns BK - Orust BK

Karlstads BK

BK S:t Erik - Filbyter Bridge

BK S:t Erik

Arla BK

Arvika BS

Visby BS - Hedemora BS
Bergsjo BK - Sorsele BK

Bollnas BK

BK S:t Erik - Hallstahammars BK
Bollnas BK

BK Lyx

Salamandern/Wasa - Karlstads BK
Mariehamns BK

Enkopings BS

BK S:t Erik

Visby BS - Havdhems BK
Mariehamns BK - BK Bjorken
Norrkdpingsbridgen - Mariehamns BK
Visby BS

Arla BK - Savsjo BK

Gévle BK

BK S:t Erik

Bolinas BK

Jarnvagens BK

Malungs BK - BK S:t Erik
Enkdpings BS

Hasselby BK

Bollnas BK

BK S:t Erik

BK Stjarnskotten - BK Tva Ess
Hede BK - Grimsldvs BK
Tyreso BK

Valdemarsviks BK - Filbyter Bridge
Sthims-Polisens BS
Orebridgen

Kop En Sol - Ystads BS

BK S:t Erik

Skutskars BK

Vadstena Bridgeklubb - Motala Bridgeallians

Gévle BK
Orebridgen
BK S:t Erik
Gévle BK
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86 12 3285.6 43.88 Ylva Johansson - Elisabeth Stanley 11744 8807 Enkopings BS - ABB BK
87 23 32741 43.72 Stefan Fransén - Peter Lindgvist 42497 9446 Bollnas BK
88 71 32358 43.21 Birgitta Forsell Nasman - Gunbritt Ringvall 93503 93504 Insjons BK - BK S:t Erik
89 95 3203.8 42.79 Dagmar llrot - Ake Nilsson 82123 82122 BK TvaEss
90 3168.2 42.31 la Borling - Linnea Edlund 89037 34773 BK Fyris
91 65 3168.2 42.31 Raul Nilsson - Dick Persson 26132 45650 Enkopings BS - Akersberga BS
92 17 3147.2 42.03 Allan Hagman - Magnus Persson 87038 87044 Arboga BK
93 3145.8 42.01 Ann-Christin Malmgren - Eva Wetterhall 16186 2815 LudvikaBygdens BK - BK S:t Erik
94 24 3130.6 41.81 Suzanne Ingemansson - UlIf Ohman 31364 25671 Skutskars BK
95 73 31185 41.65 May-Britt Skoog - Gunnel Syrén 1219 1237 Vadstena Bridgeklubb
96 101 3102.7 41.44 Lennart Pettersson - Ben Ohberg 46902 46910 Mariehamns BK
97 37 3042.4 40.63 Anna Skau - Catarina Skau 82924 21342 Kungshamns BK - Smedstadens BK
98 25 3034.6 40.53 Carina Lindqgvist - Sture Lindqvist 29612 6716 Valdemarsviks BK
99 74 2908.7 38.85 Gunilla Karis - Rune Karis 34464 39124 Insjons BK
100 99 2877.0 38.42 Synnove Pussinen - Ann-Catrin Rostén 41435 46904 Mariehamns BK
101 51 2867.0 38.29 KajG Backas - Riita Backas - - -
102 75 2492.2 33.28 Britt-Marie Gulleryd - Gunvor Olofsson 37181 31191 Insjons BK
103 78 2219.1 29.64 Marie Friedman - Birgitta Svensson 38247 27929 BK S:tErik
1 4 Kn42 2 4 E104 3 4E3
Nord v D86 Ost v D964 Syd v Kn74
Ingen + KD8 NS +54 ov ¢+ E7652
2K976 #Kn986 #753
410853 4 EK96 4 D76 & Knog 4 KD876 #1095
v K43 v EKn10952 v 82 v EKn753 vK3 v 10986
¢Kn92 ¢76 ¢ EKn102 ¢ D73 +D8 + Kn9
*E42 *3 #D532 «107 #EKD6  #Kn842
« D7 & K532 4« Kn42
v7 vK10 vED52
¢ E10543 + K986 + K1043
#DKn1085 *EK4 £109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 49 5v O-3 £Q 150 1039 01|26 29 2¢vDO-2 #A 300 1029 11|95 78 3NO-5 a2 500 1039 0.1
9 46 4vDO-1 #Q 100 99.7 43|54 1 2vyDO-2 #A 300 1029 11|52 5 3¢DN= T 470 101.7 2.3
19 36 6v 0-2 «Q 100 99.7 43| 5 50 INS+2 &2 150 976 64|96 77 3NO-3 ¢3 300 995 45
95 80 5v 0-2 +A 100 99.7 43|18 37 INS+2 2 150 976 64|53 4 4eV-2 +A 200 97.3 6.7
35 20 4v O-1 £Q 50 87.0 17.0| 19 36 INS+2 8 150 976 64|29 28 44 S= *A 130 951 8.9
38 17 5v O-1 #Q 50 87.0 17.0| 30 25 24 S+1 ¥8 140 933 10.7| 9 48 3¢ N= aT 110 86.2 17.8
51 4 34 V-1 a2 50 87.0 17.0| 7 48 2NS= v8 120 80.6 23.4| 19 38 3¢ N= +J 110 86.2 17.8
64 111 4v O-1 +A 50 87.0 17.0| 10 45 INS+1 &2 120 80.6 23.4| 87 86 3¢ N= aT 110 86.2 17.8
71104 4v O-1 +A 50 87.0 17.0| 28 27 INS+1 ¥8 120 80.6 23.4| 91 82 3¢ N= aT 110 86.2 17.8
91 84 4v 0O-1 £Q 50 87.0 17.0| 38 17 2NS= v2 120 80.6 23.4| 98 75 2¢ N+1 45 110 86.2 17.8
93 82 4v O-1 #Q 50 87.0 17.0| 44 11 2NS= v8 120 80.6 23.4|107 66 3¢ N= aT 110 86.2 17.8
99 76 4v O-1 +A 50 87.0 17.0| 65110 2N S= ¢ A 120 80.6 23.4|111 62 3¢ N= 49 110 86.2 17.8
112 62 34 V-1 ¢K 50 87.0 17.0| 89 86 2NS= +J 120 806 234| 1 3 INV-1 3 100 719 32.1
30 25 44 N-1 &K -50 753 28.7| 92 83 INS+1 ¢ 120 80.6 23.4| 16 41 24 V-1 +¢A 100 719 321
97 78 44 N-1 &A -50 753 28.7| 93 82 INS+l1 46 120 80.6 23.4| 27 30 44 V-1 &A 100 719 321
5 50 54 N-2 &K -100 66.8 37.2(102 73 INS+1 ¢2 120 80.6 23.4| 31 26 34 V-1 &2 100 719 321
18 37 54 N-2 a2 -100 66.8 37.2(107 68 INS+1 2 120 80.6 23.4| 73100 44 V-1 v7 100 719 321
44 11 54 N-2 &A -100 66.8 37.2| 66 109 2v O-2 #A 100 66.8 37.2| 80 93 34 V-1 +A 100 719 32.1
66 109 44DN-1 &A -100 66.8 37.2( 99 76 2v O-2 +6 100 66.8 37.2| 10 47 INS= *A 90 64.1 39.9
102 73 54 N-2 &A -100 66.8 37.2| 6 49 INS= 2 90 48.8 552 20 37 2vS-1 43 -50 619 421
108 67 5# N-2 &K -100 66.8 37.2( 15 40 INS= *T 90 488 55289 84 1la V= *7 -80 59.7 443
74 101 24 V= +8 -110 594 446( 51 4 INS= *T 90 48.8 552 8 49 l1la V+1 &A -110 47.6 56.4
8 47 2v O+1 #Q -140 5411 499| 52 3 INS= 46 90 48.8 552 14 43 1la V+1 +A -110 476 56.4
24 31 3vO= #Q -140 541 499 64 111 INS= 2 90 488 552| 24 33 1la V+1 +A -110 47.6 56.4
8l 94 3vO= 4Q -140 541 49.9( 77 98 INS= LX) 90 488 552| 25 32 24 O= &T -110 47.6 56.4
88 87 3vO= #Q -140 5411 499| 81 94 INS= 2 90 488 55.2| 40 17 24 V= v3 -110 476 56.4
26 29 3v O+1 #Q -170 456 584 88 87 INS= 3 90 488 552 |54 2 24 0= &3 -110 476 56.4
53 2 34 0+1 v7 -170 456 584 | 91 84 INS= *2 90 488 552 | 74 99 1la V+1 7 -110 47.6 56.4
75100 2v O+2 &5 -170 456 584| 95 80 INN= 2 90 48.8 55.2(101 72 24 V= v4 -110 476 56.4
92 83 3v O+1 &Q -170 456 584( 96 79 INS= v7 90 488 552|102 71 14 V+1 +A -110 47.6 56.4
10 45 54DN-2 4K -300 31.9 721|97 78 INS= 2 90 48.8 55.2 (104 69 1la V+1 ¢A -110 47.6 56.4
12 43 54D N-2 &K -300 319 721|103 72 INS= +J 90 48.8 552| 6 51 34 V= v3 -140 17.8 86.2
15 40 54DN-2 3 -300 319 721108 67 INS-= 5 90 488 552| 7 50 34 V= s A -140 17.8 86.2
22 33 54DN-2 &A -300 31.9 721112 62 INS= 2 90 488 552 | 11 46 24 O+1 vA -140 17.8 86.2
41 14 54DN-2 &4A -300 319 721 8 47 2v O-1 #A 50 308 73.2| 35 22 1la V+2 3 -140 17.8 86.2
77 98 54DN-2 4A -300 319 721 12 43 2v O-1 #A 50 30.8 73.2| 39 18 1la V+2 aA -140 17.8 86.2
103 72 54D N-2 4A -300 319 721( 34 21 3NS-1 ¢J -100 223 81.7| 42 15 1la V+2 v4 -140 17.8 86.2
105 70 54DN-2 4A -300 319 721| 35 20 2NS-1 +8 -100 223 81.7| 45 12 34 O= ¢A -140 17.8 86.2
107 68 54D N-2 4A -300 319 721|399 16 INS-1 &2 -100 22.3 81.7| 63 110 34 V= v4 -140 17.8 86.2
7 48 4v 0= #Q -420 149 89.1| 41 14 24 S-1 8 -100 22.3 81.7| 64 109 1a V+2 v4 -140 17.8 86.2
34 21 49 0= #Q -420 149 89.1| 53 2 INS-1 &3 -100 22.3 81.7| 65 108 34 V= v] -140 17.8 86.2
39 16 4v O= #Q -420 149 89.1(105 70 INS-1 T -100 22.3 81.7| 68 105 34 V= s A -140 17.8 86.2
54 1 4v 0= #Q -420 149 89.1| 9 46 3NS-2 ¢J -200 11.7 92.3| 70 103 24 V+1 +¥3 -140 17.8 86.2
61 63 4v 0= #Q 420 149 89.1| 22 33 44 S-2 v3 -200 11.7 92.3| 76 97 1a V+2 &A -140 17.8 86.2
65 110 4v O= #Q 420 149 89.1( 61 63 2v N-2 &T 200 11.7 923| 90 83 24 V+1 v4 -140 17.8 86.2
80 86 4y O= &J -420 149 89.1| 75100 2NS-2 2 -200 11.7 92.3| 92 81 34 V= oA -140 17.8 86.2
52 3 5¢DS-3 v3 -500 6.4 976 23 32 3NS-3 &3 -300 43 99.7| 94 79 24 V+1 &7 -140 17.8 86.2
96 79 44DV= K -590 43 99.7| 71104 INS-3 2 -300 43 99.7(112 61 1a V+2 v4 -140 17.8 86.2
28 27 4vDO+1 #Q -690 2.2 101.8| 74 101 3% N-3 &7 -300 43 99.7 - 44 48.5
23 32 34DN-4 &3 -800 0.1 103.9| 24 31 INS-4 T -400 0.1 103.9| 88 - 55.4
- 42 54.6 - 42 54.6 - 67 57.9
69 - 53.9 69 - 53.9 23 34 A+/A- 624 416
90 - 48.5 90 - 48.5 36 21 A+/A- 624 41.6

Saltsjdbadens BS, Huvudtavling Alandsbridgen 2011 2011-03-06, sida 2 av 20




4 D96 5 & Kn5 a-
Vast v D82 Nord vE92 v E109854
Alla + 1064 NS ¢ EKn9742 + E8765
#E972 #65 #52
475 «E102 «ED98 K103 4 KKn104 853
vKKn43 v76 vK73  vKnl10654 v D32 v6
¢ K85 ¢ ED97 +D103 +¢6 ¢+ K ¢ DKn109
#Kn1065 #D843 #Kn82 #10943 #ED1093 #KKn764
» KKn843 7642 «ED9762
vE1095 vD8 v KKn7
¢ Kn32 ¢ K85 ¢ 432
*K #EKD7 +8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
45 12 3#0-3 45 300 1028 12| 76103 3NS+4 &2 720 1039 0.1| 63 65 3vyDN= &K 530 1039 0.1
68 105 3v V-3 46 300 1028 12| 15 44 3NS+3 ¥3 690 100.6 3.4|104 75 54DV-2 ¢A 500 1018 2.2
25 32 INO-2 5 200 973 6.7 43 16 3NS+3 v7 690 1006 34| 2 4 4vyN= #A 420 955 85
27 30 INO-2 &3 200 97.3 6.7 36 23 3NS+2 v3 660 96.2 7.8| 36 23 4v N= &4 420 955 85
92 81 INO-2 a4 200 97.3 6.7(109 70 3NS+2 ¢3 660 96.2 7.8 40 19 4vN= ¢Q 420 955 85
102 71 INN+2 w7 150 929 111| 7 52 3NN+1 ¢5 630 91.8 12.3| 98 81 4v N= &5 420 955 85
14 43 24 S+1 &) 140 85.1 189112 64 3NN+1 v6 630 91.8 123101 78 4v N= ¢Q 420 955 85
31 26 24 S+1 &) 140 85.1 189| 8 51 3NS= #J 600 87.3 16.7| 76 103 54DV -1 vA 200 87.0 17.0
39 18 24 S+1  #J 140 85.1 189| 63 65 3NS= 48 600 87.3 16.7| 83 96 2NV-2 v9 200 87.0 17.0
70 103 24 S+1 &9 140 85.1 189| 2 4 INN+4 vJ 210 84.0 20.0| 93 86 54DV-1 &5 200 87.0 17.0
96 77 24 S+1 a5 140 85.1 189110 69 INN+3 v7 180 81.8 222 90 89 3v N= &K 140 82.7 21.3
98 75 24 S+1 5 140 85.1 189 17 42 INS+2 48 150 741 299 68 111 5 V-1 vA 100 80.6 23.4
1 3 24S= &5 110 60.8 43.2| 24 35 2¢ N+3 v5 150 741 299| 11 48 4v N-1 +Q -50 743 29.7
6 51 24 S=  ¢K 110 60.8 43.2| 26 33 3¢ S+2 &2 150 741 299| 25 34 4v N-1 +Q -50 743 297
9 48 24 S=  ¢5 110 60.8 43.2( 95 84 4v O-3 #A 150 741 299| 30 29 4v N-1 &5 -50 743 29.7
10 47 24 S= &) 110 60.8 43.2| 97 82 3¢ N+2 46 150 741 29.9| 92 87 5vN-1 +¢Q -50 743 29.7
11 46 24 S=  +5 110 60.8 43.2(104 75 INS+2 &8 150 741 299109 70 24 S-1 »6 -50 743 297
16 41 24 S= 45 110 60.8 432 1 5 3¢ N+l v4 130 56.4 47.6| 8 51 5v N-2 &K -100 53.1 50.9
20 37 24 N= v4 110 60.8 43.2| 40 19 2¢ N+2 vJ 130 56.4 476 9 50 24 S-2 v2 -100 53.1 50.9
29 28 24 S= &) 110 60.8 43.2| 66 62 3¢ N+1 &3 130 56.4 47.6| 10 49 4v N-2 A -100 53.1 50.9
42 15 24 S= &) 110 60.8 43.2| 77 102 3¢ N+1 vJ 130 56.4 47.6( 14 45 4vy N-2 #8 -100 53.1 50.9
54 2 29 N= v7 110 60.8 43.2| 83 96 2¢ N+2 vJ 130 56.4 47.6| 15 44 4v N-2 +¢Q -100 53.1 50.9
63 110 24 S= 5 110 60.8 43.2| 90 89 2¢ N+2 T 130 56.4 47.6| 17 42 4v N-2 »4 -100 53.1 50.9
65 108 24 S=  &J 110 60.8 43.2| 92 87 2¢ N+2 T 130 56.4 47.6( 20 39 24 S-2 #A -100 53.1 50.9
89 84 24 S= 45 110 60.8 43.2| 93 86 2¢ N+2 vJ 130 56.4 47.6| 24 35 3vN-2 +¢Q -100 53.1 50.9
101 72 24 S= &5 110 60.8 43.2|101 78 2¢ N+2 &K 130 56.4 47.6| 32 27 24 N-2 +Q -100 53.1 50.9
107 66 24 S= %6 110 60.8 43.2(105 74 2¢ N+2 43 130 564 476| 53 6 24S-2 v2 -100 53.1 50.9
111 62 24 N= 5 110 60.8 43.2| 32 27 3¢ S= &2 110 399 64.1| 54 3 5vN-2 &K -100 53.1 50.9
7 50 2NO-1 &3 100 376 66.4| 53 6 3¢ N= vJ 110 399 64.1| 66 62 4v N-2 +¢Q -100 53.1 50.9
35 22 3#0-1 &3 100 37.6 66.4| 68 111 3¢ N= &3 110 39.9 64.1| 77 102 4y N-2 &K -100 53.1 50.9
40 17 INO-1 3 100 376 66.4| 91 88 3¢ S= v3 110 39.9 64.1| 95 84 4v S-2 K -100 53.1 50.9
80 93 32 0-1 o4 100 376 66.4| 99 80 2¢ N+1 vJ 110 39.9 64.1(107 72 4v N-2 &8 -100 53.1 50.9
104 69 INO-1 o4 100 376 66.4( 11 48 3v O-2 «K 100 332 70.8( 37 22 3#0=  &A -110 36.1 67.9
24 33 INN= &4 90 31.0 73.0( 12 47 2v O-1 &A 50 31.0 73.0| 26 33 34 O+1 &8 -130 28.7 75.3
95 78 1a S= 5 80 28.8 752| 14 45 3NS-1 v7 -100 244 796 67 61 3#V+l YA -130 28.7 75.3
19 38 INO= &4 90 255 785| 37 22 3NS-1 9 -100 244 79.6( 71108 3« V+1 +A -130 28.7 75.3
94 79 INO= ¢2 -90 255 785| 67 61 INN-1 v5 -100 244 79.6( 79 100 44 V= vA -130 28.7 75.3
8 49 24 S-1 5 -100 16.7 87.3| 71 108 4¢ N-1 &3 -100 244 796 97 82 3#V+1l YA -130 28.7 75.3
64 109 24 S-1  #J -100 16.7 87.3| 79 100 INN-1 v2 -100 244 79.6 (112 64 44 0= v7 -130 28.7 75.3
73 100 24 S-1 &) -100 16.7 87.3| 9 50 3NS-2 48 -200 134 906(| 7 52 4v N-3 +¢Q -150 13.8 90.2
74 99 34 S-1 5 -100 16.7 87.3| 10 49 3NS-2 46 -200 134 90.6( 21 38 24 S-3 +¢K -150 13.8 90.2
87 86 34 S-1 &) -100 16.7 87.3( 20 39 3NS-2 49 -200 134 90.6( 28 31 4v N-3 +¢Q -150 13.8 90.2
90 83 34 S-1 &) -100 16.7 87.3( 30 29 3NN-2 vJ -200 134 90.6( 41 18 34 N-3 A -150 13.8 90.2
52 5 3#V= 46 -110 6.7 97354 3 3NS-2 &Q -200 134 90.6| 43 16 24 S-3 +Q -150 13.8 90.2
76 97 3# 0= 43 -110 6.7 97328 31 3NN-3 v4 -300 341006 99 80 4#V+1l 45 -150 13.8 90.2
91 82 3#0= 43 -110 6.7 973| 41 18 3NN-3 v5 -300 3.4 100.6 (105 74 44 S-3 &3 -150 13.8 90.2
53 4 24 0+3 2 -150 231017 98 81 3NS-3 oA -300 3.4 100.6 (110 69 24 S-3 +¢K -150 13.8 90.2
112 61 34 S-2 5 -200 0.1 103.9 (107 72 3NS-3 48 -300 341006 1 5 34S-4 K -200 43 99.7
- 44 485 46 - 50.5 91 88 5¢DN-2 #4 -300 2.2 101.8
88 - 55.4 73 - 43.3 12 47 5vDN-4 +Q -800 0.1 103.9
- 67 579|194 - 47.5 46 - 50.5
23 34 A+/A- 624 416| 25 34 A+/A- 624 416| 73 - 43.3
36 21 A+/A- 624 416| 21 38 A-IA+ 416 624| 94 - 47.5
7 « EKNn73 8 # KKn983 9 «D4
Syd v 962 Vast v D105 Nord vE10
Alla ¢ E1098 Ingen ¢ K1096 ov ¢ EKD108754
+E6 *6 *3
« 9864 «105 a72 « D1054 4Knl03 49865
v 843 v EDKn107 vEK87 v9642 vKDKn3 87652
+6 ¢ Kn432 +D832 +Kn ¢ Kn3 4962
#K10932 #75 #EKn2 #9753 #9872 &5
« KD2 ~E6  EK72
vK5 vKn3 v 94
¢ KD75 ¢ E754 .-
#DKn84 #KD1084 #EKDKN1064
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
41 20 2vDO-3 «K 800 1039 0.1|31 30 3NN= v4 400 1029 11| 2 8 7NS= v6 1520 79.6 24.4
2 6 3NS+3 &2 690 1008 3.2| 76 101 3NN= ] 400 1029 11|11 52 7NN= ¢8 1520 79.6 24.4
8 53 3NS+3 &2 690 100.8 3.2| 70 107 INDV-2 &2 300 99.7 43| 16 47 TNN= &5 1520 79.6 24.4
3 5 3NS+2 &2 660 743 2971 27 34 le V-3 6 150 976 64| 17 46 TNN= v2 1520 79.6 24.4
12 49 3NS+2 &9 660 743 297 2 6 24 S+1 YA 140 944 96|23 40 7TNN= v2 1520 79.6 24.4
16 45 3NS+2 &8 660 743 29.7| 66 111 34 N=  v6 140 944 96| 27 36 7INS= vK 1520 79.6 24.4
21 40 3NS+2 &2 660 743 2971 8 53 3¢ N= v4 110 88.0 16.0| 30 33 7NS= vK 1520 79.6 24.4
22 39 3NS+2 43 660 743 29.7| 67 110 24 N= ¢ 110 88.0 16.0| 38 25 7NS= vK 1520 79.6 24.4
29 32 3NS+2 a4 660 743 29.7| 82 95 24 N=  ¢J 110 88.0 16.0| 39 24 7TNS= &9 1520 79.6 24.4
31 30 3NS+2 #3 660 743 2971 96 8l 3¢ N= v6 110 88.0 16.0| 42 21 7TNN= 48 1520 79.6 24.4
33 28 3NS+2 6 660 743 29.7| 41 20 3v V-2 6 100 81.7 223| 43 20 7TNS= vK 1520 79.6 24.4
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37 24 3NS+2 49 660 743 29.7| 44 17 3v V-2 %6 100 817 223| 48 15 7NN= v5 1520 79.6 24.4
38 23 3NS+2 43 660 743 29.7| 90 87 2# S= a7 90 785 25554 5 7NN-= v2 1520 79.6 24.4
42 19 3NS+2 43 660 743 29.7| 47 14 3v O-1 &A 50 76.4 276| 61 71 7TNN= v6 1520 79.6 24.4
47 14 3NS+2 &7 660 743 297 3 5 44 N-1 3 -50 615 425| 68 64 7TNS= vK 1520 79.6 24.4
54 4 3NS+2 &5 660 743 29.7| 10 51 3¢ N-1 ¢ -50 615 425| 69 63 7NS= vK 1520 79.6 24.4
65 61 3NN+2 ¢Q 660 743 29.7| 18 43 34 N-1 2 -50 615 425| 70 62 INS= vK 1520 79.6 24.4
70 107 3NS+2 %9 660 743 29.7| 21 40 24 N-1 ¢ -50 615 425| 79 104 7NN= v8 1520 79.6 24.4
76 101 3NS+2 %3 660 743 29.7| 22 39 24 N-1 ¢ -50 615 42592 91 7NS= vK 1520 79.6 24.4
96 81 3NS+2 %3 660 743 29.7| 26 35 3NN-1 v2 -50 615 425| 96 87 INS= vK 1520 79.6 24.4
98 79 3NS+2 &3 660 743 29.7| 37 24 24 N-1 v9 -50 615 425| 97 86 7NN= v8 1520 79.6 24.4
100 77 3NS+2 ¢3 660 743 29.7| 62 64 24 N-1 ¢ -50 615 425|107 76 7NN= v8 1520 79.6 24.4
103 74 3NS+2 &2 660 743 29.7| 78 99 34 N-1 ¢J -50 615 425|109 74 INS= vJ 1520 79.6 24.4
104 73 3NS+2 44 660 743 29.7| 97 80 2NS-1 +v8 -50 615 425|111 72 7NN= vK 1520 79.6 24.4
108 69 3NS+2 ¢3 660 743 29.7|100 77 24 N-1 ¢ 50 615 425| 9 1 7#S= vK 1440 50.9 53.1
109 68 3NS+2 &3 660 743 29.7]109 68 4¢ N-1 v4 -50 615 425| 28 35 7¢ N= +4 1440 50.9 53.1
1 7 3NS+1 «9 630 28.7 753|112 63 24 N-1 ¢ -50 615 425| 95 88 7¢ N= ¢2 1440 50.9 53.1
9 52 3NS+1 43 630 287 753| 1 7 3#S-2 a7 -100 29.7 743| 10 53 6NN+1 ¢6 1020 40.3 63.7
10 51 3NS+1 &3 630 28.7 753| 9 52 3NS-2 ©vA -100 29.7 743| 14 49 6NN+1 3 1020 40.3 63.7
11 50 3NS+1 &3 630 28.7 753| 11 50 34 S-2 ¢J -100 29.7 743| 22 41 6NS+1 3 1020 40.3 63.7
15 46 3NS+1 &3 630 28.7 753| 15 46 2NS-2 ©vA -100 29.7 743| 45 18 6NN+1 8 1020 40.3 63.7
26 35 3NS+1 3 630 28.7 753| 16 45 44 N-2 v5 -100 29.7 74365 67 6NS+1 ¢Q 1020 40.3 63.7
27 34 3NS+1 9 630 28.7 75329 32 44 N-2 2 -100 29.7 743| 93 90 6NN+1 48 1020 40.3 63.7
44 17 3NS+1 %3 630 28.7 753| 38 23 3NN-2 43 -100 29.7 743| 94 89 6NN+1 ¢8 1020 40.3 63.7
66 111 3NS+1 49 630 28.7 753| 42 19 3¢ N-2 v2 -100 29.7 743| 4 6 64 N+1 &6 940 244 79.6
67 110 3NS+1 &2 630 28.7 753| 65 61 2#S-2 ©vA -100 29.7 743| 19 44 6¢ N+1 ¢8 940 244 79.6
72 105 3NS+1 9 630 28.7 753| 72105 24 N-2 v4 -100 29.7 743| 34 29 64 S+1 ¢vK 940 244 79.6
75 102 3NS+1 %3 630 28.7 753| 89 88 3¢DN-1 v4 -100 29.7 74.3| 73 110 64 N+1 +8 940 244 79.6
82 95 3NS+1 &2 630 28.7 753|191 86 3NN-2 v4 -100 29.7 74.3| 81 102 64 N+1 ¢8 940 244 79.6
89 88 3NS+1 &2 630 28.7 753| 94 83 2NN-2 #4 -100 29.7 743|100 83 64 N+1 &4 940 244 79.6
90 87 3NS+1 %9 630 28.7 753| 98 79 24 N-2 v4 -100 29.7 743|101 82 64 N+1 ¢2 940 244 79.6
91 86 3NS+1 &2 630 28.7 753|103 74 3NN-2 v2 -100 29.7 743|112 66 6¢ N+1 &5 940 244 79.6
93 84 3NS+1 &3 630 28.7 753|104 73 3NS-2 2 -100 29.7 743| 12 51 3NN+4 ¢8 520 12.8 91.2
94 83 3NS+1 &T 630 28.7 753|108 69 3NS-2 a7 -100 29.7 743 26 37 3NN+4 ¢2 520 12.8 91.2
97 80 3NS+1 +8 630 28.7 753| 33 28 44 N-3 ¢ -150 85 955| 32 31 3NN+4 49 520 12.8 91.2
112 63 3NS+1 &2 630 287 753| 54 4 44 N-3 o4 -150 85 955| 3 7 5¢ N+2 &5 440 75 96.5
18 43 3NS= »2 600 43 99.7| 75102 3#S-3 ¢K -150 85 955| 99 84 54 S +2 vK 440 75 96.5
62 64 3NS= *9 600 43 99.7| 12 49 5¢DN-2 ¢J -300 3.2 100.8| 75 108 5¢ N= vA 400 43 99.7
78 99 3NS= &T 600 43 99.7| 25 36 34DN-2 ¢Q -300 3.2 100.8| 78 105 3# S+4 vK 190 2.2 101.8
25 36 3#S-= v3 110 0.1 103.9| 93 84 34DS-3 &7 -500 0.1 103.9|103 80 24 O+4 ¢¥K -230 0.1 103.9
- 48 60.4 - 48 60.4 - 50 55.3
922 - 62.7 92 - 62.7 - 98 57.4
- 71 44.9 - 71 44.9 - 77 59.6
10 53 11 874 12 «EDI10
Ost v 432 Syd v EKKn7 Vast v109
Alla ¢ 752 Ingen ¢ EK932 NS ¢ EKn10
#KD872 &8 #E8542
4 Kn982 # EK106 4 KKn653 # D92 47532 4K64
v E65 v9 v5 v 1083 vEKn63 v872
+ 106 + EKD84 + 8754 ¢+ Kn ¢ K863 ¢ D9542
#E1063 #Kn95 *432 #EDKN1076 *6 #K10
« D74 «E10 4« Kn98
v KDKn1087 v D9642 v KD54
¢ Kn93 + D106 *7
&4 K95 #DKn973
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
73110 74 V-2 94 200 1039 01| 3 9 6vS= *2 980 955 85| 14 51 3NN= *4 600 976 6.4
43 20 64 O-1 K 100 100.8 3.2| 15 50 6v S= »2 980 955 85|15 50 3NN-= *4 600 97.6 6.4
111 72 34 O-1 K 100 1008 3.2| 28 37 6v S= v4 980 955 85|20 45 3NN= *4 600 976 6.4
14 49 34 O+1 vK -170 976 64| 29 36 6v S= 2 980 955 85|39 26 3NN-= 2 600 976 6.4
79 104 34 O+2 vK 200 955 85|33 32 6v S= &4 980 955 85|84 97 3NN-= *3 600 97.6 6.4
103 80 24 O+4 ¢2 -230 933 10.7| 54 6 6v S= »5 980 955 85|91 90 3NN= v7 600 976 6.4
3 7 3NV= v2 -600 85.9 18.1|108 73 6¥ S= v5 980 955 85100 81 3NN-= *4 600 976 6.4
26 37 3NO= v2 -600 859 181|110 71 6v S= »3 980 955 85( 99 82 2NN+1 +4 150 89.1 14.9
27 36 3NV= v2 -600 859 18.1|111 70 6v N= *2 980 955 85|35 30 44S= +5 130 859 18.1
92 91 3NV= v4 -600 859 18.1| 20 45 4v S+3 ¢3 510 849 19.1| 43 22 44 S= +6 130 859 18.1
99 84 3NO= v4 600 85.9 181| 5 7 44DO-3 v2 500 817 223| 44 21 INN+1 2 120 79.6 24.4
107 76 3NV = v2 -600 859 18.1| 11 1 44DV-3 YA 500 817 223| 64 66 2NN-= *4 120 79.6 24.4
4 6 44 O= vK -620 743 29.7| 10 2 4v S+2 &2 480 446 59.4( 77 104 INN+1 2 120 79.6 24.4
10 53 44 O= &2 -620 743 29.7| 12 53 4v S+2 45 480 446 59.4| 95 86 2NN= *2 120 79.6 24.4
11 52 44 O= vK -620 743 29.7| 14 51 4v S+2 &K 480 446 594 (10 2 2vDV-1 +A 100 73.2 30.8
17 46 4e V= v2 -620 743 29.7| 18 47 4v N+2 &2 480 446 59.4( 67 63 2v V —2 vT 100 73.2 30.8
54 5 44 O= vK -620 743 29.7| 23 42 4v S+2 &2 480 446 594 (93 88 2¢V-1 vT 50 70.0 34.0
78 105 3NV +1 ¢2 -630 67.9 36.1| 24 41 4v S+2 &2 480 446 594 3 9 24 N-1 &2 -100 46.7 57.3
12 51 44 O+1 ¢¥K -650 46.7 57.3| 27 38 4v S+2 &2 480 446 594 4 8 2NN-1 +8 -100 46.7 57.3
16 47 44 V+1 92 -650 46.7 57.3| 31 34 4v S+2 &2 480 446 594| 5 7 5#4N-1 v8 -100 46.7 57.3
19 44 44 O+1 vK -650 46.7 57.3| 35 30 4v N+2 &A 480 446 594 (11 1 2NN-1 2 -100 46.7 57.3
30 33 44 O+1 v4 -650 46.7 57.3| 39 26 4v S+2 +8 480 446 59.4( 12 53 3NN-1 ¢9 -100 46.7 57.3
34 29 44 O+1 v¥K -650 46.7 57.3| 40 25 4v S+2 &5 480 446 59.4| 17 48 3NN-1 2 -100 46.7 57.3
39 24 44 O+1 4 -650 46.7 57.3| 43 22 4v S+2 45 480 446 59.4( 18 47 3NN-1 v2 -100 46.7 57.3
45 18 44 O+1 vQ -650 46.7 57.3| 44 21 4v S+2 &4 480 446 59.4( 23 42 54 S-1 43 -100 46.7 57.3
48 15 44 O+1 ¢K -650 46.7 57.3| 46 19 4v S+2 &4 480 446 59.4| 28 37 3NN-1 2 -100 46.7 57.3
61 71 44 O+1 ¢K -650 46.7 57.3| 64 66 5v S+1 &2 480 446 59.4( 29 36 3NN-1 ¢2 -100 46.7 57.3
65 67 44 O+1 ¢K -650 46.7 57.3| 67 63 4v S+2 43 480 446 59.4( 31 34 3NN-1 7 -100 46.7 57.3
68 64 44 O+1 v¥K -650 46.7 57.3| 68 62 5v S+1 43 480 446 59.4| 68 62 3NN-1 ¢4 -100 46.7 57.3
69 63 44 O+1 ¢K -650 46.7 57.3| 69 61 4y N+2 ¢ 480 446 594 72109 3NN-1 ¢4 -100 46.7 57.3
75108 44 O+1 ¢3 -650 46.7 57.3| 72 109 4v S+2 &2 480 446 59.4| 74 107 3NN-1 &4 -100 46.7 57.3
81 102 44 O+1 ¢Q -650 46.7 57.3| 74 107 4v S+2 43 480 446 59.4| 80101 3NN-1 ¢4 -100 46.7 57.3
93 90 44 V+1 ¥3 -650 46.7 57.3| 77 104 4v S+2 &3 480 446 59.4( 94 87 2NN-1 ¢2 -100 46.7 57.3
94 89 44 O+1 &4 -650 46.7 57.3| 80 101 4v S+2 ¢4 480 446 59.4( 98 83 3NN-1 ¢2 -100 46.7 57.3
96 87 44 O+1 ¢vK -650 46.7 57.3| 84 97 5v N+1 43 480 446 59.41102 79 3NN-1 5 -100 46.7 57.3
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109 74 44 V+1 92 -650 46.7 57.3| 91 90 4v S+2 &4 480 446 59.4(108 73 3NN-1 ¢4 -100 46.7 57.3
112 66 44 O+1 &4 -650 46.7 57.3| 92 89 4v S+2 &4 480 446 59.4(110 71 3NN-1 ¢4 -100 46.7 57.3
2 8 3NV+2 6 -660 255 785| 93 88 4v S+2 &2 480 446 594|111 70 3NN-1 ¢2 -100 46.7 57.3
9 1 464 O+2 #4 -680 149 89.1| 94 87 4v S+2 +8 480 446 59.4( 24 41 3NN-2 ¢5 -200 149 89.1
22 41 44 O+2 9K -680 149 89.1| 95 86 4v S+2 45 480 446 59.4( 33 32 3NN-2 ¢8 -200 149 89.1
23 40 44 V+2 w4 -680 149 89.1| 98 83 4v S+2 #4 480 446 59.4| 40 25 3NN-2 2 -200 149 89.1
28 35 44 V+2 &K -680 149 89.1| 99 82 4v S+2 &4 480 446 59.4( 46 19 3NN-2 ¢8 -200 149 89.1
32 31 44 O+2 v4 -680 149 89.1|100 81 5v S+1 &4 480 446 59.4( 49 16 1v S-2 45 -200 149 89.1
70 62 44 O+2 vK -680 149 89.1|105 76 4y S+2 &4 480 446 594|54 6 3NN-2 v8 -200 149 89.1
97 86 44 V+2 v2 -680 149 89.1(112 65 4v S+2 +8 480 446 59.4( 69 61 2v S-2 45 -200 149 89.1
100 83 44 V+2 43 -680 149 89.1|102 79 5v S= 46 450 85 95592 89 3NN-2 ¢4 -200 149 89.1
101 82 44 V+2 w2 -680 149 89.1| 4 8 44DV-2 +A 300 54 98.6|112 65 3NN-2 +4 -200 149 89.1
42 21 3vDS-3 T -800 43 99.7| 49 16 54DV-2 ¢K 300 54 986 27 38 3NN-3 ¢2 -300 2.2 101.8
38 25 4vDS-4 &A -1100 1.1 1029 17 48 44 V-1 +A 50 2.2 101.8| 78 103 3NN-3 ¢4 -300 2.2 101.8
95 88 4vDS-4 T -1100 1.1 1029| 78 103 3« O= +Q -110 0.1 1039|105 76 3NN-3 ¢2 -300 2.2 101.8
- 50 55.3 - 52 59.5 - 52 59.5
- 98 574 96 - 57.0 9% - 57.0
- 77 59.6 - 75 34.6 - 75 34.6
13 & Kn7 14 « Kn975 15 « D9762
Nord v EKn1075 Ost v E1093 Syd v 10653
Alla + D6 Ingen .- NS + KD
#E653 £109874 £106
46532 4 EK108 «D8 4103 4543 4 Knl0
vKD864 v2 v K654 vKn vEKKn974 ¢8
¢+ E9 410852 ¢ E972 ¢ KD1043 ¢+E + Kn98752
#K8 #DKn42 #Kn32 #EKD65 £984 #E753
« D94 » EK642 « EK8
v93 v D872 vD2
¢ KKn743 ¢ Kn865 ¢ 10643
#1097 »- &#KDKn2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 8 44 0-2 v9 200 1029 11| 30 37 54DO-4 &A 800 1039 0.1 22 47 4¢DO-2 &K 300 101.8 2.2
98 89 24 O-2 ¥9 200 1029 11| 25 42 44DS+1 #2 690 101.8 22| 33 36 3vyDV-2 &T 300 101.8 2.2
63 73 2v N= s A 110 99.7 43|29 38 54DS= &2 650 99.7 43| 48 21 3vyDV-2 ¢K 300 1018 2.2
4 10 3NV-1 *T 100 89.1 149| 5 9 44aDS= +A 590 976 64| 69 65 34 N= v8 140 93.3 10.7
36 31 44 V-1 ¢Q 100 89.1 149 18 49 44 S= &J 420 944 96| 70 64 24 N+1 v8 140 93.3 10.7
47 20 44 V-1 ¢Q 100 89.1 149| 34 33 44 N= *A 420 944 96| 71 63 34 N= v8 140 93.3 10.7
54 7 2¢ O-1 ¥5 100 89.1 149| 54 7 54DO-2 4A 300 91.2 128|102 83 24 N+1 8 140 93.3 10.7
72 64 24 O-1 v9 100 89.1 149 44 23 44 0-5 &A 250 89.1 149|107 78 24 N+1 +v8 140 93.3 10.7
77 110 44 O-1 v9 100 89.1 149|109 78 34 S+3 +¢A 230 870 170| 15 1 24 S= v8 110 75.3 28.7
103 84 3NV-1 & 100 89.1 149| 24 43 54 0-4 &A 200 83.8 20.2| 19 50 24 N= v8 110 75.3 28.7
109 78 34 O-1 v9 100 89.1 149| 32 35 540-4 &A 200 83.8 20.2| 29 40 24 N= v8 110 75.3 28.7
112 68 44 O-1 v9 100 89.1 149| 6 8 5¢ 0-2 &A 100 60.5 435| 30 39 24 N= v6 110 75.3 28.7
50 17 INS= a2 90 785 255| 11 3 5¢ O-2 &A 100 60.5 435| 31 38 24 N= v8 110 75.3 28.7
30 37 1v N= oK 80 753 287| 16 51 5¢ O-2 &K 100 60.5 435| 45 24 24 N= v8 110 75.3 28.7
44 23 1v N= s K 80 753 28.7| 40 27 5¢ O-2 aA 100 605 435| 54 8 2vN= v8 110 75.3 28.7
18 49 2v N-1 &K -100 65.8 38.2| 41 26 54 0-2 &A 100 60.5 435| 61 73 24 N= v8 110 75.3 28.7
21 46 2v N-1 &A -100 65.8 38.2| 45 22 5¢ O-2 &K 100 60.5 435| 66 68 24 N= v8 110 75.3 28.7
25 42 INS-1 &2 -100 65.8 38.2| 47 20 5¢ O-2 &A 100 60.5 435| 74 111 24 N= v8 110 75.3 28.7
34 33 INS-1 +8 -100 65.8 38.2| 50 17 5¢ V-2 &7 100 60.5 43.5| 80 105 24 N= v8 110 75.3 28.7
75 61 1v N-1 &A -100 65.8 38.2| 67 69 54 0-2 &K 100 60.5 435| 93 92 24 N= v8 110 75.3 28.7
97 90 2v N-1 &A -100 65.8 38.2| 70 66 5¢ O-2 &A 100 60.5 435| 42 27 3¢ O-2 &K 100 59.4 44.6
105 82 INS-1 42 -100 65.8 38.2| 72 64 5¢ O-2 &A 100 605 43562 72 3v V-2 &T 100 59.4 44.6
5 9 24V= *+Q -110 499 54.1| 77 110 5¢ O-2 4A 100 60.5 435( 8 99 3v V-2 K 100 59.4 44.6
16 51 1a V+1 &3 -110 499 54.1| 83104 5¢ O-2 &A 100 605 435| 35 34 INS= vA 90 55.2 48.8
24 43 24 V= +Q -110 499 54.1| 87 100 5¢ O-2 &A 100 605 43514 2 2¢ V-1 &T 50 48.8 55.2
40 27 24 V= *+Q -110 499 541| 95 92 5¢ O-2 4A 100 60.5 435| 37 32 2v V-1 ¢K 50 48.8 55.2
70 66 1a V+1 %3 -110 499 541| 96 91 5¢ O-2 &A 100 605 435| 95 90 4v V-1 +¢K 50 48.8 55.2
96 91 24 V= +Q -110 499 541|101 86 5¢ O-2 &A 100 60.5 435| 97 88 3v O-1 #A 50 48.8 55.2
108 79 24 O= v9 -110 499 541|103 84 64 O-2 &K 100 60.5 435(104 81 3¢ O-1 &K 50 48.8 55.2
111 76 24 O= ¢Q -110 499 541|111 76 5¢ O-2 &A 100 605 435 7 9 34 N-1 8 -100 30.8 73.2
11 3 24 O+1 v9 -140 34.0 70.0|112 68 5¢ O-2 &A 100 605 435| 12 4 34 N-1 8 -100 30.8 73.2
12 2 14 O+2 3 -140 34.0 70.0| 14 53 5¢ O-1 &A 50 276 76.4| 16 53 34 N-1 v4 -100 30.8 73.2
15 52 34 O= 3 -140 34.0 70.0| 19 48 4¢ O-1 &A 50 276 76.4| 20 49 34 N-1 3 -100 30.8 73.2
28 39 24 V+1 & -140 34.0 70.0| 36 31 4¢ O-1 &A 50 276 76.4| 51 18 34 N-1 8 -100 30.8 73.2
45 22 24 O+1 v9 -140 340 70.0| 62 74 4¢ O-1 &A 50 276 76.4| 76 109 34 N-1 v8 -100 30.8 73.2
80 107 24 V+1 ¢Q -140 34.0 700| 63 73 3NV-1 &7 50 276 76.4| 82103 34 S-1 vK -100 30.8 73.2
87 100 34 V= v9 -140 34.0 70.0| 71 65 5¢ O-1 &A 50 276 76.4| 96 89 34 N-1 8 -100 30.8 73.2
62 74 24 O+2 v9 -170 244 796| 75 61 5¢ O-1 &A 50 276 76.4| 98 87 34 N-1 v8 -100 30.8 73.2
95 92 34 O+1 ¥9 -170 244 79.6| 94 93 4¢ O-1 &K 50 276 764|101 84 34 N-1 8 -100 30.8 73.2
14 53 1v N-2 &A -200 16.0 88.0| 97 90 4¢ O-1 &A 50 276 764|108 77 34 N-1 8 -100 30.8 73.2
29 38 2v N-2 ¢3 200 16.0 88.0| 98 89 4¢ O-1 &A 50 276 76.4|112 67 34 N-1 +v8 -100 30.8 73.2
32 35 1v N-2 &A -200 16.0 88.0(|105 82 44 O-1 &A 50 276 764| 5 11 44 N-2 ©vA -200 9.6 944
41 26 1vDN-1 v2 -200 16.0 88.0| 28 39 54 S-2 ¢A -100 149 89.1| 6 10 44 N-2 ¢8 -200 9.6 944
83 104 INS-2 a2 200 16.0 88.0| 4 10 3¢ O= &A -110  11.7 92.3| 17 52 2NS-2 YA -200 9.6 944
99 88 INDS-1 43 -200 16.0 88.0| 12 2 3¢ O= &A -110 117 923| 25 44 44 N-2 v8 -200 9.6 944
71 65 2NS-3 46 -300 85 955| 21 46 4¢ V= vA -130 75 96.5( 26 43 44 N-2 92 -200 9.6 944
101 86 44 O= v9 -620 6.4 976( 99 88 3¢ O+1 &K -130 75 96.5| 41 28 44 S-2 vA -200 9.6 944
19 48 24D N-3 #A -800 2.2 101.8 | 80 107 4¢ O+1 A -150 43 99.7| 46 23 44 S-2 +A -200 9.6 944
67 69 2¢vDN-3 ¢2 -800 2.2 101.8 (108 79 54DS-2 &2 -300 2.2 101.8 (110 75 44 N-2 ¢8 -200 9.6 944
94 93 3vDN-3 4K -800 2.2101.8| 15 52 3NV= &7 -400 0.1 103.9| 94 91 4v S-4 & -400 0.1 103.9
-1 59.6 -1 59.6 - 3 61.7
81 - 54.7 81 - 54.7 79 - 63.4
102 - 61.3 102 - 61.3 100 - 51.9
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16 « 107 17 « D103 18 a4
Vast v Kn754 Nord vES532 Ost v 854
ov ¢ ED94 Ingen ¢ E642 NS ¢ DKn842
#KKn3 64 10863
4Kn9542 K3 4 KKn954 «E76 4 Kn875 4D9632
vD v E10832 v- v Kn98 v 62 v DKn97
¢ K653 ¢ 102 ¢ KDKn5 ¢ 987 ¢ 953 ¢+E
*E64 #D1085 #10982  #KDKn7 #ED42 #Kn95
«ED86 « 82 « EK10
v K96 vKD10764 v EK103
¢ Kn87 +103 ¢ K1076
£972 #E53 *K7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
107 78 3NO-5 #8 500 1039 0.1|31 40 3vyDN+1 v8 630 1040 0.0| 97 94 3NS+2 &2 660 1029 1.1
26 43 24 V-3 v¥5 300 98.6 54| 47 24 4v S= ¢K 420 1008 3.2(101 90 3NS+2 &5 660 1029 1.1
31 38 24 V-3 v5 300 986 5469 71 4vS= a4 420 1008 3.2| 30 41 3NN+1 5 630 99.8 4.2
101 84 24 V-3 v2 300 98.6 54|16 2 44DV-2 vA 300 96.7 7.3| 89102 3NS= &2 600 97.7 6.3
108 77 22 0-3 &7 300 98.6 54|52 19 44DV-2 vK 300 96.7 73|65 75 2NS+3 &2 210 95.6 8.4
6 10 2NV-2 &J 200 87.0 17.0| 46 25 3v N+1 &K 170 925 115( 20 51 2NS+2 3 180 93.6 10.4
12 4 29v0-2 o7 200 87.0 17.0| 65 75 2v N+2 46 170 925 115 8 10 2NS+1 +3 150 83.2 20.8
25 44 24DV-1 v7 200 87.0 17.0( 77 63 44 V-3 YA 150 89.4 146| 15 3 2v V-3 &4 150 83.2 20.8
29 40 14 O-2 &3 200 87.0 17.0( 18 53 3vS=  ¢K 140 84.2 19.8| 27 44 INS+2 &2 150 83.2 20.8
35 34 2NV-2 +6 200 87.0 17.0| 43 28 3v S=  ¢7 140 842 19.8| 31 40 2NS+1 &7 150 83.2 20.8
61 73 2NV-2 ¢4 200 87.0 17.0| 62 78 2v N+1 #J 140 842 19.8| 34 37 2NS+1 &7 150 83.2 20.8
76 109 24 O-2 &2 200 87.0 17.0( 99 92 3v S=  ¢K 140 842 19.8( 52 19 2NS+1 5 150 83.2 20.8
45 24 INN+2 3 150 785 255|114 4 5#0-2 vK 100 759 281|154 9 INS+2 v6 150 83.2 20.8
7 9 2NN= v2 120 67.9 36.1| 20 51 44DO-1 ¢3 100 75.9 28.1| 64 76 2NS+1 a7 150 83.2 20.8
16 53 INS+1 &2 120 679 36.1( 89 102 34 V-2 ©vA 100 759 28.1| 96 95 2NS+1 a7 150 83.2 20.8
19 50 INN+1 vJ 120 67.9 36.1| 96 95 44DV-1 YA 100 75.9 2811 49 22 3¢ N+1 &2 130 69.7 34.3
30 39 INN+1 &5 120 67.9 36.1| 30 41 54 O-1 YA 50 69.7 343| 72 68 4¢ N= v6 130 69.7 34.3
42 27 INN+1 92 120 679 36.1( 34 37 54 V-1 ©vA 50 69.7 343| 79 61 3¢ N+1 vQ 130 69.7 34.3
46 23 INN+1 3 120 67.9 36.1|111 80 4v N-1 +¢K -50 66.5 375|103 88 3¢ N+1 46 130 69.7 34.3
82 103 2NS=  +4 120 67.9 36.1| 21 50 4vDN-1 &K -100 624 416( 6 12 2NS= a7 120 53.0 51.0
102 83 INN+1 w2 120 67.9 36.1| 27 44 4vyDS-1 ¢K -100 624 416( 7 11 2NS= &7 120 53.0 51.0
110 75 INS+1 8 120 67.9 36.1|105 86 4vDS-1 ¢K -100 624 416( 14 4 INS+1 o7 120 53.0 51.0
14 2 24 V-1 v4 100 541 499| 6 12 34 0= YA -140 55.1 489 23 48 2NS= 45 120 53.0 51.0
22 47 24 V-1 T 100 541 49936 35 34V=  vA -140 55.1 489 32 39 INS+1 &7 120 53.0 51.0
37 32 320-1 oA 100 541 499|544 9 34V= YA -140 551 489( 69 71 INS+1 45 120 53.0 51.0
95 90 32 0-1 4A 100 541 499 73 67 34 V= vA -140 551 489 77 63 2NS=  ¢3 120 53.0 51.0
5 11 INN= 48 90 456 58.4| 8 10 34 V+l ©vA -170 426 61.4| 98 93 2NS= 45 120 53.0 51.0
54 8 INN= v2 90 456 58.4| 26 45 34 V+1 ©vA -170 426 614 99 92 2NS= 45 120 53.0 51.0
94 91 INN= v2 90 456 58.4| 38 33 34 V+l ©vA -170 426 61.4(104 87 2NS= &7 120 53.0 51.0
96 89 INN= &5 90 456 58.4| 97 94 34 V+1l ©vA -170 426 61.4(105 86 2NS= &7 120 53.0 51.0
20 49 Pass 255 785(100 91 34 V+1 +A -170 426 614112 70 2NS= &7 120 53.0 51.0
48 21 Pass 255 785101 90 34 V+1 YA -170 426 614 43 28 3¢ N= vQ 110 395 64.5
51 18 Pass 255 785103 88 34 V+1 YA -170 426 614 21 50 44DO-1 ¢K 100 34.3 69.7
62 72 Pass 255 785110 81 34 V+1 YA -170 426 614 46 25 34DO-1 vA 100 343 69.7
66 68 Pass 255 785| 7 11 5vDN-2 &K -300 333 70.7( 73 67 44DV-1 ¢Q 100 343 69.7
69 65 Pass 255 785( 15 3 4eV= YA -420 156 88.4 (110 81 44DO-1 vK 100 343 69.7
70 64 Pass 255 785( 17 1 44 0= YA -420 156 88.4( 16 2 4¢ N-1 &2 -100 229 81.1
71 63 Pass 255 785 23 48 44 V= YA -420 156 88.4( 18 53 5¢ N-1 &5 -100 229 81.1
74 111 Pass 255 785( 32 39 4eV= YA -420 156 88.4( 38 33 5¢ N-1 46 -100 229 81.1
80 105 Pass 255 785| 42 29 44 O= vK -420 156 88.4| 47 24 3NS-1 45 -100 229 81.1
86 99 Pass 255 785( 49 22 44 V= YA -420 156 88.4( 62 78 5¢ N-1 &3 -100 229 81.1
93 92 Pass 255 785( 64 76 44 V= YA -420 156 88.4( 82 109 3NS-1 &7 -100 229 811
97 88 Pass 255 785( 72 68 44 V= +A -420 156 88.4 (107 84 5¢ N-1 &3 -100 229 81.1
98 87 Pass 255 785| 74 66 44 V= YA -420 156 884 17 1 24 O+1 YA -140 115 925
112 67 Pass 255 785( 79 61 44 V= vA -420 156 88.4( 26 45 34 O= YA -140 115 925
15 1 2NN-1 v2 -50 6.4 97.6| 82109 44 V= YA -420 156 88.4( 74 66 24 V+1 v8 -140 115 925
17 52 2NS-1 &4 -50 6.4 976| 83 108 44 O= vK -420 156 88.4(100 91 24 O+1 YA -140 115 925
41 28 INS-1 42 -50 6.4 976 98 93 4e V= vA -420 156 884 36 35 34DO= YA -530 3.2 100.8
33 36 24 V= &7 -110 1.1 1029|104 87 44 V= &6 -420 156 88.4 | 42 29 34DO= YA -530 3.2 100.8
104 81 24 V= T -110 1.1 1029|107 84 44 V= ¥3 -420 156 88.4| 83 108 34aDO= YA -530 3.2 100.8
- 3 61.7 (112 70 44 V= YA -420 156 88.4 (111 80 34DO= YA -530 3.2 100.8
79 - 63.4 - 5 560 - 5 56.0
100 - 51.9 - - - -
19 4 D53 20 4 Kn72 21 « K743
Syd v KKn8 Vast v Kn542 Nord v Kn62
oV ¢ 642 Alla ¢ 9742 NS ¢ KKn102
#K1063 #62 #63
4EKN762 4984 «E10984 #K653 4E102 4DKn96
vE105 v 964 vE v 9863 vK984 vED75
¢ KKn8 ¢+ E103 + K10 4 Kn63 ¢+ 94 +53
»84 #9752 #EKDKn9 105 #ED74 #Knl05
« K10 D 485
vD732 v KD107 v 103
¢ D975 ¢ ED85 + ED876
#EDKn #8743 #K982
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 12 3NS= a2 400 1039 01|28 45 44 N+1 vQ 650 1039 0.1]| 34 41 2¢DS= v8 180 1039 0.1
44 29 34 V-2 &3 200 1018 22|61 77 4ANV-2 v2 200 1018 22|36 39 2¢ S= ¢4 90 100.7 33
14 6 INS+2 &2 150 83.8 202| 8 12 64 V-1 o7 100 955 85|79 65 INS= v2 90 100.7 3.3
16 4 INN+2 &4 150 83.8 20.2| 21 52 64 V-1 &2 100 955 8518 4 2NO-1 7 50 96.3 7.7
18 2 2NN+1 &2 150 83.8 20.2| 44 29 64 V-1 &2 100 955 85107 88 2NO-1 +6 50 96.3 7.7
19 1 INN+2 o4 150 83.8 20.2| 88 101 64 V-1 6 100 955 85| 32 43 Pass 93.1 10.9
22 51 2NS+1 46 150 83.8 20.2/109 80 64 O-1 ¢4 100 955 85100 95 INO=  +¢5 -90 909 13.1
27 46 INS+2 46 150 83.8 202| 63 75 2 V+2 v4 -130 89.1 14.9( 49 26 3v V= T -140 88.8 15.2
43 30 INS+2 7 150 83.8 20.2| 50 23 24 V+3 ¢4 -200 87.0 17.0( 1 21 3vV+1l T -170  61.7 423
47 26 INS+2 &2 150 83.8 20.2| 82 107 1la V+5 &6 230 849 191 10 12 3v V+1 &6 -170  61.7 423
48 25 INN+2 3 150 83.8 20.2| 22 51 44 V= ¢4 -620 82.7 213[ 16 6 2v O+2 &5 -170  61.7 423
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54 10 INS+2 42 150 83.8 20.2| 9 11 44 O+1 vK -650 605 435| 20 2 2vO0+2 ¢3 -170  61.7 423
61 77 INS+2 &3 150 838 20.2| 16 4 44 V+1 7 -650 605 435| 22 53 3v V+l &6 -170 61.7 423
81 108 INS+2 46 150 83.8 20.2| 18 2 4aV+l 2 -650 605 435| 25 50 2v O+2 +A -170 61.7 423
82 107 2NS+1 42 150 83.8 20.2| 27 46 44 O+1 vK -650 60.5 435| 33 42 2v V+2 &6 -170  61.7 423
96 93 INS+2 46 150 83.8 20.2| 43 30 44 V+1 5 -650 605 435| 38 37 2v O+2 48 -170 61.7 423
98 91 2N S+1 &2 150 83.8 20.2| 47 26 44 V+1 &6 -650 605 435| 40 35 2v O+2 &8 -170 61.7 423
109 80 INN+2 &7 150 83.8 20.2| 48 25 44 V+1 46 -650 60.5 435| 44 31 2vV+2 ¢ -170  61.7 423
31 42 29 S+l 42 140 63.7 40.3| 53 20 44 O+1 vK -650 60.5 435| 54 11 3v O+1 &8 -170 61.7 423
53 20 2v S+1 &2 140 63.7 40.3| 54 10 44 V+1 ¢4 -650 605 435| 61 83 14 O+3 46 -170 61.7 423
95 94 2v S+1 48 140 63.7 40.3| 64 74 4e V41 o7 -650 605 435| 64 80 3v O+1 45 -170  61.7 423
24 49 INN+1 49 120 55.2 48.8| 73 65 54 V= *6 -650 60.5 435| 66 78 3v V+1 #6 -170 61.7 423
33 40 INS+1 42 120 552 488| 76 62 44 V+1 v4 -650 605 435| 67 77 2v O+2 45 -170 61.7 423
39 34 2NS= a7 120 55.2 48.8| 81 108 44 V+1 &2 -650 605 435| 71 73 3v O+1 +A -170 61.7 423
71 67 2NS= 46 120 552 48.8| 95 94 44 V+1 &6 -650 60.5 435( 74 70 3v V+1 %6 -170 61.7 423
102 87 INS+1 45 120 552 48.8| 96 93 44 V+1 ¢4 -650 605 435| 81 63 3v O+1 +A -170 61.7 423
32 41 2v S= v5 110 47.8 56.2( 97 92 44 V+1 ¢4 -650 60.5 435| 91104 3v O+1 ¥2 -170 61.7 423
73 65 2v S= v5 110 47.8 56.2 (100 89 44 V+1 &6 -650 60.5 435| 99 96 3v V+1 %6 -170 61.7 423
37 36 24 V-1 &6 100 446 59.4 (102 87 44 V+1 92 -650 605 435(101 94 3v O+1 48 -170 61.7 423
21 52 INN= 49 90 414 62.6 (103 86 44 V+1 ¢3 -650 60.5 435(102 93 2v O+2 48 -170 61.7 423
88 101 INN= 49 90 414 62.6 (112 69 44 V+1 &6 -650 60.5 43.5(103 92 2v O+2 &8 -170 61.7 423
28 45 3NS-1 46 50 329 711|114 6 44 V+2 42 -680 234 80.6(112 72 2v O+2 48 -170 61.7 423
50 23 INN-1 49 50 329 71115 5 44 V+2 ¢2 -680 234 806| 8 14 3v V+2 &6 -200 26.0 78.0
63 75 3NS-1 42 50 329 711|119 1 44 VH+2 7 -680 234 806| 15 7 3vV+2 &6 -200 26.0 78.0
72 66 INN-1 43 50 329 711| 24 49 44 V+2 w2 -680 234 806| 23 52 1v O+4 48 -200 26.0 78.0
84 105 3NS-1 43 50 329 71.1| 31 42 44 V+2 ¢4 -680 234 80.6| 29 46 2v O+3 ¢2 -200 26.0 78.0
97 92 INN-1 49 50 329 71.1| 35 38 44 V+2 &6 -680 234 80.6| 48 27 2v O+3 &7 -200 26.0 78.0
15 5 34S-2 #4 -100 19.1 84.9| 37 36 44 O+2 ¢K -680 234 806| 76 68 3v V+2 &6 -200 26.0 78.0
35 38 INN-2 44 -100 19.1 84.9| 39 34 4e V+2 92 -680 234 80.6| 84 111 2v O+3 &3 -200 26.0 78.0
64 74 3¢ S-2 42 -100 19.1 84.9| 68 70 44 O+2 ¢K -680 234 80.6| 87 108 2v V+3 &6 -200 26.0 78.0
68 70 INN-2 49 -100 19.1 84.9| 71 67 44 V+2 v4 -680 234 80.6(105 90 2v V+3 v2 -200 26.0 78.0
76 62 INN-2 48 -100 19.1 849| 72 66 44 V+2 o7 -680 234 806| 17 5 4vO= v3 -420 7.7 96.3
78 111 INN-2 49 -100  19.1 84.9| 78 111 44 V+2 94 -680 234 80.6( 19 3 4v V= *6 -420 7.7 96.3
99 90 INN-2 49 -100 19.1 84.9| 98 91 44 V+2 94 -680 234 80.6| 28 47 4v O= v3 -420 7.7 96.3
17 3 24 V= v8 -110 75 96.5( 99 90 44 V+2 &6 -680 234 80.6| 45 30 4v 0= &2 -420 7.7 96.3
103 86 24 V= *2 -110 75 96.5(110 79 44 V+2 94 -680 234 80.6( 51 24 4v O= A -420 7.7 96.3
110 79 24 O= 46 -110 75 965( 17 3 44 V+3 &2 -710 6.4 976( 75 69 4y O= &2 -420 7.7 96.3
112 69 24 V= v8 -110 75 96.5| 32 41 64 V= *6 -1430 2.2 101.8( 98 97 4y O= 48 -420 7.7 96.3
9 11 24DV= 46 -670 1.1 1029 33 40 64 V= +4 -1430 2.2 101.8 (109 86 4v V= *T -420 7.7 96.3
100 89 24DO= ¢7 -670 1.1 1029 | 84 105 64 O= ¢4 -1430 221018 9 - 47.2
7 - 52.8 7 - 52.8 - 110 47.8
104 - 46.6 104 - 46.6 - 89 63.7
- 83 49.2 - 83 49.2| 62 82 A-/A+ 416 624
22 LY 23 #1053 24 « KD876
Ost vDKn75 Syd v KKn52 Vast v-
ov +42 Alla * K2 Ingen ¢+ D754
#KKn7652 #10542 £K854
4109754 & DKn86 4 EK82 &D74 4 EKN942 453
v3 v 1086 vE43 v10976 vE974 v KDKn1032
¢ K10963 ¢ EKn7 4873  + DKnl106 ¢ E3 4962
#ED #1043 D98 #K3 #103 «D9
« EK3 4« Kn96 410
v EK942 vD8 v 865
+ D85 ¢ E954 + KKn108
98 &#EKN76 &#EKN762
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
29 46 5¢vDS= ¢2 650 102.8 12| 26 51 3¢ O-2 ¢vQ 200 102.8 12| 2 22 4#DS+1 #6 610 1039 0.1
48 27 5vDS= &T 650 102.8 12|49 28 2NO-2 &6 200 1028 12|17 7 5#DN= a5 550 100.7 3.3
1 21 3NS+3 49 490 996 44|17 7 2¢0-1 vQ 100 88.8 152| 41 36 54DS= vA 550 100.7 3.3
10 12 4v S+2 &T 480 909 131|121 3 264V-1 +¢K 100 88.8 15.2| 83 110 4vDO-2 45 300 974 6.6
16 6 4v S+2 o4 480 909 131|123 1 2v0-1 #A 100 888 152| 9 15 5vV-2 &5 100 89.9 14.1
28 47 4v S+2 a4 480 909 13.1| 29 48 2¢ O-1 3 100 88.8 152 26 51 5v O0-2 T 100 89.9 141
54 11 4v S+2 42 480 909 13.1| 39 38 24 V-1 +¢K 100 88.8 152 34 43 5v V-2 &5 100 89.9 14.1
66 78 4v S+2 &A 480 90.9 13.1| 41 36 2NV-1 #4 100 88.8 152| 97 96 4v V-2 5 100 89.9 14.1
67 77 4v S+2 &4 480 909 13.1| 45 32 INV-1 &5 100 88.8 152| 98 95 5v V-2 &5 100 89.9 14.1
100 95 5v S+1 &6 480 90.9 13.1| 90 103 24 V-1 43 100 88.8 152|100 93 4v V-2 5 100 89.9 14.1
8 14 4v S+1 T 450 69.3 347| 99 94 24 V-1 +¢K 100 88.8 15.2| 10 14 4v V-1 &5 50 60.7 43.3
15 7 4v S+1 a7 450 69.3 34.7|105 88 2¢ O-1 +vQ 100 88.8 152 16 8 4v V-1 &4 50 60.7 43.3
20 2 4vS+1 v3 450 69.3 34.7|112 71 1la V-1 #4 100 88.8 152 18 6 4v V-1 &4 50 60.7 43.3
22 53 4v S+1 44 450 69.3 347 2 22 INS= oK 90 671 36921 3 4v V-1 ¢4 50 60.7 43.3
36 39 4v S+1 44 450 69.3 34.7| 10 14 INS= 3 90 671 36923 1 3vV-1 &4 50 60.7 43.3
40 35 4v S+1 &T 450 69.3 34716 8 INS= s A 90 67.1 36.9| 30 47 4v V-1 43 50 60.7 43.3
49 26 4v S+1 T 450 69.3 34.7| 50 27 INS= s A 90 67.1 369| 37 40 4v V-1 &5 50 60.7 43.3
61 83 4v S+1 &5 450 69.3 347| 66 76 INS= s A 90 67.1 369| 45 32 4v V-1 5 50 60.7 43.3
8l 63 4y N+1 v6 450 69.3 34.7| 98 95 INN= v8 90 67.1 369| 46 31 3vV-1 5 50 60.7 43.3
87 108 4v S+1 T 450 69.3 34.7 (100 93 INS= a2 90 67.1 369| 50 27 4v V-1 &5 50 60.7 43.3
91 104 4v S+1 v3 450 69.3 34.7 (102 91 2#S= s K 90 67.1 369| 54 12 4v V-1 5 50 60.7 43.3
102 93 4y S+1 &T 450 69.3 34.7 (111 82 INN= s K 90 67.1 369| 61 81 4v V-1 &4 50 60.7 43.3
112 72 4v S+1 &7 450 69.3 347| 30 47 1l¢ O= vQ -70 56.3 47.7| 73 69 4v V-1 &4 50 60.7 43.3
18 4 4v S= +3 420 46.6 574 34 43 INO= 46 -90 54.2 49.8| 86 107 4v V-1 +¢6 50 60.7 43.3
23 52 4v S= aT 420 46.6 574 9 15 INS-1 A -100 46.6 57.4| 90 103 4v V-1 &5 50 60.7 43.3
32 43 4v S= aT 420 46.6 574|120 4 INS-1 A -100 46.6 57.4| 99 94 4v O-1 &T 50 60.7 43.3
79 65 4v S= *2 420 46.6 57.4( 33 44 INN-1 T -100 46.6 57.4(102 91 4v V-1 &4 50 60.7 43.3
99 96 4v S= aT 420 46.6 57.4| 46 31 INS-1 A -100 46.6 57.4|104 89 4v O-1 &T 50 60.7 43.3
101 94 4v S= +6 420 46.6 57452 25 INS-1 oK -100 46.6 57.4|105 88 4v V-1 &5 50 60.7 43.3
103 92 4v S= oT 420 46.6 574 70 72 INS-1 &A -100 46.6 57.4|111 82 4v O-1 &T 50 60.7 43.3
107 88 4v S= +3 420 46.6 57.4| 35 42 24 V= + K -110 379 66.1(112 71 3v O-1 &T 50 60.7 43.3
105 90 INS+5 &2 240 369 67.1| 74 68 24 V= *2 -110 379 66.1| 35 42 INO+1 &6 -120 35.8 68.2
109 86 44DV-1 vQ 200 347 693| 18 6 INO+1l %6 -120 26.0 78.0| 78 64 INO+1 T -120 35.8 68.2
38 37 3#N+3 &3 170 314 726| 24 53 INO+1 ¢4 -120 26.0 78.0| 19 5 3v 0= &A -140 26.0 78.0
71 73 3v S+l +6 170 314 726| 37 40 INO+1 +vQ -120 260 780 20 4 3v O= ¢5 -140 26.0 78.0
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98 97 INS= 2 90 28.2 758 54 12 INO+1 &5 -120 26.0 78.0| 29 48 2v O+1 ¥9 -140 26.0 78.0
17 5 4vS-1 3 50 228 812|163 79 INO+1 ¢Q 120 26.0 78.0| 33 44 2v V+1 45 -140 26.0 78.0
33 42 4v N-1 ¢9 50 228 81.2| 78 64 INO+1 vQ -120 26.0 78.0| 52 25 3v V= aT -140 26.0 78.0
64 80 4v S-1 o7 -50 228 81.2| 84 109 INO+1 3 -120 26.0 78.0| 63 79 3v O= &T -140 26.0 78.0
74 70 4v N-1 &7 -50 22.8 81.2| 86 107 INV+1 &4 -120 26.0 78.0( 70 72 3v O= 4T -140 26.0 78.0
19 3 59 S-2 o7 -100 12.0 92.0(|104 89 INO+1 ¥Q -120 26.0 78.0| 84 109 4 O+1 v6 -150 17.4 86.6
25 50 4¢vDS-1 o7 -100 12.0 920| 61 81 INO+2 ¢4 -150 13.1 90.9| 39 38 3v V+l &K -170  12.0 92.0
45 30 5v S-2 46 -100 12.0 92.0| 83 110 INO+2 &7 -150 13.1 90.9| 65 77 2v V+2 &K -170  12.0 92.0
51 24 4vS-2 46 -100 12.0 92.0|101 92 INO+2 +4 -150 131 909| 66 76 3v V+1 &5 -170  12.0 92.0
76 68 4v S-2 o7 -100 12.0 920| 19 5 3#S-2 &A -200 6.6 97.4(101 92 3v O+1 T -170  12.0 92.0
84 111 4v S-2 4T -100 12.0 920| 75 67 3#S-2 &K -200 6.6 97.4| 74 68 3v O+2 &T -200 6.6 97.4
75 69 24 V+1 ¢2 -140 44 99.6| 97 96 INS-2 +8 -200 6.6 974 24 53 4v V= 4Q -420 2.2 101.8
44 31 44DV = &2 -790 221018 65 77 INS-3 *3 -300 121028 49 28 4v O= &A -420 2.2 101.8
34 41 6¢6DN-5 3 -1100 0.1 103.9| 73 69 INS-3 &A -300 1.2 1028 | 75 67 4v V= 46 -420 2.2 101.8
9 - 47.2 11 - 56.4 11 - 56.4
- 110 47.8 - 87 48.8 - 87 48.8
- 89 63.7 (108 - 57.8 108 - 57.8
62 82 A-/A+ 416 624| 80 62 A+/A- 624 416| 80 62 A+/A- 624 41.6
25 « D53 26  K1097654 27 4432
Nord vE5 Ost v- Syd vK4
ov ¢+ D7 Alla ¢ Kn852 Ingen ¢ 102
#K106543 *Kn4 #Kn87532
& EKKN1096 472 .- 4 Kn83 4 EKN108 & D76
v K10964 v732 v EDKn1092 vK864 v 109 v E87653
+8 + E1092 ¢ K104 +76 + D765 ¢ E84
&E +D872 #8532 *K976 *ED4 +10
484 4 ED2 » K95
v DKn8 v 753 v DKn2
¢ KKn6543 ¢+ ED93 ¢ KKn93
&Kn9 #ED10 K96
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
68 80 5v O-3 &J 300 1039 01|10 16 64 N= v2 1430 100.8 3.2| 11 17 44 V-1 T 50 99.7 43
20 6 54DO-1 ¢3 200 99.7 43| 27 52 64 N= v4 1430 100.8 3.2| 22 6 44V-1 43 50 99.7 43
46 33 5v V-2 &4 200 99.7 43| 86 62 64 N= v4 1430 100.8 3.2| 62 84 4e V-1 &T 50 99.7 43
103 96 3NO-2 #J 200 99.7 4.3|109 90 64 N= v6 1430 100.8 32| 68 78 3v O-1 &5 50 99.7 43
3 23 44 V-1 &4 100 933 10.7| 3 23 44 N+2 v4 680 541 49.9| 92 105 44 V-1 vK 50 99.7 43
51 28 44 O-1 +¢Q 100 933 10.7| 11 15 44 N+2 v4 680 541 499| 67 79 2¢ O+1 49 -110 933 10.7
66 82 44 V-1 ¢Q 100 933 10.7| 17 9 54 N+1 6 680 541 499|102 95 2NV = »5 -120 91.2 12.8
73 75 2vV+1 +Q -140 870 17.0| 18 8 44 N+2 +v6 680 541 499| 31 50 3e V= vK -140 87.0 17.0
102 97 3v V= *4 -140 87.0 17.0| 19 7 44 N+2 v4 680 541 499| 36 45 34 V= T -140 87.0 17.0
105 94 34 V= +Q -140 87.0 17.0| 20 6 44 N+2 43 680 541 499| 72 74 3vO= %6 -140 87.0 17.0
10 16 34 V+1 ¢Q -170 753 28721 5 44 N+2 v6 680 541 499| 75 71 3v O+l 3 -170 81.7 22.3
11 15 34 V+1 &5 -170 753 28.7| 22 4 44 N+2 v6 680 541 499|107 90 2v O+2 &5 -170  81.7 223
38 41 3vV+l +Q -170 753 28.7| 24 2 44 N+2 v 680 541 499| 20 8 2v O+3 %6 -200 69.0 35.0
47 32 34 V+1 ¢Q 170 753 287 25 1 44 S+2 &3 680 541 499| 28 53 3v O+2 &2 -200  69.0 35.0
77 71 24 V+2 +Q -170 753 28.7| 34 45 44 S+2 YA 680 541 49.9| 32 49 3v O+2 #9 -200 69.0 35.0
109 90 34 V+1 &6 -170 753 28.7| 35 44 44 N+2 ¢5 680 541 499| 35 46 3#N-4 ©vA -200 69.0 35.0
111 88 34 O+1 +Q -170 753 28.7| 36 43 44 N+2 v6 680 54.1 49.9| 37 44 2v O+3 9 -200  69.0 35.0
112 74 3v V+1 4 -170 753 28.7| 38 41 44 N+2 v6 680 541 499| 41 40 2vy O+3 vJ -200  69.0 35.0
78 70 54 N-4 &7 -200 64.7 39.3| 40 39 44 N+2 ¥6 680 541 49.9| 51 30 2v O+3 &K -200 69.0 35.0
8l 67 3vV+2 ¢Q -200 64.7 39.3| 42 37 44 N+2 v6 680 541 499| 80 66 2v O+3 %6 -200  69.0 35.0
18 8 5¢DS-2 &A -300 605 435| 46 33 44 N+2 ¢6 680 541 49.9| 99 98 2v O+3 #6 -200  69.0 35.0
89 110 44DN-2 47 -300 60.5 435| 47 32 44 S+2 YA 680 541 499|110 87 3v O+2 9 -200 69.0 35.0
17 9 4¢DS-3 #A -500 56.2 47.8| 50 29 44 N+2 v6 680 54.1 499| 18 10 3NO= 2 -400 55.2 4838
24 2 54DS-3 &K -500 56.2 47.8| 51 28 54 N+1 ¢5 680 541 499|126 2 3NV= *2 -400 55.2 48.8
12 14 4v V= +Q -620 35.0 69.0| 53 26 44 N+2 ¢6 680 541 499 39 42 3NV= 3 -400 55.2 48.8
19 7 4e V= *+Q -620 350 69.0| 64 84 54 N+1 ¥6 680 541 499| 1 27 4v O= &6 -420 39.3 64.7
22 4 44 0= ¢Q -620 35.0 69.0| 66 82 44 N+2 ¢K 680 541 499 4 24 4vO= o7 -420 393 64.7
25 1 4e V= vA -620 35.0 69.0| 68 80 44 N+2 o7 680 541 499 12 16 44 V= *T -420 39.3 64.7
27 52 4vy O= #] -620 35.0 69.0| 69 79 44 N+2 ©vA 680 541 499| 21 7 4vO= 49 -420 39.3 64.7
30 49 44 O= & -620 35.0 69.0| 73 75 44 N+2 v4 680 541 499| 48 33 4v O= &5 -420 393 64.7
35 44 44 V= 3 -620 35.0 69.0| 77 71 44 N+2 v6 680 541 499| 54 14 4v O= 9 -420 39.3 64.7
36 43 4v O= &J -620 35.0 69.0| 81 67 44 N+2 ¢¥K 680 541 499| 63 83 4v O= ¢9 -420 39.3 64.7
40 39 4a V= +Q -620 35.0 69.0| 83 65 44 N+2 ¢K 680 541 499| 65 81 4v O= a5 -420 393 64.7
42 37 44 V= *4 -620 35.0 69.0| 87 61 54 N+1 ¢K 680 541 49.9| 82 64 4v O= a5 -420 39.3 64.7
64 84 44 V= *+Q -620 35.0 69.0| 89 110 44 S+2 &3 680 541 49.9| 86 111 4v O= vQ -420 393 64.7
76 72 4v V= +Q -620 35.0 69.0(100 99 44 N+2 ¢4 680 541 49.9| 88 109 4e V= T -420 393 64.7
86 62 44 V= *4 -620 35.0 69.0 (101 98 44 N+2 ¢5 680 541 499|103 94 4v O= &2 -420  39.3 64.7
87 61 4v V= +Q -620 35.0 69.0|102 97 44 N+2 ¢8 680 541 49919 9 3NV+1 T -430 244 79.6
100 99 44 V= +Q -620 35.0 69.0(103 96 44 N+2 ¢3 680 541 499 47 34 3NV+1 T -430 244 79.6
101 98 4v O= &J -620 35.0 69.0(104 95 44 N+2 ¢4 680 541 49923 5 44 V+1 T -450 12.8 91.2
104 95 4e V= vA -620 35.0 69.0(105 94 44 N+2 ©vA 680 541 49925 3 4e V+1 T -450 12.8 91.2
107 92 4v O= &J -620 35.0 69.0(108 91 44 N+2 ¥6 680 541 499| 43 38 4v O+1 2 -450 128 91.2
21 5 4vV+1 ¢Q -650 9.6 94.4(111 88 44 N+2 ¥6 680 541 49.9| 52 29 4v O+1 3 -450 12.8 91.2
31 48 4v O+1 &J -650 9.6 944112 74 44 N+2 92 680 541 499| 77 69 4y O+1 &K -450 12.8 91.2
50 29 4v V+1l +Q -650 9.6 944 12 14 44 N+1 ¥3 650 85 955|101 96 44 V+1 T -450 128 91.2
53 26 4v V+1 +Q -650 9.6 944 78 70 44 N+1 ¢6 650 85 955|104 93 4v O+1 &6 -450 12.8 91.2
69 79 5v V= +Q -650 9.6 94.4(107 92 44 N+1 #2 650 85 955|108 89 4v V+1 &5 -450 12.8 91.2
108 91 4v V+1 +¢Q -650 9.6 944 31 48 5vDV-2 49 500 3.2 100.8|112 73 4v O+1 &6 -450 128 91.2
34 45 5¢DS-4 #K -800 221018 76 72 4vyDV-2 ¢5 500 3.2 100.8 |100 97 4vD O +1 #8 -690 2.2 101.8
83 65 5vDV= ¢Q -850 0.1 103.9| 30 49 44S-4 ©vA -400 0.1 103.9| 76 70 INDS-4 &T -800 0.1 103.9
54 - 59.4 54 - 59.4 - 15 46.0
63 - 55.0 63 - 55.0 - 61 64.9
93 - 51.8 93 - 51.8 - 91 56.0
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28 « KD102 29 #1087 30 «D8
Vast v Kn42 Nord v D952 Ost v K107
NS ¢1042 Alla ¢ E10 Ingen ¢ K1073
#953 #EDA43 #6532
4543  4E98 4 ED94 4Kn63 4 E53 497642
vED98 vK10653 vE4 v K6 v EKNn96543 v8
+75 + E86 + D86 + KKn9732 2 + EKn6
#K742 #D8 #K1087 %62 *K8 *E1074
4 Kn76 &« K52 4« KKn10
v7 vKn10873 vD2
¢ KDKn93 +54 + D9854
#EKn106 #Kn95 #DKn9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
21 7 5¢vDO-2 ¢K 300 1039 01|27 3 34V-2 ¥5 200 1029 11|54 15 3v S= 2Q 140 1039 0.1
68 78 4v O-2 +¢K 100 1018 22104 99 34 O-2 v7 200 1029 11|32 51 3NO-2 3 100 986 54
12 16 4v V-1 +Q 50 965 75| 5 25 3vN= +K 140 99.7 43|36 47 6vy O-2 #Q 100 98.6 5.4
18 10 4v O-1 K 50 965 75|62 90 2v N= 43 110 976 64|52 31 3NO-2 5 100 986 5.4
22 6 4v O-1 K 50 965 75|36 47 3NV-1 v2 100 93.3 10.7| 89 63 4v V-2 &6 100 986 5.4
86 111 4v O-1 +¢K 50 965 75|42 41 3NV-1 v2 100 93.3 10.7| 12 18 4v O-1 4Q 50 89.1 14.9
48 33 4¢ N-1 YA -100 912 128| 78 74 34 V-1 ¢Q 100 93.3 10.7| 19 11 4v V-1 «4Q 50 89.1 14.9
35 46 INV+1 oK -120  89.1 149|102 101 1v S= +Q 80 89.1 149|129 1 4v0O-1 2 50 89.1 14.9
1 27 3»0O= +K -140 605 435( 2 28 4¢ S-1 vJ -100  84.9 19.1(102 101 4v V-1 3 50 89.1 14.9
4 24 3vO0= +K -140 605 435| 54 15 3v S-1 ¢4 -100 849 19.1(105 98 4v V-1 &3 50 89.1 14.9
11 17 3v 0= +¢K -140 60.5 43.5(103 100 3v S-1 +3 -100 849 191| 2 28 34 0= +¢6 -140 615 425
20 8 3vO= v3 -140 605 43526 4 3¢ O= vJ -110 785 255 5 25 3v V= .7 -140 615 425
23 5 3v 0= ¢K -140 605 435| 40 43 3¢ O= vJ -110 785 255| 20 10 3v O= &Q -140 615 425
26 2 29 O+1 +¢K -140 605 435| 71 81 3¢ O= vJ -110 785 25521 9 2vV+1l &2 -140 615 425
31 50 3vO= ¢K -140 605 435 12 18 4¢ V= vJ] -130 70.0 34.0( 22 8 3v V= 3 -140 615 425
32 49 3v0O= +¢K -140 605 435| 49 34 3¢ O+1 vJ -130 70.0 340| 26 4 3v V= 2Q -140 615 425
36 45 34 O= ¢K -140 605 435( 70 82 3¢ O+1 vJ -130 70.0 34.0( 49 34 3v V= *7 -140 615 425
37 44 3v 0= ¢K -140 605 435( 80 72 3¢ O+1 vJ -130 70.0 340| 53 30 3v O= &T -140 615 425
39 42 3v 0= +¢K -140 605 435(110 93 4¢ O= ¢3 -130 70.0 340| 62 90 2v V+1 ¢3 -140 615 425
41 40 3v 0= ¢K -140 605 435( 89 63 24 V+1 2 -140 63.7 403| 66 86 2vV+l @7 -140 615 425
47 34 3v 0= ¢K -140 605 435( 23 7 3¢ O+2 vJ -150 57.3 46.7( 70 82 2y V+1 4Q -140 615 425
54 14 3v 0= +¢K -140 605 435| 32 51 2¢ V+3 ¢2 -150 57.3 46.7| 79 73 3v V= *2 -140 615 425
62 84 2v O+1 +¢K -140 605 435| 37 46 3¢ O+2 vJ -150 57.3 46.7| 80 72 3v V= +3 -140 615 425
67 79 3vO= ¢Q -140 605 435| 66 86 4¢ O+1 vJ -150 57.3 46.7| 83 69 2v V+1 4Q -140 615 425
75 71 2v O+1 K -140 605 435| 79 73 3¢ O+2 vJ -150 57.3 46.7| 88 64 34 O= &Q -140 615 425
76 70 3y O= K -140 605 435| 14 16 INV+3 &3 -180 499 54.1|103 100 3v V= *7 -140 615 425
77 69 3v O= K -140 60.5 435(107 96 2NV +2 5 -180 49.9 54.1(104 99 3v V= v7 -140 615 425
88 109 3v O= +¢K -140 605 435| 19 11 3vS-2 YA -200 414 62.6|107 96 2v V+1 &Q -140 615 425
92 105 3y O= K -140 605 43522 8 3vS-2 ©vA -200 414 62.6 (109 94 2v V+1 #4 -140 615 425
101 96 2v O+1 +¢K -140 605 435|124 6 3vN-2 3 -200 414 62.6 (110 93 3vy O= v3 -140 615 425
102 95 3v O= +¢K -140 605 435| 38 45 3vS-2 ¢7 -200 414 626|112 76 3v V= *7 -140 615 425
103 94 3v 0= +K -140 605 435|838 64 3v N-2 & -200 414 62.6| 48 35 3¢ S-3 YA -150 38.2 65.8
107 90 2v O+1 ¢K -140 605 435( 91 61 3vy N-2 46 -200 414 626( 24 6 2vV+2 3 -170 329 711
110 87 2v O+1 +K -140 605 435|229 1 3NO= v5 -600 319 721| 38 45 3v O+1 ¢7 -170 329 711
25 3 3vV+l +¢K -170 234 806| 44 39 3NV= v2 -600 319 721| 78 74 3vV+l ¢K -170 329 711
28 53 3v O+1 K -170 23.4 80.6| 95108 3NV = v5 -600 319 721| 91 61 29 V+2 7 -170 329 711
43 38 3v O+1 3 -170 234 806|251 9 3NV+l ¢4 -630 21.3 82.7| 33 50 3¢DS-2 vA -300 26.6 77.4
52 29 3v O+1 +¢K -170 234 80.6| 48 35 3NV+1l &3 -630 21.3 827|111 92 3NN-6 ¢8 -300 26.6 77.4
63 83 3v O+1 K -170 234 80.6| 53 30 3NV+1l &6 -630 21.3 82.7| 14 16 4v V= +3 -420 17.0 87.0
65 81 3v O+1 K -170 234 806| 75 77 3NO+1 ¢3 -630 213 827| 23 7 44 0= 45 -420 17.0 87.0
82 64 3v O+l +K -170 234 80.6( 83 69 3NV+1l 5 -630 21.3 82.7| 42 41 4v V= *2 -420 17.0 87.0
104 93 3v O+1 +¢K -170 234 80.6(105 98 3NO+1 ¥3 -630 21.3 82.7| 44 39 4v V= +3 -420 17.0 87.0
108 89 3v V+1 ¢K -170 234 80.6|112 76 3NO+1 vJ -630 21.3 82.7| 65 87 4v V= + K -420 17.0 87.0
19 9 44 S-2 45 -200  10.7 93.3(109 94 44 V+1 ¥5 -650 12.8 91.2| 68 84 44 O= 45 -420 17.0 87.0
100 97 3v O+2 +K -200 10.7 93.3| 33 50 3NV+2 ¢5 -660 6.4 976 95108 44 O= ¢Q -420 17.0 87.0
112 73 3v O+2 +¢K -200  10.7 93.3| 52 31 3NV+2 ¢2 -660 6.4 976| 37 46 44 O+1 ¢vQ -450 54 98.6
51 30 4v V= s K -420 54 98.6| 65 87 3NV+2 &T -660 6.4 976 40 43 44 O+1 ¢3 -450 5.4 98.6
80 66 4v O= K -420 54 98.6| 68 84 3NV+2 v5 -660 6.4 976 71 81 44 O+1 ¢5 -450 54 98.6
72 74 4v O+1 K -450 1.1 1029 (111 92 3NO+2 ¢2 -660 6.4 976 75 77 44 O+1 45 -450 54 98.6
99 98 4v O+1 K -450 1.1 1029 20 10 3NO+3 T -690 0.1 103.9| 27 3 4vDO= ¢7 -590 0.1 103.9
- 15 46.0 - 17 43.7 - 17 43.7
- 61 64.9 - 67 57.9 - 67 57.9
- 91 56.0 - 97 57.0 - 97 57.0
31 « ED9 32 « E98 33 # 10862
Syd v 9762 Vast vD73 Nord v 942
NS ¢ 1097543 oV ¢ E82 Ingen ¢ K1032
»- #EDKnN8 84
4 853 & K1062 & K765  DKn104 4 Kn9754 43
vEDKn5 ¢K83 vKn1096 vEK vE5 vD103
¢+ KD62 ¢ Kn8 ¢ Kn7 410953 ¢ 9654 + EDS8
+D9 #7632 #K109 #743 #K10 #EDKnN765
4 Kn74 32 « EKD
v 104 v 8542 v KKn876
¢+E + KD64 ¢ Kn7
#EKKN10854 #652 %932
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
20 12 44DO-5 43 1100 1039 01|77 73 2NN+1 «Q 150 1039 01| 81 75 5#4DO-3 4K 500 1039 0.1
33 52 34DO-4 ¢+A 800 101.8 22| 14 18 3« N+1 ¢K 130 1018 22| 34 53 440-1 «Q 50 976 6.4
34 51 4ANN= a2 630 986 54| 1 31 INN+1 «Q 120 64.7 39.3| 38 49 24 V-1 v2 50 976 6.4
77 73 BNN+1 a2 630 986 54| 3 29 2NN= +Q 120 64.7 39.3| 42 45 3NV-1 v2 50 976 6.4
15 17 34DV -3 v6 500 955 85| 6 26 INN+1 #Q 120 64.7 39.3|108 99 34 O-1 4A 50 976 6.4
21 11 34 O-5 #K 250 923 11.7| 15 17 INN+1 &2 120 64.7 39.3|112 78 34 0O-1 &A 50 976 6.4
53 32 34 0-5 +A 250 923 11.7| 20 12 INN+1 3 120 64.7 393| 2 32 3vS-1 K -50 89.1 14.9
94 107 34 O-4 &K 200 88.0 16.0| 21 11 INN+1 &Q 120 64.7 393|128 6 2vS-1 K -50 89.1 14.9
109 92 34 O-4 ¥3 200 88.0 16.0| 25 7 INN+1 4Q 120 64.7 39.3|107 100 2v S-1 &K -50 89.1 14.9
14 18 24 O-3 #A 150 817 223|128 4 INN+1 «Q 120 64.7 39.3| 16 18 2v S-2 a5 -100 849 19.1
70 80 24 O-3 &A 150 817 223| 34 51 INN+1 #Q 120 64.7 39.3| 35 52 24 O+1 &A -110 721 319
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78 72 34 O-3 #A 150 81.7 223| 37 48 INN+1 «Q 120 64.7 39.3| 44 43 34 0= 4Q -110 721 319
105 96 24 O-3 <A 150 817 223| 38 47 INN+1 «Q 120 64.7 39.3| 46 41 34 0= #2 -110 721 319
1 31 3#S+1 43 130 488 552| 39 46 INN+1 «Q 120 64.7 39.3| 50 37 34 0= &2 -110 721 319
6 26 3#S+1 43 130 488 55.2| 41 44 INN+1 «Q 120 64.7 39.3| 54 17 24 0+1 &A -110 721 319
22 10 3#S+1 &3 130 48.8 55.2| 43 42 INN+1 «Q 120 64.7 393 61 95 34 0= 4A -110 721 319
24 8 3#S+l1 43 130 488 55.2| 45 40 INN+1 «Q 120 64.7 39.3| 62 94 34 0= &A -110 721 319
25 7 3#S+1 a5 130 48.8 552|149 36 INN+1 «Q 120 64.7 39.3| 64 92 3¢ V= v4 -110 721 319
28 4 34N+1 a3 130 488 55.2| 50 35 INN+1 «Q 120 64.7 39.3| 67 89 3# 0= #3 -110 721 319
30 2 3&#N+1 3 130 488 552| 53 32 INN+1 «Q 120 64.7 39.3| 73 83 24 V= v9 -110 721 319
38 47 3#S+1 48 130 48.8 552| 54 16 INN+1 &) 120 64.7 393 80 76 24 O+1 &A -110 721 319
39 46 3#S+1 a2 130 48.8 552| 61 89 2NN= &) 120 64.7 393| 7 27 3#0+1 +¢J -130 50.9 53.1
41 44 34 S+l 48 130 488 552| 64 86 INN+1 «Q 120 64.7 39.3| 15 19 44 0= &A -130 50.9 53.1
43 42 3#S+1 46 130 488 55.2| 67 83 INN+1 «Q 120 64.7 39.3| 82 74 44 0= 4K -130 50.9 53.1
45 40 3#S+1 &3 130 488 55.2| 70 80 INN+1 «Q 120 64.7 39.3| 87 69 3#0+1 +¢J -130 50.9 53.1
49 36 3#S+1 a5 130 488 55279 71 INN+1 «Q 120 64.7 39.3| 90 66 3 O+1 ¢3 -130 50.9 53.1
50 35 3#S+1 a3 130 488 55.2| 82 68 INN+1 «Q 120 64.7 39.3| 93 63 34 O+1 &A -130 50.9 53.1
54 16 3#S+1 a5 130 48.8 552| 84 66 INN+1 48 120 64.7 39.3| 97 110 24 O+2 &A -130 50.9 53.1
67 83 3#S+1 48 130 488 552|838 62 INN+1 «Q 120 64.7 39.3|105 102 34 O+1 &2 -130 50.9 53.1
69 81 3#S+1 a5 130 48.8 55.2|101 100 INN+1 «Q 120 64.7 39.3 (111 96 24 O+2 &A -130 50.9 53.1
74 76 24 S+2 43 130 48.8 55.2|102 99 INN+1 «Q 120 64.7 393 1 33 440+1 &A -150 329 711
82 68 3#S+1 ¢K 130 48.8 552|105 96 INN+1 «Q 120 64.7 39.3| 14 20 44 0+1 4Q -150 329 711
84 66 3#S+1 49 130 48.8 552|108 93 2NN= & 120 64.7 39.3| 22 12 34 0+2 &A -150 329 711
87 63 2#S+2 49 130 48.8 55.2|109 92 INN+1 «Q 120 647 393| 25 9 3#0+2 4K -150 329 711
101 100 3#S+1 &5 130 48.8 552|110 91 INN+1 «Q 120 64.7 39326 8 3#0+2 &A -150 329 711
102 99 3#S+1 a5 130 48.8 552|112 75 INN+1 &8 120 64.7 39.3| 68 88 34 O+2 &A -150 329 711
103 98 3#S+1 &3 130 48.8 552| 22 10 14 N+2 ©vA 110 266 77.4| 91 65 2NO+1 &K -150 329 711
104 97 44 S= 43 130 488 552| 69 81 3« N= vA 110 26.6 77.4|104 103 24 O+3 &K -150 329 711
110 91 34 S+1 48 130 48.8 55227 5 24 0-1 +¢K 100 223 81.7| 4 30 3NV= *4 -400 149 89.1
112 75 3#S+1 2 130 48.8 552| 30 2 34 0-1 a5 100 223 81.7| 24 10 3NV= 2 -400 149 89.1
37 48 3#S=  ¢K 110 191 849( 23 9 INN-1 «Q 50 10.7 933|129 5 3NO= &2 -400 149 89.1
3 29 3vV-2 3 100 170 87.0( 24 8 INN-1 «Q -50 107 933|31 3 3NO= K -400 149 89.1
23 9 2¢ N= v3 90 138 902 74 76 INN-1 ¢3 50 10.7 93.3| 39 48 3NO= &A -400 149 89.1
108 93 2¢ N= v8 90 13.8 902 78 72 INN-1 «Q -50 10.7 93.3| 51 36 3NV= *2 -400 149 89.1
27 5 29 V-1 7 50 96 94487 63 3NN-1 «Q -50 10.7 933| 70 8 3NO= +J -400 149 89.1
61 89 2v O0-1 A 50 9.6 944 90 111 INN-1 «Q -50 10.7 933| 72 84 3NV= v4 -400 149 89.1
90 111 3¢ N-1 2 -100 6.4 976 94 107 INN-1 4Q 50 10.7 933| 77 79 3NV= v2 -400 149 89.1
64 86 3¢ N-2 46 -200 43 99.7(103 98 INN-1 &3 -50 107 93.3| 23 11 3NO+1 v7 -430 3.2 100.8
88 62 3¢ N-3 v2 -300 221018104 97 INN-1 «Q -50 10.7 93.3| 40 47 3NO+1 oA -430 3.2 100.8
79 71 5¢ N-4 v3 -400 0.1 103.9| 33 52 24 O= v8 -110 0.1 103.9 (109 98 34D O= «A -470 0.1 103.9
- 19 50.9 - 19 50921 - 45.7
65 - 44.0 65 - 44.0 - 71 44.9
- 95 44.5 - 95 44.5 - 101 43.1
34 « EK106 35 « D10653 36 « D83
Ost v K83 Syd vKn7 Vast v K97
NS ¢+ ED63 ov ¢ DKn3 Alla ¢ ED72
#Kn6 *Kn74 #Kn108
#542 «D3 4EK974  o- 49764 & KKn5
vE10964 vKn752 v109632 vED84 v 10653 vEDKn84
¢ 987 ¢ Kn104 ¢ 1098 ¢ K7652 +54 +98
«107 #ED92 *- #E963 #ED3  #762
# Kn987 « Kn82 «E102
vD v K5 v2
¢ K52 ¢E4 ¢ KKn1063
#K8543 #KD10852 K954
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 27 5vDO-5 47 1100 1039 01(32 4 34V-3 &4 300 1039 01|79 75 3¢ N+1 v5 130 1028 1.2
39 48 44 S+1  &T 650 965 75|15 21 6vO-2 &K 200 996 44|81 73 3¢ N+1 &6 130 1028 1.2
42 45 44 S+1 &7 650 965 75|39 50 3NO-2 &K 200 996 44|30 6 3¢ S= v4 110 95.3 8.7
68 88 44 S+1 &T 650 96.5 75112 77 5¢ O-2 &K 200 99.6 44|61 93 3¢ N=  ¢5 110 95.3 8.7
77 79 44 N+1 o4 650 965 75|79 75 24 S= T 110 942 98| 71 83 3¢ N= ¢9 110 953 8.7
8l 75 44 S+1 &7 650 965 75[ 92 62 24 S+1 &A 110 942 9.8| 89 65 3¢ S= v3 110 95.3 8.7
107 100 44 N+1 +J 650 965 75| 3 33 4v0-1 K 100 812 22.8| 92 62 3¢ N= +¢9 110 95.3 8.7
111 96 3NN+1 «Q 630 89.1 149| 8 28 4v V-1 &5 100 812 228| 51 38 3v O-1 +¢K 100 88.8 15.2
1 33 44 N= ¢9 620 63.7 40.3| 26 10 4v O-1 &K 100 812 228| 3 33 INN= vJ 90 86.6 17.4
14 20 44 N= ¢ 620 63.7 403| 36 53 5vV-1 &4 100 812 228| 8 28 4¢ N-1 +¢9 -100 67.1 36.9
22 12 44 S= 9 620 63.7 40.3| 61 93 4v V-1 &4 100 812 228| 15 21 4¢ N-1 9 -100 67.1 36.9
23 11 44 N=  ¢J 620 63.7 403| 71 83 4v V-1 &4 100 812 228| 16 20 4¢ N-1 YA -100 67.1 36.9
24 10 44 N= ¢ 620 63.7 403|844 70 4v0O-1 vQ 100 812 22.8| 22 14 4¢ N-1 &7 -100 67.1 36.9
25 9 44 N= ¢ 620 63.7 40.3| 86 68 4v V-1 &4 100 812 228| 24 12 4¢ N-1 ¢9 -100 67.1 36.9
28 6 44 S= vA 620 63.7 40.3| 89 65 3v V-1 &J 100 812 228| 26 10 4¢ N-1 ¢38 -100 67.1 36.9
29 5 44 N= &3 620 63.7 40.3|107 98 4v O-1 K 100 812 228| 29 7 4¢ S-1 46 -100 67.1 36.9
31 3 44 N= v¥5 620 63.7 403| 27 9 24S=  aA 90 68.2 358| 36 53 3NN-1 YA -100 67.1 36.9
34 53 44 N= ] 620 63.7 40.3| 40 49 24 S= K 90 68.2 35.8| 40 49 4¢ S-1 ¢4 -100 67.1 36.9
38 49 44 N= ] 620 63.7 40.3| 22 14 2NN-1 ¢2 -50 60.7 455| 41 48 4¢ N-1 +9 -100 67.1 36.9
50 37 44 N= ¢ 620 63.7 40.3| 43 46 24 S-1 &A -50 60.7 455| 43 46 44 N-1 ¢33 -100 67.1 36.9
51 36 44 N=  ¢J 620 63.7 403 | 47 42 34 S-1 &A -50 60.7 455| 52 37 3NN-1 8 -100 67.1 36.9
61 95 44 N= vJ 620 63.7 40.3| 52 37 24 N-1 +¢2 -50 60.7 455| 66 88 4¢ N-1 9 -100 67.1 36.9
67 89 44 N= T 620 63.7 40.3| 80 74 44S-1 +8 -50 60.7 455| 67 87 4¢ N-1 9 -100 67.1 36.9
80 76 44 N= v5 620 63.7 403| 25 11 3#S-2 &A -100 52.0 54272 82 4¢ S-1 v3 -100 67.1 36.9
87 69 44 N= v6 620 63.7 40.3| 45 44 34DN-1 vA -100 52.0 54.2(103 102 4¢ N-1 vA -100 67.1 36.9
90 66 44 N= v4 620 63.7 40.3| 81 73 34 N-2 5 -100 52.0 54.2(105 100 3NN-1 vQ -100 67.1 36.9
91 65 44 N= ¢ 620 63.7 40.3| 90 64 3¢ O+1 &Q -130 46.6 59.6 (107 98 2v O= &5 -110 47.7 56.3
97 110 44 N= v3 620 63.7 40.3|103 102 3¢ O+1 K -130 46.6 59.6( 35 1 2v O+1 4 -140 444 59.6
104 103 44 N= ¢ 620 63.7 403|110 95 3v V= &4 -140 433 628110 95 3v V= 4A -140 444 59.6
109 98 44 S=  &T 620 63.7 403 30 6 44DS-2 4A -300 412 65.0( 5 31 5¢ N-2 +¢9 -200 28.2 75.8
112 78 44 N=  v5 620 63.7 40.3| 54 18 44DN-3 #A 500 37.9 68225 11 2NN-2 vJ -200 28.2 75.8
35 52 3NN=  v4 600 36.1 67.9| 66 88 44DN-3 #A -500 379 682 27 9 5¢ N-2 9 -200 28.2 75.8
82 74 3NN= v2 600 36.1 679 2 34 4v V= &3 -620 228 83432 4 4¢S-2 v5 -200 28.2 75.8
108 99 3NN=  v6 600 36.1 679| 16 20 4v V=  »4 -620 228 834 39 50 3NN-2 vJ -200 28.2 75.8
16 18 2vDV-2 #4K 300 319 721|117 19 4v V= &4 -620 22.8 834 45 44 5¢ N-2 9 -200 28.2 75.8
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62 94 24 N+3 &2 200 29.7 743| 24 12 4v V= *] -620 22.8 834 | 47 42 5¢ N-2 YA -200 28.2 75.8
105 102 INN+3 ¢J 180 276 764 |35 1 4v V= *4 -620 22.8 834| 63 91 3NN-2 vJ -200 28.2 75.8
73 83 34 N+1 #4 170 255 785| 63 91 4v V= *4 -620 228 834| 80 74 3NN-2 %J -200 28.2 75.8
40 47 3v O-3 &2 150 223 81.7| 67 87 4v V= *4 -620 228 834| 84 70 5¢ N-2 v7 -200 28.2 75.8
44 43 3v V-3 aA 150 22.3 81.7| 96 109 4v V= *4 -620 22.8 834| 90 64 3NN-2 ©vA -200 28.2 75.8
15 19 INN+1 #2 120 18.1 85.9 (104 101 4v V= *4 -620 22.8 83.4|108 97 3NN-2 *J -200 28.2 75.8
93 63 INN+1 ¢3 120 18.1 85.9|105 100 4v V= vJ] -620 22.8 834|111 94 3NN-2 YA -200 28.2 75.8
26 8 4v O-2 &A 100 13.8 90.2 (108 97 4v V= +Q -620 228 834| 2 34 3NN-3 &3 -300 8.7 953
72 84 2v O-2 49 100 13.8 90.2|111 94 4v O= ¢2 -620 228 834| 17 19 3NN-3 ¢Q -300 8.7 953
2 32 44 N-1 ¢ -100 75 96.5( 72 82 4y V+1l w7 -650 8.7 974|186 68 3NN-3 vQ -300 8.7 953
46 41 44 N-1 v5 -100 75 96529 7 54DN-4 &A -800 2.2 101.8| 96 109 3NN-3 &7 -300 8.7 953
64 92 3NN-1 ¢J -100 75 96.5| 41 48 54D S-4 &A -800 2.2 101.8 (112 77 3NN-3 &2 -300 8.7 953
70 86 3NN-1 v6 -100 75 96.5( 51 38 54D S-4 &K -800 2.2 101.8| 54 18 3vyDO= ¥5 -730 2.2 101.8
4 30 3NN-2 v7 -200 1.1 1029 23 - 45.5 104 101 3vyD O +1 A -930 0.1 103.9
54 17 3NN-2 92 -200 1.1 1029| 69 - 53.9 23 - 455
21 - 45.7 - 99 40.0| 69 - 53.9
- 71 449| 5 31 -790/+35 6.6 39.0 - 99 40.0
- 101 43.1( 76 78 A-/A- 416 308| 76 78 A-/A- 416 30.8
37 4 K865 38 « D103 39 473
Nord vE754 Ost v 10875 Syd v 642
NS ¢+ Kn ov 483 Alla ¢+ E10
£Kn874 #K832 #KKn9654
4 DKn103 #4E9 s E4 & K6 D84 4 E965
v KKn8 v 62 v Kn92 v KD63 vE98 vKnl07
¢+ K1072 ¢ ED8543 ¢ K42 + EDKn9 ¢ K975 4432
«D2 #EK9 #EDKn64 #1097 832 &D107
«742 4 Kn98752 « KKn102
vD1093 vE4 vKD53
496 ¢ 10765 + DKn86
#10653 &5 &E
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
66 94 6NV-2 &4 100 1039 0.1|112 80 6NO-5 &5 500 1039 0.1| 28 12 3NN+l ¥6 630 1039 0.1
16 22 64 V-1 ¢ 50 100.8 32|54 19 3NN+l 8 430 1018 22| 1 39 3NN= 46 600 93.3 107
23 15 7¢ O-1 +6 50 100.8 3.2|107 104 6NO-4 &5 400 99.7 43| 18 22 3NN= 46 600 93.3 10.7
82 78 5¢ O= v9 400 976 64|16 22 6NO-2 49 200 93.3 10.7| 42 51 3NN= a5 600 93.3 10.7
40 51 5¢ O+1 9 420 923 11.7| 26 12 64 O-2 3 200 93.3 10.7| 47 46 3NN= vJ 600 93.3 10.7
79 81 5¢ V+1 ¢J -420 923 11.7| 40 51 6NO-2 43 200 93.3 10.7| 53 40 3NN= 46 600 93.3 10.7
89 71 5¢ O+1 +¢6 -420 923 11.7| 42 49 6NO-2 &7 200 93.3 10.7| 82 76 3NS= v8 600 93.3 10.7
108 103 5¢ O+1 +9 -420 923 11.7| 53 38 6NO-2 &7 200 93.3 10.7 (107 102 3NS= +5 600 93.3 10.7
24 14 3NO+1 &7 -430 87.0 17.0| 3 35 6NO-1 48 100 79.6 24.4 (108 101 3NN = a5 600 93.3 10.7
30 8 44 V+1 ¢J -450 83.8 20.2| 17 21 6NO-1 YA 100 79.6 24.4(110 99 3NN-= a5 600 93.3 10.7
83 77 44 V+1 ©vA -450 83.8 20.2| 23 15 5NO-1 &7 100 79.6 244 5 35 2v S+2 44 170 82.7 213
3 35 3NO+2 &5 -460 65.8 38.2| 41 50 6#V-1 43 100 79.6 244| 86 72 3#N+2 vJ 150 80.6 23.4
6 32 3NV+2 ¢ -460 65.8 38.2| 74 86 6NO-1 42 100 79.6 244|129 11 INN+1 2 120 75.3 28.7
17 21 3NV+2 v4 -460 65.8 38.2| 84 76 5NO-1 49 100 79.6 24.4| 49 44 INN+1 &5 120 75.3 28.7
26 12 3NO+2 9 -460 65.8 382 92 68 6NO-1 &7 100 79.6 244|183 75 INN+1 &5 120 75.3 28.7
42 49 3NV +2 #4 -460 65.8 38.2| 93 67 6NO-1 YA 100 79.6 24.4]112 79 INN+1 &5 120 75.3 28.7
44 47 3NO+2 3 -460 658 38.2| 82 78 3#V+l ¢5 -130 70.0 34.0| 37 3 INN= 46 90 69.0 35.0
62 98 3NO+2 &7 -460 65.8 38.2| 48 43 3NO= 3 -600 65.8 38.2| 54 20 1¢ S+1 &7 90 69.0 35.0
63 97 3NV+2 ¢5 -460 65.8 38.2| 87 73 5&V-= +8 -600 65.8 382 4 36 3NN-1 45 -100 48.8 55.2
64 96 3NV +2 &4 -460 658 38.2| 89 71 3NO= a7 -600 658 38.2| 7 33 3NS-1 ¢7 -100 48.8 55.2
72 88 3NO+2 T -460 658 38236 2 4v O= &5 -620 615 425| 10 30 3NN-1 T -100 48.8 55.2
74 86 3NV+2 ¢5 -460 65.8 382 4 34 3NO+1 45 -630 38.2 65.8| 25 15 3NN-1 45 -100 48.8 55.2
92 68 3NV+2 &4 -460 658 38.2| 6 32 3NV+1l 44 -630 38.2 65.8| 26 14 3NN-1 45 -100 48.8 55.2
95 65 3NV+2 ¢5 -460 65.8 382 9 29 3NO+1 45 -630 382 658| 34 6 3NN-1 vJ -100 48.8 55.2
107 104 3NV +2 5 -460 65.8 38.2| 18 20 3NO+1 &7 -630 38.2 658|388 2 3NN-1 vJ -100 48.8 55.2
110 101 3NV +2 ¥5 -460 65.8 382 24 14 3NO+1 &7 -630 38.2 65.8| 41 52 3#N-1 45 -100 48.8 55.2
4 34 3NV+3 ¢5 -490 38.2 65.8| 28 10 4NO= s -630 38.2 65.8| 63 95 3NN-1 vJ -100 48.8 55.2
9 29 3NV+3 5 -490 382 658| 31 7 3NO+1 48 -630 38.2 658| 65 93 3NS-1 ¢5 -100 48.8 55.2
27 11 3NV +3 ¢5 -490 382 658| 33 5 3NO+1 45 -630 382 658| 68 90 24 S-1 8 -100 48.8 55.2
28 10 3NV +3 46 -490 382 658| 37 1 3NO+1 9 -630 38.2 658| 71 87 2NS-1 7 -100 48.8 55.2
36 2 3NO+3 T -490 38.2 65.8| 44 47 3NO+1 42 -630 38.2 65.8| 91 67 3NN-1 45 -100 48.8 55.2
37 1 3NV+3 &7 -490 38.2 65.8| 46 45 3NO+1 o7 -630 38.2 658| 92 66 3NN-1 45 -100 48.8 55.2
46 45 3NV +3 v5 -490 38.2 65.8| 52 39 3NO+1 44 -630 38.2 658| 94 64 3NS-1 &3 -100 48.8 55.2
52 39 3NV+3 &4 -490 38.2 65.8| 62 98 3NO+1 &7 -630 38.2 65.8| 98 111 3NS-1 ¢5 -100 48.8 55.2
54 19 3NO+3 v9 -490 38.2 658| 63 97 3NO+1 45 -630 38.2 65.8(109 100 3NN-1 44 -100 48.8 55.2
70 90 3NV +3 &7 -490 38.2 658| 64 96 3NO+1 49 -630 38.2 658| 78 80 2¢ V+1 43 -110  29.7 74.3
109 102 3NV +3 v4 -490 38.2 65.8| 70 90 4NO= 43 -630 38.2 65.8| 19 21 3NS-2 44 -200 16.0 88.0
99 61 3NO+4 T 520 255 785| 79 81 3NO+1 &7 -630 38.2 65.8| 24 16 3NS-2 45 -200 16.0 88.0
31 7 66 O= v9 920 17.0 87.0| 95 65 3NO+1 42 -630 382 658| 31 9 3NN-2 vJ -200 16.0 88.0
33 5 66 0= ¢9 -920 17.0 87.0|108 103 4N O = a7 -630 382 658| 32 8 3NS-2 ¢7 -200 16.0 88.0
41 50 6¢ O= +¢6 -920 17.0 87.0(110 101 3NO+1 45 -630 38.2 658| 45 48 4v S-2 v8 -200 16.0 88.0
48 43 6¢ O= ¢9 -920 17.0 87.0(111 100 3NO +1 &7 -630 38.2 658| 61 97 3NN-2 &5 -200 16.0 88.0
69 91 6¢ V= *7 -920 17.0 87.0| 27 11 3NO+2 +6 -660 9.6 94462 96 4v S-2 &2 -200 16.0 88.0
84 76 66 O= ¢6 920 170 87.0| 30 8 3NO+2 44 -660 96 944|169 89 3NN-2 T -200 16.0 88.0
87 73 64 O= ¢9 920 17.0 87.0| 66 94 3NV+2 ¢5 -660 96 944 (74 84 4v S-2 7 -200 16.0 88.0
53 38 64 O+1 +¢6 -940 75 96569 91 3NO+2 vA -660 9.6 94481 77 3NS-2 44 -200 16.0 88.0
112 80 64 O+1 &5 -940 75 96.5( 99 61 3NO+2 49 -660 96 944|838 70 3NS-2 +7 -200 16.0 88.0
18 20 6NO= v3 -990 2.2 101.8 (109 102 3NO +2 &7 -660 9.6 94.4(105 104 4y S-2 &3 -200  16.0 88.0
93 67 6NV = *8 -990 221018 72 88 3NO+3 &7 -690 1.1 1029 17 23 3NN-3 45 -300 1.1 102.9
111 100 6N O = *J -990 2.2101.8| 83 77 3NO+3 9 -690 1.1 102.9| 43 50 3NN-3 &5 -300 1.1 102.9
25 - 42.1 25 - 42.1 27 - 55.1
7% - 34.6 7% - 34.6 73 - 43.3
- 105 54.5 - 105 54.5 - 103 55.6
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40 « EK98 41 «ED 42 « DKn92
Vast vE108 Nord vK Ost v K1084
Ingen +82 ov + 875 Alla ¢ DKn3
#E974 #10875432 #Kn3
& Kn52 « D64 & K62 4109873 4 K1065 #4
v9 v KD64 v 64 vKn72 vEKNn962 vD73
¢+ KD1043 ¢ E76 ¢ EKn1032 ¢ 964 ¢+ E4 +10
#KKn65 D83 #KKn9 *ED *E4 #KD1098765
#1073 « Kn54 «E873
vKn7532 v ED109853 v5
¢ Kn95 ¢+ KD + K987652
£102 &6 &2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
109 100 4v O-4 4A 200 1039 01| 2 40 4v S+l ¥6 450 99.7 43| 68 96 640-2 v¥5 200 1018 2.2
1 39 2vN= *A 110 90.2 13.8| 27 15 4v S+1 v4 450 99.7 43|91 73 4vyDV-1 ¢Q 200 1018 2.2
5 35 2vS= + K 110 90.2 13.8| 42 53 4v S+1 v4 450 99.7 43|101 63 5v V-2 ¢Q 200 1018 2.2
7 33 2vS= + K 110 90.2 13.8| 50 45 4v S+1 49 450 99.7 43|20 22 540-1 5 100 91.2 128
19 21 2v N= +Q 110 90.2 13.8| 77 87 4v S+1 v6 450 99.7 43|27 15 4v V-1 4Q 100 91.2 1238
34 6 2v N= 6 110 90.2 13835 7 3NN+1 T 430 923 11.7| 64100 4v V-1 ¢Q 100 91.2 128
41 52 2v N= +6 110 90.2 13.8| 43 52 3NN+1 T 430 923 11.7| 65 99 540-1 5 100 91.2 128
42 51 2v N= *A 110 90.2 138| 5 37 4vS= *A 420 774 266| 71 93 4v V-1 ¢Q 100 91.2 1238
43 50 2v N= ¢A 110 90.2 13.8| 11 31 4v S= v2 420 774 266| 8 78 540-1 ¥5 100 91.2 128
68 90 2v N= +6 110 90.2 13.8| 20 22 4v S= v3 420 774 266| 94 70 4v V-1 #J 100 91.2 128
71 87 2v N= *A 110 90.2 13.8| 26 16 4v S= v4 420 774 26.6 111 104 34 O+2 v¥5 -150 82.7 21.3
86 72 2v N= v6 110 90.2 13.8| 30 12 4v S= 5 420 774 266| 89 75 3vV+l ¢Q -170 80.6 234
110 99 2v N= +6 110 90.2 13.8| 33 9 4vS= ¢ A 420 774 26.6| 42 53 4¢DS-1 #A -200 77.4 26.6
25 15 3#DO-1 vJ 100 753 28739 3 4vS= a2 420 774 26.6| 77 87 4¢DS-1 #A -200 77.4 26.6
88 70 24 O-2 &T 100 75.3 28.7| 61 103 4v S= v5 420 774 266| 5 37 44DN-2 +T -500 73.2 30.8
17 23 3NO-1 3 50 69.0 350 65 99 4v S= v4 420 774 26.6| 61 103 5¢DS-2 vA -500 73.2 30.8
18 22 34 V-1 4A 50 69.0 350 71 93 4v S= a2 420 774 266| 2 40 540= v5 -600 64.7 39.3
29 11 34 O-1 2 50 69.0 35.0 (108 107 4v S= a2 420 774 266| 38 4 5&V-= v5 -600 64.7 39.3
61 97 3#0-1 &A 50 69.0 35.0|111 104 4v N= v6 420 774 266| 44 51 540= v5 -600 64.7 39.3
26 14 29 N-1 ¢2 -50 54.1 49.9| 54 21 34 O-3 &5 300 63.7 403| 54 21 540= v5 -600 64.7 39.3
28 12 INN-1 +6 50 54.1 499| 1 41 2v S+3 v5 200 541 499| 76 88 3NO= ¢Q -600 64.7 39.3
53 40 2v N-1 +A 50 54.1 499| 8 34 3vS+2 42 200 541 49.9| 97 67 540= ¥5 -600 64.7 39.3
54 20 2v N-1 +A 50 54.1 499| 38 4 2vS+3 ¢3 200 541 499| 6 36 4v V= £Ye) -620 52.0 52.0
63 95 3v N-1 +¢A -50 54.1 49.9| 68 96 34 O-2 &6 200 541 499| 8 34 540+1 5 -620 52.0 52.0
69 89 2v N-1 &3 -50 54.1 499| 74 90 3¢ V-2 vK 200 541 499| 18 24 54O +1 5 -620 52.0 52.0
78 80 3v S-1 &3 -50 54.1 499| 84 80 3vS+2 ¢3 200 541 499 28 14 4v V= 4 Q -620 52.0 52.0
83 75 2v N-1 &3 -50 54.1 49.9| 97 67 2v S+3 v5 200 54.1 49.9| 43 52 4v V= 4Q -620 52.0 52.0
91 67 2v N-1 +A -50 54.1 499|112 82 3v S+2 v4 200 541 49.9| 62 102 4v V= +Q -620 52.0 52.0
105 104 2v N-1  +¢A -50 54.1 499| 6 36 2vS+2 v6 170 244 796| 1 41 3NV+1 ¢Q -630 40.3 63.7
4 36 INN-2 T -100 393 64.7| 19 23 3v S+l ¢A 170 244 79.6| 11 31 3NO+1 8 -630 40.3 63.7
82 76 3vy N-2 +A -100 393 64.7| 25 17 2v S+2 v4 170 244 79.6| 19 23 3NV+1l +¢Q -630 40.3 63.7
92 66 INN-2 94 -100 393 64.7| 28 14 3v S+1 ¢A 170 244 79.6| 81 83 3NV+1 ¢J -630 40.3 63.7
98 111 2v N-2 +A -100 393 64.7| 32 10 2v S+2 42 170 244 796 95 69 4NV= +Q -630 40.3 63.7
37 3 3¢ V= LY -110 297 743| 44 51 2v S+2 +3 170 244 79.6| 25 17 3NV +2 v4 -660 22.3 81.7
45 48 2¢ V+1 &K -110  29.7 74.3| 46 49 2v S+2 ¢ 170 244 79.6| 26 16 3NV +2 4Q -660 22.3 81.7
49 44 2¢ V+1 &K -110  29.7 74.3| 48 47 3v N+1 &3 170 244 79.6| 30 12 3NV+2 ¥5 -660 22.3 81.7
8l 77 3¢ O= ¢5 -110  29.7 74.3| 62 102 3v S+1 +A 170 244 79.6| 32 10 3NV+2 «Q -660 22.3 81.7
94 64 3¢ V= s A -110  29.7 74.3| 64 100 3v S+1 ¢A 170 244 79.6| 33 9 3NV+2 4Q -660 22.3 81.7
24 16 2¢ V+2 v8 -130 223 81.7| 66 98 3v S+1 42 170 244 796| 35 7 3NV+2 4Q -660 22.3 81.7
65 93 2¢ V+2 &A -130 223 81.7| 72 92 3v S+l 42 170 244 79.6| 48 47 3NV +2 4Q -660 22.3 81.7
10 30 INO+2 2 -150 17.0 87.0| 76 88 3v S+l ¥6 170 244 79.6| 50 45 3NV +2 4Q -660 22.3 817
31 9 4vS-3 K -150 17.0 87.0| 81 83 3v S+1 45 170 244 79.6| 66 98 3NV +2 4Q -660 22.3 81.7
47 46 2NO+1 v2 -150 17.0 87.0| 89 75 2v S+2 42 170 244 79.6| 84 80 3NV+2 v6 -660 22.3 81.7
108 101 INDN-2 v4 -300 11.7 923| 91 73 3v S+l v6 170 244 79.6|108 107 3NV +2 4Q -660 22.3 817
112 79 2vDS-2 ¢K -300 117 923| 94 70 3v S+1 +A 170 244 79.6|110 105 3NV +2 «Q -660 22.3 81.7
32 8 3NO= v3 -400 75 96595 69 3v S+l +A 170 244 79.6| 39 3 3NV+3 4Q -690 43 99.7
62 96 3NO=  #T -400 75 96.5(101 63 3v S+1 42 170 244 79.6| 46 49 3NV+3 4Q -690 43 99.7
107 102 3NO+1 ¥2 -430 43 99.7|110 105 2v S+2 42 170 244 79.6| 72 92 3NV+3 «Q -690 43 99.7
38 2 3NDN-4 &) -800 111029 18 24 3#S+1 v6 130 221018 74 90 3NV +3 ¢4 -690 43 99.7
74 84 44DN-4 &3 -800 1.1 1029 86 78 44 N-1 ¢2 -50 0.1 103.9|112 82 3NV +3 42 -690 43 99.7
27 - 55.1 29 - 58.8 29 - 58.8
73 - 43.3 - 79 63.4 - 79 63.4
- 103 55.6 |109 - 64.9 109 - 64.9
43 482 44 « ED10 45 « ED54
Syd v EKn1054 Vast vKn5 Nord vD1094
Ingen ¢+ ED10 NS + K985 Alla +E
#3853 #E863 &#KKn72
4 K943 #E7 aK943  a- 2 Kn832 4109
v K76 v D982 vE964  vK10832 vE752 vKKn83
+Kn642 53 +10 ¢ EKn63 +32 + K1075
*64 #EKN1072 #KDKn5 #10742 »864 #E105
« DKn1065 « Kn87652 « K76
v3 vD7 v6
¢ K987 ¢ D742 + DKn9864
#KD9 &9 «D93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 16 3NS+1 +¢6 430 976 64| 67 95 34 S= *T 140 1039 0.1| 48 51 2¢yDO-2 ¢Q 500 1039 0.1
29 15 3NN+1 &3 430 976 64| 7 37 5vDO-1 %9 100 101.8 22| 67 101 2v V-2 ¢A 200 1018 2.2
39 5 3NS+1 ¢4 430 976 64|20 24 5v0-1 3 50 99.7 43|41 5 34N+l 8 130 986 54
49 48 3NS+1 %6 430 976 64| 61101 34 S-1 &K -100 955 85(103 65 2¢ S+2 ¢2 130 986 54
61 101 3NS+1 45 430 976 64|88 74 44 S-1 5 -100 955 85| 8 38 INS+1 43 120 89.1 14.9
63 99 3NS+1 ¢2 430 97.6 64109 104 44 S-1 T -100 955 85|21 25 INN+1 5 120 89.1 14.9
93 69 3NS+1 ¢4 430 976 64|33 11 3v O+1 49 -170 912 128| 37 9 INS+1 &3 120 89.1 14.9
96 66 44 S= Ly 420 89.1 149| 6 38 2v O+3 #9 -200 81.7 22.3| 63 105 INN+1 &T 120 89.1 14.9
12 32 3NN= *7 400 817 223| 9 35 3vV+2 5 -200 81.7 223| 74 94 2NN= aT 120 89.1 14.9
54 22 3NS= +5 400 817 223| 34 10 34aDS-1 #K -200 81.7 223| 86 82 INN+1 &7 120 89.1 14.9
80 82 3NS-= 2 400 817 223| 44 53 44DS-1 T -200 81.7 22.3| 87 81 2NN= 43 120 89.1 14.9
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94 68 3NS= 2 400 81.7 223| 47 50 34DS-1 &K -200 81.7 223| 10 36 3¢ S= *3 110 70.0 34.0
100 62 3NS= *6 400 81.7 223| 63 99 3v O+2 9 -200 81.7 223| 31 15 2¢ S+1 &3 110 70.0 34.0
108 105 3N S= *4 400 817 223| 80 82 2v O+3 &9 -200 81.7 223| 35 11 3¢ S= 45 110 70.0 34.0

27 17 3#DO-2 «Q 300 73.2 30.8(112 81 24DS-1 #Q -200 81.7 223| 54 23 3#S= +6 110 70.0 34.0

84 78 3#DO-2 v3 300 732 308 2 42 4v O= #9 -420 67.9 36.1| 61 107 3#S= a4 110 70.0 34.0

65 97 2NS+2 ¢4 180 70.0 34.0| 40 4 4vO= &9 -420 67.9 36.1| 66 102 3¢ S= a2 110 70.0 34.0

7 37 INN+2 8 150 67.9 36.1| 54 22 4v 0= &9 -420 67.9 36.1| 70 98 3¢ S= 3 110 70.0 34.0

40 4 24 S+1 v6 140 63.7 40.3| 65 97 4v O= &9 -420 67.9 36.1| 88 80 3¢ S= a2 110 70.0 34.0

43 1 34 S= *6 140 63.7 40.3|111 102 4v O= &3 -420 679 36.1| 91 77 3¢ S= *4 110 70.0 34.0

64 98 34 S= *6 140 63.7 40.3| 3 41 4v O+l 45 -450 425 615( 97 71 2¢ S+1 #4 110 70.0 34.0

2 42 2NN= &) 120 57.3 46.7| 19 25 4v O+1 9 -450 425 615( 99 69 2¢ N+1 +¢3 110 70.0 34.0
34 10 INN+1 &2 120 57.3 46.7| 26 18 4v O+1 &9 -450 425 61545 1 INN= &9 90 56.2 47.8
73 89 2NS= 2 120 57.3 46.7| 27 17 4v V+1 vJ] -450 425 615( 96 72 INS= a2 90 56.2 47.8

9 35 2¢y N=  v2 110 50.9 531|129 15 4v O+1 &9 -450 425 615 4 42 3NN-1 v5 -100 414 62.6

51 46 24 S= *6 110 509 53.1|36 8 4v O+1 &9 -450 425 615 7 39 3NN-1 8 -100 414 626

88 74 2v N=  &A 110 509 531|139 5 4vV+l ¢¥5 -450 425 615( 20 26 3NN-1 &3 -100 414 62.6

30 14 320-2 «Q 100 456 58.4| 45 52 4y O+1 49 -450 425 615( 22 24 3NN-1 v3 -100 414 62.6

75 87 INO-2 45 100 456 58.4| 49 48 4y O+1 49 -450 425 615( 30 16 3NN-1 ¥3 -100 414 626

3 41 3NS-1 +5 50 297 743| 51 46 4y O+1 &9 -450 425 615( 34 12 3NN-1 T -100 414 62.6

20 24 29y N-1 v3 50 297 743 70 92 4v O+1 &9 -450 425 61540 6 3¢ S-1 &3 -100 414 626

21 23 34 S-1 %6 50 297 74371 91 4vV+1l 38 -450 425 615| 64 104 3¢ S-1 42 -100 414 626

26 18 3¢ S-1 %6 50 297 743| 73 89 5v 0= &9 -450 425 615( 78 90 3NN-1 &5 -100 414 62.6

33 11 3NS-1 v6 -50 29.7 743| 76 86 5v V= v5 -450 425 615( 93 75 2NN-1 49 -100 414 62.6

45 52 44 S-1 6 50 29.7 743|184 78 4v O+1 v3 -450 425 61.5(110 109 2NS-1 42 -100 414 626

67 95 2v N-1 «A 50 297 743|190 72 5v O= &9 -450 425 615112 84 3NS-1 &2 -100 414 62.6

70 92 44 S-1 %4 -50 29.7 743| 94 68 4v O+1 49 -450 425 615| 3 43 3NS-2 &3 -200 20.2 83.8

76 86 44 S-1 43 50 29.7 74.3]108 105 4v V+1 v5 -450 425 615( 27 19 3NN-2 T -200 20.2 83.8

83 79 3NS-1 &6 -50 29.7 743|110 103 4y O+1 &9 -450 425 615( 29 17 3NN-2 T -200 20.2 83.8

90 72 2¢v N-1 5 50 297 743| 21 23 4vV+2 5 -480 181 859 32 14 3NN-2 v3 -200 20.2 83.8
109 104 2¢v N-1 5 50 297 743| 75 87 5v O+1 &2 -480 18.1 859 44 2 3NN-2 &T -200 20.2 83.8
110 103 34 S-1 %6 50 297 743|193 69 4y O+2 49 -480 18.1 859 46 53 3NN-2 T -200 20.2 83.8

6 38 3NN-2 &2 -100 85 955100 62 4v V+2 v5 -480 181 859 50 49 3NN-2 ¢3 -200 20.2 83.8

19 25 3NN-2 &2 -100 85 955(43 1 44DS-2 v3 -500 12.8 91.2(111 108 44 N-2 46 -200 20.2 83.8

36 8 3NN-2 &2 -100 85 955(28 16 4vDO= &9 -590 10.7 93.3( 28 18 3NN-3 T -300 54 98.6

47 50 2v S-2 &6 -100 85 955( 12 32 5vDV= A -650 75 965| 52 47 3NN-3 T -300 54 98.6

71 91 3NN-2 &T -100 85 955| 30 14 5vDV= v5 -650 75 965 68100 3BNN-3 v3 -300 54 986
111 102 3vy N-2 5 -100 85 955( 83 79 5vDV+1 4A -750 43 99.7( 73 95 3NN-3 &3 -300 54 98.6
112 81 3NN-2 &J -100 85 955( 64 98 44DS-3 K -800 11102976 92 3NS-3 &2 -300 54 98.6

44 53 3NN-3 &2 -150 0.1 103.9| 96 66 44DS-3 #K -800 111029 79 89 3NS-3 42 -300 54 98.6

31 - 60.3 31 - 60.3 - 33 47.1

- 77 59.6 - 77 596 | 62 - 48.4
107 - 58.0 107 - 58.0 83 - 49.2
46 « 1097 47 4 Kn3 48 D
Ost vE7542 Syd v EKn9852 Vast v 10743
Ingen *4 NS ¢ D42 ov ¢ 742

#D1064 #63 #95432
4 EK32 4654 4E76 4 KD10985 4872 « 10954
vKKn86 v- vD10 vD8 v EKn52
¢ ED1087 496532 ¢E3 ¢ Kn875 ¢ K9863 ¢ DKn
*- #EKKn93 #EKN10854 &7 #ED7  #K106
« DKn8 442 4 EKKNn63
vD1093 v K76 v K96
¢ KKn ¢ K1096 ¢ E105
#8752 #KD92 #Kn8

Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

63 105 2NO+1 9 -150 1039 0.1( 92 74 44 O-2 v6 100 1039 0.1| 22 26 3¢DV-2 «Q 500 1039 0.1

21 25 2¢ O+4 8 -170 100.8 3.2 28 20 44 O-1 &2 50 93.3 10.7| 14 34 34 O-3 &J 300 100.8 3.2

40 6 3¢ V43 oT -170 100.8 32| 30 18 44 O-1 v6 50 93.3 10.7| 30 18 3NO-3 45 300 100.8 3.2

7 39 3NV= aT -400 955 85( 31 17 44 O-1 &4 50 93.3 10.7| 23 25 3NDO-1 4K 200 955 85
32 14 3NO= v3 -400 955 85|54 24 44 O-1 v6 50 93.3 10.7| 53 48 34 0-2 &A 200 955 85
88 80 5¢ V= oT -400 955 85| 65101 44 O-1 &2 50 93.3 10.7| 78 88 3¢ V-2 4Q 200 955 85

8 38 5¢ V+1 oT -420 80.6 23.4| 66 100 44 O-1 v6 50 933 10.7| 4 44 24 S-= +6 110 88.0 16.0

27 19 5¢ V+1 ¢4 -420 80.6 234 | 67 99 44 O-1 v6 50 93.3 10.7| 5 43 24 S= vQ 110 88.0 16.0

29 17 5¢ O+1 3 -420 80.6 234 95 71 44 O-1 ¥K 50 93.3 10.7| 38 10 24 S= vQ 110 88.0 16.0

44 2 56 V41 oT -420 80.6 23.4(112 83 44 O-1 v6 50 93.3 10.7(102 64 1a S+1 v38 110 88.0 16.0

48 51 5¢ V+1 &T -420 80.6 234 | 4 44 24 O+1 v6 -140 764 27.6( 29 19 3¢ O-1 «Q 100 785 255

54 23 5¢ V+1 T -420 80.6 234 11 37 34 0= v6 -140 764 27.6( 32 16 3¢ V-1 4Q 100 785 255

61 107 5¢ V+1 49 -420 80.6 234 14 34 24 O+1 v6 -140 764 27.6( 33 15 3¢ O-1 &A 100 78.5 255

67 101 5¢ V+1 ©vA -420 80.6 234 23 25 24 O+1 «4 -140 764 27.6| 51 50 3¢ V-1 «Q 100 785 255

93 75 5¢ V+1 49 -420 80.6 234 49 52 34 O= v6 -140 764 27.6( 72 94 2¢ V-1 4Q 100 785 255

96 72 5¢ V+1 &T -420 80.6 234 69 97 34 O= &2 -140 764 27.6| 11 37 INS= +3 90 66.8 37.2

97 71 5¢ V+1 T -420 80.6 23.4(102 64 34 O= v3 -140 764 276( 42 6 INS= +3 90 66.8 37.2

30 16 3NV+1 ¢2 -430 626 414 33 15 34 O+1 v6 -170 615 425 62 104 INS= +6 90 66.8 37.2

37 9 3NO+1 ¥9 -430 62.6 414 38 10 24 O+2 v6 -170 615 425|190 76 INS= +3 90 66.8 37.2

74 94 3NV+1 2 -430 62.6 414 42 6 24 V+2 2 -170 615 425( 9 70 INS= +3 90 66.8 37.2

86 82 3NV+1l 2 -430 626 414 46 2 340+1 v6 -170 615 425112 83 INS= *3 90 66.8 37.2
111 108 3NO+1 ¥4 -430 626 414 47 1 34 0+1 v6 -170 615 425( 54 24 1a S= a5 80 56.2 47.8
112 84 3NO+1 9 -430 62.6 414 75 91 24 V+2 43 -170 615 425 65101 1s S= a7 80 56.2 47.8

10 36 5¢ V+2 ©vA -440 478 56.2( 90 76 34 O+1 &4 -170 615 425 77 89 1la S= 8 80 56.2 47.8

31 15 5¢ V42 &7 -440 47.8 56.2| 22 26 24 O+3 &K -200 50.9 53.1(95 71 1la S= +3 80 56.2 47.8

34 12 5¢ V42 ©vA -440 47.8 56.2( 73 93 4y N-2 &7 -200 509 531| 8 40 24 S-1 vQ -50 43,5 60.5

35 11 5¢ V+2 ¢4 -440 478 56.2| 86 80 3v N-2 &7 -200 50.9 53131 17 24S-1 vQ -50 43,5 60.5

50 49 5¢ V+2 ©vA -440 478 56.2( 5 43 44 O= v6 -420 319 721( 36 12 24 S-1  +3 -50 435 60.5

66 102 5¢ O+2 2 -440 478 562 9 39 44 O= v6 -420 319 721(41 7 2vN-1 +Q -50 43,5 60.5

76 92 5¢ V+2 YA -440 478 56.2( 21 27 44 O= w7 -420 319 721( 73 93 24 S-1 vQ -50 43,5 60.5

79 89 5¢ V+2 vA -440 478 56.2( 29 19 44 O= ¢2 -420 319 721( 87 79 24S-1  vQ -50 435 60.5

78 90 3NV +2 46 -460 36.1 67.9| 32 16 44 O= v7 -420 319 721|192 74 24 S-1 v8 -50 43,5 60.5

99 69 3NV+2 ¢4 -460 36.1 67.9( 45 3 44 O= &2 -420 319 721| 98 68 24 S-1 vQ -50 43,5 60.5
103 65 4NO+1 &2 -460 36.1 67.9( 51 50 44 O= ¢K -420 319 721 9 39 INO= &3 -90 29.7 743

20 26 64 O= v3 -920 234 80.6| 61 105 44 O= v6 -420 319 721 61 105 2¢ V= +Q 90 29.7 743
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22 24 64 V= aT -920 234 80.6| 62 104 44 O= v6 -420 319 721| 69 97 2¢ V= 2Q 90 29.7 743
46 53 6¢ V= aT -920 234 80.6| 63 103 44 O= v6 420 319 721( 75 91 2¢ O= 4Q 90 29.7 743
52 47 64 V= vA -920 234 80.6| 72 94 44 O= v6 -420 319 721)| 86 80 INO= aA 90 29.7 743
64 104 6¢ V= aT -920 234 80.6| 78 88 44 V= v2 420 319 721| 28 20 3NN-2 46 -100 21.3 827
68 100 6¢ V= vA -920 234 80.6| 82 84 44 O= vK -420 319 721| 46 2 24DS-1 ¢3 -100 21.3 827
73 95 6¢ V= vA 920 234 80.6| 98 68 44 V= *6 420 319 721| 82 84 24DS-1 vQ -100 21.3 827
91 77 64 O= &7 -920 23.4 80.6 (109 108 44 O= v3 -420 319 721| 21 27 INO+1 &K -120  12.8 91.2
110 109 6¢ O= 4Q -920 234 80.6( 8 40 44 O+1 o4 -450 85 95545 3 INO+1 4K -120 128 91.2
3 43 64 O+1 «Q -940 6.4 976( 36 12 564 O= 44 -450 85 955| 63103 INO+1 &K -120 128 91.2
4 42 64 V+1 ©vA -940 6.4 97.6( 41 7 44 O+1 44 -450 8.5 955|109 108 INO+1 &K -120  12.8 91.2
28 18 6¢ V+1 YA -940 6.4 976 53 48 44 O+1 K -450 8.5 955(110 107 INO+1 4K -120 128 91.2
41 5 66 O+1 &7 -940 6.4 97.6| 87 79 44 O+1 &5 -450 85 955| 49 52 INO+2 &K -150 54 98.6
45 1 66 V+1 YA -940 6.4 97.6( 96 70 44 O+1 44 -450 85 955| 67 99 INN-3 +¢6 -150 54 98.6
70 98 6¢ V+1 YA -940 6.4 97.6 (110 107 44 O+1 ¢9 -450 85 955| 47 1 34DS-2 ¢3 -300 1.1 102.9
87 81 6¢ V+1 &6 -940 6.4 976| 77 89 44DO= &K -590 0.1 103.9| 66 100 3*DN-2 ¢Q -300 1.1 102.9
- 33 471| 35 - 50.2 35 - 50.2
62 - 48.4 81 54.7 - 81 54.7
83 - 49.2 1117 - 55.9 111 - 55.9
49 « EK72 50  Kn109832 51 109
Nord vKD42 Ost vE5 Syd vD9
Ingen ¢ KDKn NS .- ov + D874
&E8 #EKn1075 &#K7542
4« D85 104 4 D7 & EK654 4 KD832 4 EKN76
v9876 vEKn3 vKn10743 v K86 vEKn4  v10652
¢ 95 ¢ E8432 + Kn86 + KD53 ¢ Kn632 ¢ EK
#KKn94 #D62 #D32 *4 «10 #963
« Kn963 a- 454
v 105 v D92 v K873
+ 1076 ¢ E109742 ¢ 1095
#10753 £ K986 &EDKN8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
63 109 44D O-5 #3 1100 1039 01|47 3 54DO-6 #8 1400 1039 0.1| 10 42 54 V-1 &2 100 1039 0.1
30 20 INRDV-2v5 600 101.8 2.2| 61 111 44DO-5 ¢A 1100 1018 22| 2 50 34 V+1l ¢7 -170 955 85
22 28 44 N= oT 420 965 75| 32 18 44DN+1 4A 910 99.7 43|31 21 34 V+1 T -170 955 85
68 104 44 N= aT 420 965 75| 5 45 3#DN+1 v6 870 97.6 64| 40 12 34 V+1l o7 -170 955 85
89 83 44 N= a4 420 965 75|88 84 4vDV-4 & 800 955 85|43 9 34V+1l 3 -170 955 85
93 79 44 N= oT 420 965 75|81 91 3NN+l o4 630 93.3 10.7| 71 99 34 V41 &2 -170 955 85
47 3 3#DV-2 #K 300 91.2 128| 50 53 5&# N+1 #A 620 90.2 13.8| 79 91 34 V+1 49 -170 955 85
1 49 2NN+1 3 150 85.9 18.1| 52 51 5# N+1 &K 620 90.2 13.8 (111 110 34 O+1 T -170 955 85
6 44 2NN+1 2 150 859 18.1| 29 21 5#N-= s A 600 87.0 17.0| 33 19 24 V+3 &5 -200 849 191
61 111 2NN+1 &T 150 859 18.1| 10 40 24D O -3 #8 500 83.8 20.2| 38 14 34 V+2 vQ -200 849 191
62 110 2NN+1 ¢2 150 859 18.1| 46 4 24DO-3 #8 500 83.8 20.2| 80 90 34 V+2 ¢4 -200 849 191
9 41 24 S+1 9 140 753 28.7| 12 38 44 V-6 48 300 80.6 23.4| 77 93 54DS-3 #K -500 80.6 234
23 27 24 N+1 2 140 753 28.7| 33 17 4vy V-4 4] 200 774 266| 6 46 44 V= *7 -620 58.4 45.6
33 17 24 S+1 ¢5 140 753 287| 90 82 4v V-4 ] 200 774 266| 7 45 44 V= aT -620 58.4 45.6
43 7 24 S+1 7 140 753 28.7| 31 19 2NN+2 &5 180 743 29.7| 16 36 4e V= *4 -620 58.4 45.6
70 102 34 S= +9 140 753 28.7| 42 8 3#N+3 #A 170 711 329 32 20 44 V= *7 -620 58.4 45.6
76 96 14 N+2 <A 140 753 28.7| 48 2 3#N+3 &K 170 711 329 34 18 44 V= aT -620 58.4 45.6
10 40 2NN= +3 120 573 46.7| 23 27 3# N+2 &A 150 64.7 39.3| 35 17 4e V= oT -620 58.4 45.6
12 38 2NN= 2 120 573 46.7| 43 7 3v V-3 & 150 64.7 393| 44 8 44 V= 49 -620 58.4 45.6
24 26 2NN= a4 120 57.3 46.7| 93 79 24 O-3 +A 150 64.7 39.3| 48 4 44 V= oT -620 58.4 45.6
31 19 2NN= +3 120 57.3 46.7|105 67 24 O-3 2 150 64.7 393| 51 1 4eV= oT -620 58.4 45.6
34 16 2NN= +3 120 57.3 46.7| 68 104 3# N+1 &K 130 57.3 46.7| 54 26 44 V= aT -620 58.4 45.6
50 53 2NN= *2 120 57.3 46.7| 72 100 4# N= oK 130 57.3 46.7| 61 109 44 V= aT -620 58.4 45.6
52 51 2NN= +3 120 573 46.7| 99 73 44 N= s A 130 57.3 46.7| 63 107 4e V= *7 -620 58.4 45.6
64 108 2NN = 2 120 573 46.7| 24 26 2NN-= a2 120 53.1 50.9| 65 105 44 V= +Q -620 58.4 45.6
65 107 2NN = *2 120 573 46.7| 78 94 24 N= &4 110 50.9 53.1| 67 103 44 O= T -620 58.4 45.6
69 103 2NN = 6 120 573 46.7| 22 28 14 O-2 48 100 425 61.5| 84 86 44 V= 3 -620 58.4 45.6
99 73 2NN= +3 120 57.3 46.7| 54 25 24DO-1 ¢A 100 425 61.5| 88 82 44 V= *2 -620 58.4 45.6
36 14 49 O-2 +¢9 100 446 594 (75 97 24 O-2 6 100 425 61.5| 89 81 44 V= oT -620 58.4 45.6
75 97 1v N= oT 80 425 61580 92 2NO-2 +2 100 425 61.5| 92 78 44 V= oT -620 58.4 45.6
15 35 2NN-1 3 50 255 785| 89 83 24 O-2 +¢A 100 425 61.5| 97 73 44 V= +3 -620 58.4 45.6
32 18 44 S-1 7 -50 255 785|101 71 2y V-2 ] 100 425 61.5| 98 72 44 V= 7 -620 58.4 45.6
42 8 2NN-1 ¢2 -50 255 785|112 86 24 O-2 #8 100 425 61.5( 62 108 3NO+1 v7 -630 36.1 67.9
46 4 2NN-1 ¢2 50 255 785| 15 35 2¢ S= 4Q 90 308 73.2| 11 41 44 V+1 T -650 18.1 85.9
48 2 2NN-1 3 -50 255 785| 30 20 2¢ S= +Q 90 30.8 73.2| 23 29 44 V+1l vQ -650 18.1 85.9
54 25 44 S-1 +9 -50 255 785 65107 2¢ S= +Q 90 308 73.2| 24 28 44 V41 vQ -650 18.1 85.9
72 100 2NN-1 +38 50 255 785| 95 77 2¢ S= 4Q 90 308 73.2| 25 27 44 V+1 T -650 18.1 85.9
80 92 2NN-1 3 50 255 785| 6 44 14 O-1 ©vA 50 234 806|300 22 44 V+1l vQ -650 18.1 85.9
81 91 44 S-1 +9 -50 255 785| 63109 24 O-1 +¢A 50 234 80.6| 37 15 44 V+1 vQ -650 18.1 85.9
88 84 2NN-1 +¢5 -50 255 785| 98 74 1la V-1 3 50 234 80.6| 47 5 54V-= *2 -650 18.1 85.9
90 82 3NN-1 ¢4 50 255 785| 34 16 14 O= ¢A -80 18.1 859| 49 3 4eV+1l o7 -650 18.1 85.9
95 77 2NN-1 ¢2 -50 255 785| 70 102 14 O= ¢A -80 18.1 859| 53 52 44 V+1 &5 -650 18.1 85.9
98 74 44 S-1 &7 50 255 78539 11 2¢ S-1  4Q -100 12.8 91.2| 68 102 44 V+1 vQ -650 18.1 85.9
101 71 2NN-1 &2 -50 255 785 62 110 2¢ S-1 4Q -100 12.8 91.2| 69 101 44 V+1 ¢Q -650 18.1 85.9
105 67 2NN-1 3 -50 255 785| 76 96 2¢ S-1 vJ -100 128 91.2| 74 96 44 V+1 v9 -650 18.1 85.9
5 45 3NN-2 +¢Q -100 54 98.6| 36 14 44 O+1 oA -150 85 955| 75 95 44 V+1 ¥9 -650 18.1 85.9
29 21 2NN-2 #Q -100 54 986| 1 49 3NN-2 &K -200 43 99.7| 87 83 44 V+1 49 -650 18.1 85.9
39 11 3NN-2 ¢2 -100 54 98.6| 64108 2¢ S-2 4Q -200 43 99.7]|100 70 44 O+1 49 -650 18.1 85.9
112 86 2NN-2 ¢2 -100 54 98.6| 69 103 4¢ S-2 4Q -200 43 99.7|104 66 44 V+1 &T -650 18.1 85.9
78 94 3NN-3 ¢3 -150 0.1 103.9| 9 41 2¢DS-2 «4Q -500 0.1 103.9| 94 76 44 V+2 vQ -680 0.1 103.9
37 - 42.3 37 - 42.3 - 39 54.0
66 - 60.1 66 - 60.1 64 - 47.3
- 87 48.8 - 87 48.8 (112 - 45.7
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52 « EKn 53 #7643 54 ~E6
Vast vEDG3 Nord vD3 Ost vED10975
Alla ¢ ED102 NS ¢ EKD104 ov ¢ Kn9
«ED10 «D4 #D42
497 4 K108 a2 4 KD10 & D432 41087
v 109 v Kn7542 vKKn98 vE2 v- v Kn862
¢ Kn643 +9 ¢ Kn986 ¢ 53 ¢ EKD875 4432
#K9764 #8532 #EKN109 #K87632 #K95 #EKn10
« D65432 « EKn985 & KKn95
v K8 v 107654 v K43
¢ K875 ¢ 72 +106
*Kn *5 #8763
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
43 9 7¢ S= 49 2140 1039 0.1| 14 40 54DO-2 ¢7 300 1039 01|33 21 2¢vDN+2 ¢3 670 1039 0.1
34 18 6NN+1 &8 1470 1018 22| 1 53 54DO-1 ¢7 100 965 75|48 6 3vyDN+1 ¢2 630 1018 22
16 36 6NN= v6 1440 88.0 16.0( 39 15 3NO-2 v3 100 965 75(45 9 3vDS= a7 530 955 85
29 23 6NN=  ¢9 1440 88.0 16.0( 45 9 540-2 7 100 965 75152 2 3vyDN= +¢2 530 955 85
30 22 6NN=  v5 1440 88.0 16.0( 52 2 54D O-1 A 100 965 75|54 27 3vDN= 45 530 955 85
31 21 6NN= v6 1440 88.0 16.0| 77 99 54D O-1 ¢7 100 965 75|83 93 3vDN= 45 530 955 85
32 20 6NN=  v3 1440 88.0 16.0| 92 84 54D O-1 ¢2 100 965 75112 88 3vyDN= +¢2 530 955 85
40 12 6NN=  v5 1440 88.0 16.0| 7 47 44 0-1 7 50 764 276|149 5 3NO-4 v3 400 89.1 14.9
63 107 6NN=  v5 1440 88.0 16.0| 12 42 54 0-1 7 50 764 27.6( 63 62 3NO-3 ¥3 300 87.0 17.0
67 103 6NN= &2 1440 88.0 16.0| 31 23 44 0-1 7 50 764 27.6| 87 89 2v N+2 46 170 849 19.1
92 78 6NN=  v5 1440 88.0 16.0| 36 18 54 0-1 7 50 764 276| 1 53 3vN= 46 140 82.7 21.3
98 72 6NN= v4 1440 880 16.0( 38 16 5#0-1 +7 50 764 276| 3 51 2¢vN= ¢4 110 785 255
100 70 6NN=  v3 1440 88.0 16.0| 44 10 54 0-1 7 50 764 27.6| 64 61 2v N=  ¢3 110 785 255
111 110 6NN= T 1440 88.0 16.0( 49 5 5#0-1 &A 50 76.4 27.6 (107 69 2v N= ¢2 110 785 255
2 50 64 N= ¢6 1430 62.6 41.4| 54 27 44 0-1 o7 50 764 276| 11 43 34 O-1 ¥3 100 721 319
7 45 64 S= &6 1430 62.6 41.4| 64 61 540-1 7 50 764 27.6| 34 20 24 V-1 &2 100 721 31.9
10 42 64 N= ¢9 1430 62.6 41.4| 66 110 44 0-1 7 50 764 27.6| 38 16 5¢ V-1 YA 100 721 319
38 14 64 N= &3 1430 62.6 41.4| 67 109 44 O-1 o7 50 764 276| 12 42 3v N-1 ¢2 -50 615 425
44 8 64 S= #4 1430 62.6 414|197 79 3v V-1 +A 50 764 27.6| 14 40 3v N-1 vK -50 615 425
47 5 64 S= &7 1430 62.6 414103 73 5#0-1 3 50 764 27.6| 31 23 3v N-1 ¢4 -50 615 425
48 4 64 N= +9 1430 62.6 41.4| 11 43 34 S-1 #A -100 594 446 67 109 3v N-1  ¢2 -50 615 425
68 102 64 N= ¢9 1430 62.6 41.4| 25 29 24 S-1 &T -100 594 446 77 99 3v N-1 ¢4 -50 615 425
69 101 64 N= ¢9 1430 62.6 414|150 4 34 N-1 3 -100 594 446 97 79 2v N-1  ¢2 -50 615 425
71 99 64 S= 49 1430 62.6 41.4|33 21 3#0= ¢7 -110 541 499101 75 3v N-1 ¢2 -50 615 425
84 86 64 N= v3 1430 62.6 41.4| 68 108 24 O+1 +¢7 -110 541 499 17 37 4v N-2 +¢2 -100 40.3 63.7
87 83 64 N= +9 1430 62.6 414 3 51 440= ¢7 -130 38.2 65.8( 24 30 3v N-2 ¢2 -100 40.3 63.7
11 41 6¢ S= vT 1370 478 56.2| 8 46 44 0= 4A -130 38.2 65.8( 26 28 3vDN-1 ¢2 -100 40.3 63.7
77 93 6 S= vT 1370 47.8 56.2| 17 37 44V= 2 -130 38.2 65.8( 32 22 3vyDN-1 ¢2 -100 40.3 63.7
28 24 3NN+3 &2 690 393 64.7| 26 28 32 O0+1 ¢7 -130 382 65.8( 39 15 3v N-2 +¢2 -100 40.3 63.7
25 27 5NN+1 2 690 393 64748 6 440= #4 -130 382 65850 4 3vN-2 ¢2 -100 40.3 63.7
51 1 3NN+3 v9 690 39.3 64.7| 65111 3 O0+1 ¢7 -130 38.2 65.8( 66 110 3v N-2 +¢2 -100 40.3 63.7
62 108 3NN+3 v5 690 39.3 64.7| 71105 3 O+1 ¢7 -130 38.2 65.8( 71105 3v N-2 ¢2 -100 40.3 63.7
88 82 3NN+3 5 690 393 64772104 44 0= o7 -130 38.2 65.8| 72104 3v N-2 ¢4 -100 40.3 63.7
89 81 4ANN+2 v7 690 39.3 64.7| 74102 3 O+1 +¢2 -130 38.2 658 78 98 3v N-2 +¢2 -100 40.3 63.7
49 3 44 N+2 9 680 255 785| 82 94 34 0+1 ¢7 -130 38.2 65.8( 82 94 3v N-2 ¢4 -100 40.3 63.7
61 109 44 N+2 9 680 255 785|833 93 34 O+1 45 -130 382 658 90 86 3v N-2 ¢2 -100 40.3 63.7
65 105 44 S+2 ¥T 680 255 785| 90 86 44 0= ¢7 -130 38.2 65.8( 92 84 3vyDN-1 ¢2 -100 40.3 63.7
91 79 44 N+2 9 680 255 785| 95 81 440= ¢7 -130 38.2 65.8| 68 108 3¢ V= &A -110 255 785
80 90 44 S+2 49 680 255 785| 78 98 44V +1l 45 -150 234 80.6( 7 47 4e V= &A -130 18.1 85.9
97 73 44 N+2 9 680 255 785107 69 3+ O+3 v4 -170 213 827 8 46 3¢ V+1 &2 -130 18.1 85.9
104 66 44 S+2 T 680 255 785( 24 30 2¢ N-2 YA -200 16.0 88.0( 36 18 4¢ V=  &A -130 18.1 85.9
75 95 3NS+ v2 660 17.0 87.0| 63 62 44 S-2 #A -200 16.0 88.0( 74 102 3¢ V+1 YA -130 18.1 85.9
94 76 4v N= &2 620 149 89.1( 87 89 44 N-2 &K -200 16.0 88.0(100 76 4¢ V= &A -130 18.1 85.9
6 46 64 N-1 v2 -100 85 955101 75 44 S-2 #A -200 16.0 88.0(103 73 4¢ V= YA -130 18.1 85.9
33 19 6NN-1 v7 -100 85 955100 76 5# 0= &2 -400 10.7 933( 35 19 4¢ V+1 ¢33 -150 85 955
35 17 64 N-1 #4 -100 85 955( 80 96 54 O0+1 &A -420 85 955( 44 10 3¢ V+2 YA -150 8.5 955
37 15 64 N-1 5 -100 85 955( 32 22 3¢DN-2 &K -500 54 98.6( 65111 4v N-3 ¢4 -150 8.5 955
54 26 64 N-1 v5 -100 85 955112 88 3¢DN-2 &3 -500 54 986|800 96 4vyDN-2 ¢2 -300 43 99.7
53 52 4vy N-2 T -200 111029 35 19 54D O= oA -550 221018 95 81 4vDN-3 3 -500 2.2 101.8
74 96 6NN-2 v2 -200 111029 34 20 4¢DN-3 «K -800 0.1 103.9( 25 29 5vDN-5 &7 -1100 0.1 103.9
- 39 540 41 - 51.1 41 - 51.1
64 - 47.3 70 - 55.0 70 - 55.0
12 - 45.7 91 - 56.0 91 - 56.0
55 « KD109763 56 41062 57 « DKn1093
Syd v Kn6 Vast v973 Nord v 383
Alla ¢ E Ingen + K872 ov ¢ EKKn2
#653 *KD4 #E10
+E 4 Kn82 483 « ED9754 # 542 « K86
v EK98 v D75432 vEKD1062 ¥Kn8 v 95 vEK
¢ D32 ¢ 1075 ¢E3 ¢ Kn1095 ¢+ D1086 ¢ 9754
#D10874 «2 #982 «10 #9732  #Kn654
454 & KKn aE7
v10 v54 v DKn107642
¢ KKn9864 ¢ D64 *3
#EKKn9 #EKNn7653 *KD8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
100 74 2#DV-4 ¢A 1100 1039 0.1| 36 20 5¢ V-7 &K 350 1039 0.1|38 20 2¢DV-4 «Q 1100 1039 0.1
15 41 44DN= &2 790 1008 3.2| 96 78 3#S= YA 110 101.8 22| 70 110 44D N+1 #3 690 1018 22
27 29 44DN= &2 790 1008 3.2| 32 24 4vV-2 &K 100 986 54| 1 4 3NS+2 ¢4 460 976 6.4
86 88 44 N+2 &2 680 97.6 6.4]100 74 4v V-2 &K 100 98.6 54|46 12 3NN+2 ¢4 460 976 6.4
26 30 44 N+1 &2 650 88.0 16.0( 2 1 440-1 A 50 87.0 17.0( 52 6 3NN+2 &5 460 97.6 6.4
32 24 44 N+1 &2 650 88.0 16.0| 15 41 5v V-1 &K 50 87.0 17.0| 3 2 4v S+l &2 450 52.0 52.0
33 23 44 N+1 &2 650 88.0 16.0| 18 38 4v O-1 +¢2 50 87.0 17.0| 5 53 4v S+1 +¢38 450 52.0 52.0
45 11 44 N+1 &2 650 88.0 16.0| 27 29 4v V-1 &K 50 87.0 17.0| 9 49 4v S+1 +6 450 52.0 52.0
50 6 44 N+1 &2 650 88.0 16.0| 62 61 4v V-1 #K 50 87.0 17.0| 10 48 54 N= vA 450 52.0 52.0
66 108 44 N+1 &2 650 88.0 16.0| 77 97 4v V-1 &K 50 87.0 17.0| 14 44 4v S+1 &9 450 52.0 52.0
67 107 44 N+1 42 650 88.0 16.0| 79 95 4v V-1 &K 50 87.0 17.0| 16 42 4v S+1 +8 450 52.0 52.0
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90 84 44 N+1 ¢4 650 88.0 16.0| 81 93 4v V-1 #Q 50 87.0 17.0| 19 39 4v S+1 &3 450 52.0 52.0
8 48 44 N= &2 620 721 319( 82 92 44 O-1 A 50 87.0 17.0| 26 32 4v S+1 &2 450 52.0 52.0
25 31 44 N= &2 620 72.1 319| 12 44 34S-1 ©vA 50 753 28.7| 28 30 4v N+1 43 450 52.0 52.0
64 110 44 N= &2 620 721 31.9| 73101 44 S-1 48 50 753 28.7| 34 24 4v S+1 #9 450 52.0 52.0
70 104 44 N= 43 620 721 31.9| 70 104 2v V= 43 -110 711 329( 35 23 5vN= YA 450 52.0 52.0
94 80 44 N= &2 620 72.1 319| 86 88 2v V= v3 110 711 32.9| 36 22 4y S+1 43 450 52.0 52.0
96 78 44 N= &2 620 721 319| 34 22 3v V= &K -140 594 446 37 21 4v S+1 T 450 52.0 52.0
102 72 44 N= &2 620 721 319| 35 21 2vV+1l ¢4 -140 594 446 40 18 4v S+1 ¢33 450 52.0 52.0
34 22 24DV -2 +A 500 63.7 403| 39 17 3v V= *K -140 594 446 41 17 4v S+1 v5 450 52.0 52.0
35 21 34 N+2 &2 200 56.2 47.8| 45 11 2v V+1 &Q -140 594 446( 43 15 4v S+1 v3 450 52.0 52.0
40 16 34 N+2 &2 200 56.2 47.8| 50 6 3vV= *K -140 594 446 47 11 4v S+1 +8 450 52.0 52.0
51 5 34 N+2 &5 200 56.2 47.8| 54 28 3v V= *K -140 594 446( 50 8 4vy S+1 v9 450 52.0 52.0
54 28 5vDO-1 #A 200 56.2 47.8| 63 111 3v V= &K -140 594 446( 51 7 4v S+l 6 450 52.0 52.0
69 105 24 N+3 &5 200 56.2 47.8| 66 108 2v V+1 &K -140 594 44.6| 54 29 4v S+1 43 450 52.0 52.0
77 97 34 N+2 42 200 56.2 47.8| 69 105 3v V= *K -140 594 446| 65 64 4y S+1 42 450 52.0 52.0
12 44 24 N+2 &2 170 446 59.4| 33 23 3v V+l &K -170 435 605| 66 63 4v S+1 8 450 52.0 52.0
46 10 34 N+1 &2 170 446 59.4| 40 16 3v V+1 &K -170 435 60.5| 68 61 4y S+1 &7 450 52.0 52.0
76 98 34 N+1 &2 170 446 59.4| 76 98 34 O+1 v5 -170 435 60.5| 69 111 4y S+1 &7 450 52.0 52.0
79 95 34 N+1 42 170 446 59.4| 91 83 3v V+1 &K -170 435 60.5| 72108 4y S+1 v¥9 450 52.0 52.0
91 83 34 N+1 42 170 446 59.4| 94 80 34 V+1 &K -170 435 60.5| 73 107 4y S+1 43 450 52.0 52.0
39 17 24 N+1 &2 140 37.2 66.8|112 87 3v V+1 &K -170 435 605( 76 104 4v S+1 6 450 52.0 52.0
73 101 34 N= &2 140 37.2 66.8| 46 10 34 O+2 &A -200 34.0 70.0( 79 101 4y S+1 42 450 52.0 52.0
99 75 5v V-1 46 100 340 70.0| 90 84 3v O+2 46 -200 34.0 70.0| 80 100 4v S+1 ¥9 450 52.0 52.0
9 47 44 N-1 &2 -100 234 80.6( 99 75 3vV+2 &K -200 34.0 70.0( 82 98 4y S+1 43 450 52.0 52.0
18 38 44 N-1 v3 -100 234 80.6| 4 52 4v V= &K -420 21.3 82.7| 84 96 4v S+1 43 450 52.0 52.0
37 19 44 N-1 &2 -100 234 80.6( 25 31 4v V= *K -420 213 827( 89 91 4v S+1 +8 450 52.0 52.0
49 7 34 N-1 vT -100 234 80.6( 26 30 4v V= *K -420 21.3 827 92 88 4y S+1 a2 450 52.0 52.0
53 3 44 N-1 &2 -100 234 80.6( 37 19 44 O= #A -420 21.3 82.7| 93 87 4vy N+1 9 450 52.0 52.0
62 61 44 N-1 &2 -100 234 80.6( 49 7 4v V= *7 -420 213 827( 94 86 4v S+1 +8 450 52.0 52.0
81 93 44 N-1 42 -100 234 80.6( 51 5 4v V= *K -420  21.3 82.7| 99 81 4y S+1 &7 450 52.0 52.0
82 92 44 N-1 &2 -100 234 80.6| 64 110 4v V= &K -420 21.3 82.7(102 78 4v S+1 6 450 52.0 52.0
112 87 44 N-1 &2 -100 234 80.6| 65109 4v V= *K -420 21.3 827(105 75 4v S+1 +6 450 52.0 52.0
4 52 54DN-1 %6 -200 10.7 93.3| 71 103 4v V= *K -420 21.3 82.7(109 71 4v S+1 ¢5 450 52.0 52.0
65 109 44 N-2 &2 -200 10.7 933| 8 48 4y V+l K -450 54 986|112 90 4v S+1 v9 450 52.0 52.0
71 103 44DN-1 %2 -200 10.7 933 9 47 4v O+1 &K -450 54 98.6(103 77 3NS+1 &3 430 8.5 955
2 1 54DN-2 %6 -500 54 986 42 14 4vV+l &K -450 54 986 27 31 44 N= &5 420 6.4 976
63 111 54DN-2 #3 -500 54 98653 3 4vV+l K -450 54 986 67 62 2v S+3 #8 200 43 99.7
36 20 5vDO= &5 -850 1.1 1029| 67 107 4v V+1 &K -450 54 986( 97 83 6vS-1 v9 -50 2.2 101.8
42 14 5vDO= 5 -850 1.1 1029102 72 44 O+1 #A -450 54 98633 25 6vDN-1 vK -100 0.1 103.9
- 43 58.2 - 43 58.2 - 45 52.7
89 - 63.7 89 - 63.7 74 - 40.4
- 68 54.4 - 68 54.4 - 95 445
58 4532 59 « Kn83 60 # 107542
Ost v2 Syd v Kn52 Vast v D105
Alla 4 K9843 Ingen + D106 NS ¢ 65
#Kn843 #8763 »752
~KKn96 4 E87 » K96 «ED5 4« KD93 4 Kn86
v EKn8 v K10643 vK104 vED87 vEKNn972 v8643
*7 ¢ DKn ¢ EK984 ¢ Kn7 ¢ 842 + K9
#K10765 #E92 #E10 #DKn95 &4 #Kn1086
D104 « 10742 +E
v D975 v 963 vK
¢ E10652 ¢ 532 ¢ EDKn1073
D *K42 #EKD93
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
43 15 4vy N= &3 620 1039 0.1|27 33 7NO-3 3 150 1039 0.1|83 95 5vDV-5 ¢6 1100 1039 0.1
34 24 3NDO-2 ¢2 500 101.8 22| 2 5 6NV-2 46 100 1018 22| 2 5 5¢vDV-4 +6 800 100.7 3.3
9 49 4v0-3 #Q 300 98.6 54|35 25 7TNV-1 &8 50 96.5 7.5|102 76 5vDV-4 46 800 100.7 3.3
105 75 44 V-3 v2 300 98.6 54|36 24 6NV-1 &3 50 96.5 75|29 31 3NS+2 ¢2 660 974 6.6
19 39 3NO-2 +¢5 200 859 18.1| 39 21 640-1 2 50 96.5 75| 27 33 5¢ S= *4 600 93.1 10.9
33 25 4v0O-2 #Q 200 859 18.1| 54 30 6NV-1 8 50 965 75|39 21 54N=  v3 600 93.1 10.9
35 23 4v0-2 #Q 200 859 18.1| 42 18 3NV +3 43 -490 87.0 17.0( 79 99 5¢ S= &4 600 93.1 10.9
40 18 3NO-2 3 200 859 18.1| 48 12 3NV +3 6 -490 87.0 17.0( 42 18 5vDO-3 #A 500 88.8 15.2
52 6 4v O-2 A 200 859 18.1| 65 62 3NV+3 vJ -490 87.0 17.0( 51 9 5v V-4 46 200 86.6 17.4
70 110 4v O-2 #Q 200 859 18.1| 92 86 3NV +3 &8 -490 87.0 17.0( 37 23 3¢ S+1 &5 130 823 21.7
79101 4v O-2 #Q 200 859 18.1|104 74 3NO+3 &2 -490 87.0 17.0| 66 61 4¢ S= vA 130 823 21.7
89 91 3NO-2 5 200 859 181 4 3 6NO= &4 -990 50.9 53.1(104 74 3¢ N+1 46 130 823 21.7
102 78 2NO-2 5 200 859 181 6 1 6NO= 48 -990 50.9 53.1| 91 87 3¢ S= &4 110 78.0 26.0
112 90 4v O-2 <A 200 859 18.1| 10 50 6NV = *8 -990 50.9 53.1| 75103 3v V-2 5 100 747 29.3
1 4 4e V-1 v2 100 54.1 49.9| 11 49 6NV= »6 990 50.9 53.1| 78100 3v V-2 +¢6 100 747 29.3
3 2 4v0-1 £Q 100 541 499| 14 46 6NV= a2 990 509 531 4 3 5#S-1 &K -100 52.0 52.0
10 48 4v O-1 ¢3 100 54.1 49.9| 15 45 6NV = *6 990 509 531 6 1 5¢S-1 ©vA -100 52.0 52.0
14 44 49 O-1 <A 100 541 499 17 43 6NO= &2 -990 50.9 53.1( 10 50 64 N-1 ¢5 -100 52.0 52.0
16 42 4v O-1 Q 100 541 499| 20 40 6NO= &3 -990 50.9 53.1( 11 49 5#S-1 &K -100 52.0 52.0
26 32 4v O0-1 £Q 100 54.1 49.9| 28 32 6NO= &4 -990 509 531 17 43 5¢ S-1 ©vA -100 52.0 52.0
47 11 3NV-1 2 100 541 499| 29 31 6NO= v2 -990 50.9 53.1( 35 25 5#N-1 v5 -100 52.0 52.0
50 8 4v0-1 £Q 100 54.1 49.9| 34 26 6NV= v2 -990 50.9 53.1(38 22 3NN-1 v4 -100 52.0 52.0
51 7 4v V-1 &T 100 54.1 49.9| 38 22 6NV= 43 -990 509 53.1| 54 30 5¢ S-1 ©vA -100 52.0 52.0
65 64 4v O-1 £Q 100 54.1 49.9| 41 19 6NV= 48 -990 50.9 531( 64 63 5¢ S-1 YA -100 52.0 52.0
66 63 4v O-1 &4 100 541 499|51 9 6NV= 48 -990 50.9 53.1( 67 111 54 N-1 v4 -100 52.0 52.0
72 108 5v O-1 #Q 100 541 49952 8 6NO= ¢3 -990 509 53.1| 68 110 5¢ S-1 vA -100 52.0 52.0
73107 4v O-1 +A 100 541 499| 53 7 6NV= *J -990 50.9 53.1( 73105 5¢ S-1 &K -100 52.0 52.0
76 104 4v O-1 £Q 100 541 49.9| 64 63 6NV= 8 -990 50.9 53.1( 81 97 5¢ S-1 &K -100 52.0 52.0
82 98 4v O-1 #Q 100 54.1 49.9| 66 61 6NV= 43 -990 50.9 53.1( 84 94 5¢ N-1 &J -100 52.0 52.0
84 96 4v O-1 £Q 100 54.1 49.9| 67 111 6NV = »7 -990 50.9 531|838 90 5#S-1 YA -100 52.0 52.0
93 87 4v 0O-1 £Q 100 54.1 49.9| 69 109 6NV = 43 -990 50.9 53.1( 92 86 5¢ S-1 &) -100 52.0 52.0
94 86 3NO-1 5 100 54.1 49.9| 71107 6NO= &4 -990 509 53.1| 96 82 5¢ S-1 &K -100 52.0 52.0
97 83 4v O-1 £Q 100 54.1 49.9| 78 100 6NO = #8 -990 50.9 53.1( 98 80 5¢ S-1 #4 -100 52.0 52.0
103 77 3NO-1 2 100 541 49.9| 79 99 6NV= &5 -990 50.9 53.1(112 89 5#N-1 v8 -100 52.0 52.0
28 30 3v O+1 £Q -170  30.8 73.2| 81 97 6NV= &7 -990 50.9 53.1| 14 46 64 N-2 8 -200 174 86.6
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109 71 3v O+1 ¢2 -170 30.8 73.2| 83 95 6NV = »8 -990 509 53.1| 15 45 6#N-2 v6 -200 17.4 86.6
5 53 3¢DS-1 vA -200 27.6 76.4( 88 90 6NV= *8 -990 509 531| 20 40 6¢ S-2 YA -200 17.4 86.6
27 31 4v 0= #Q -620 16.0 88.0| 96 82 6NO= +5 -990 509 531| 34 26 64 N-2 v6 -200 174 86.6
36 22 4v 0= &Q -620 16.0 88.0| 98 80 6NV = »8 -990 509 53.1| 36 24 64 S-2 &4 -200 17.4 86.6
37 21 4v 0= #Q -620 16.0 88.0(108 70 6NO = a2 -990 509 53.1| 41 19 5¢ S-2 &4 -200 17.4 86.6
38 20 4v O= #Q -620 16.0 88.0| 44 16 6NV +1 &8 -1020 117 92.3| 44 16 5¢ S-2 &4 -200 174 86.6
41 17 49 O= +A -620 16.0 88.0| 68 110 6NV +1 &8 -1020 11.7 92.3| 48 12 64 S-2 4K -200 17.4 86.6
54 29 4v O= #Q -620 16.0 88.0| 73 105 6NV +1 &7 -1020 11.7 923| 52 8 6#S-2 &K -200 17.4 86.6
68 61 4v O= #Q -620 16.0 88.0| 75103 6NV +1 &6 -1020 11.7 923 53 7 5¢ S-2 %4 -200 174 86.6
69 111 4v O= #Q -620 16.0 88.0| 84 94 6NV +1 &9 -1020 11.7 92.3| 69 109 54D N-1 ¢3 -200 17.4 86.6
92 88 4v O= #Q -620 16.0 88.0| 91 87 6NV +1 &8 -1020 11.7 92.3| 71 107 6¢ S-2 &K -200 17.4 86.6
99 81 4v O= #Q -620 16.0 88.0|101 77 6NV +1 &8 -1020 11.7 92.3|101 77 54#DS-1 «K -200 17.4 86.6
46 12 4v O+1 44 -650 3.2 100.8|102 76 6NV +1 %8 -1020 11.7 92.3| 65 62 64 S-3 YA -300 2.2 101.8
67 62 4vy O+1 ¢A -650 3.2 100.8| 37 23 7NV= *6 -1520 1.1 102.9 (108 70 6#DN-2 v4 -500 0.1 103.9
80 100 5¢DS-3 v7 -800 0.1 103.9|112 89 7NV = *6 -1520 1.1 1029 47 - 59.7
- 45 52.7| 47 - 59.7 72 - 46.5
74 - 40.4 72 - 46.5 93 - 51.8
- 95 445 93 - 51.8 28 32 A-/A- 416 416
61 « K764 62 «E4 63 10654
Nord vE Ost v 10932 Syd v 874
Alla + Kn10874 Ingen ¢ 643 NS ¢+ Kn7
#DKn9 #E973 #8654
+E 4 Kn1098 4 DKn102 #8765 « EKD872 &Kn
vKn1075 vK9832 vEKn74 v65 v KD95 vKn3
¢ E96 +D + KD98 +5 +98 + ED10642
#E8643 #K102 +Kn #K86542 «10 #KDKn2
« D532 4 K93 493
vD64 vKD8 vE1062
¢ K532 ¢ EKn1072 + K53
&75 D10 &E973
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
16 46 24 N+1 &) 140 1028 1.2| 84 100 44D O -3 49 500 102.8 12| 67 64 3NO-1 #2 50 101.7 23
68 65 24 S+1 43 140 1028 12| 96 88 24DV -3 4A 500 102.8 1.2| 81101 64 V-1 &6 50 1017 23
45 17 4v O-1 3 100 96.2 7.8| 42 20 2¢vDO-2 42 300 995 45|104 78 3#0-1 ©vA 50 101.7 23
70 63 4v O-1 &3 100 96.2 7.8| 18 44 24 V-3 aA 150 973 67| 4 7 3NO= v6 -400 929 111
72 61 5v O-1 2 100 96.2 7.8| 45 17 INS+1 &Q 120 940 100| 36 28 3NO= v2 -400 929 111
104 80 4v O-1 &7 100 96.2 7.8(111 73 2NN= +Q 120 94.0 10.0| 80 102 3NO = v2 -400 929 111
48 14 Pass 90.6 13.4| 30 32 2vS= *] 110 90.6 13.4| 83 99 3NO= v6 -400 929 111
37 25 24 S-1 vl -100 85.1 189 7 2 34V-2 aA 100 84.0 20.0| 98 84 3NO= v5 -400 929 111
39 23 24 S-1 vJ -100 85.1 18.9| 11 51 3#0-2 +A 100 840 20.0| 12 52 4e V= +*J -420 84.0 20.0
52 10 34 S-1 vJ -100 85.1 18.9| 40 22 34 0-2 T 100 84.0 20.0| 30 34 4a4 V= v3 -420 84.0 20.0
82 102 24 S-1 #A -100 85.1 189| 94 90 44 O-2 £Q 100 840 20.0| 90 92 4e V= *J -420 84.0 20.0
38 24 34V= a7 -110 79.6 244|104 80 3NV-2 T 100 840 20.0| 22 42 3NO+1 &7 -430 68.6 354
53 9 2&V+2 ¢J -130 774 266| 29 33 INS= 2 90 719 321| 37 27 3NO+1 v6 -430 68.6 354
3 6 3vO= 43 -140 741 299 37 25 INS= v4 90 719 321|138 26 ANO+1 43 -430 68.6 354
11 51 2¢vV+1 ¢ -140 741 299| 38 24 INS= v5 90 719 321|139 25 3NO+1 v6 -430 68.6 354
7 2 3vO+1 2 -170 60.8 43.2| 43 19 INS= 4Q 90 719 321| 50 14 3NO+1 2 -430 68.6 354
12 50 2v O+2 +¢3 -170 60.8 43.2| 68 65 INS= *Q 90 719 321|54 32 3NO+1 ¥2 -430 68.6 354
21 41 3vO+1 3 -170 60.8 432| 71 62 INS= +Q 90 719 321| 66 65 3NO+1 2 -430 68.6 354
30 32 3v O+1 43 -170 60.8 43.2| 52 10 24 O-1 43 50 60.8 43.2| 74108 BNO+1 2 -430 68.6 354
36 26 2y O+2 &7 -170  60.8 432 70 63 2v V-1 4A 50 60.8 43.2| 75107 3NO+1 ¥2 -430 68.6 354
67 66 3v O+1 a2 -170 60.8 43.2|107 77 24 O-1 ¢K 50 60.8 43.2| 86 96 3NO+1 &7 -430 68.6 354
69 64 3v O+1 ¢3 -170 60.8 432|112 92 34 O-1 &Q 50 60.8 43.2| 94 88 3NO+1 2 -430 68.6 354
71 62 1v O+3 a2 -170 60.8 432 3 6 34 S-1 «Q -50 48.7 553| 1 10 44 V+1 &5 -450 43.2 60.8
101 83 2v O+2 &7 -170  60.8 432 28 34 3¢ S-1 4Q -50 48.7 553| 8 3 44 V+l &8 -450 43.2 60.8
111 73 2v O+2 ¢2 -170 60.8 43.2| 39 23 INS-1 «Q -50 48.7 55.3| 16 48 44 V+1 7 -450 43.2 60.8
84 100 24DN-1 &A -200 476 56.4| 48 14 2NS-1 #J -50 48.7 55.3| 17 47 44 V+1 v4 -450 43.2 60.8
96 88 2v V+3 ¢J -200 476 56.4| 69 64 INS-1 4Q -50 48.7 55.3| 31 33 44 V+1l 7 -450 43.2 60.8
18 44 24 S-3 +Q -300 443 59.7| 86 98 3¢ S-1 4Q -50 48.7 55.3| 41 23 44 V+1 &5 -450 43.2 60.8
94 90 24 S-4 vl 400 421 619|191 93 2NS-1 «Q -50 48.7 55.3| 44 20 44 V+1 &8 -450 43.2 60.8
1 8 4v V= *J -620 26.6 77.4| 15 47 INS-2 4Q -100 321 71.9| 53 11 44 V+1 &5 -450 43.2 60.8
15 47 4v O= v6 -620 26.6 77.4| 36 26 3v N-2 ¢5 -100 321 71.9| 68 63 44 V+1 v4 -450 43.2 60.8
28 34 4v O= 3 -620 26.6 77.4| 67 66 3vyDN-1 45 -100 321 71.9| 69 62 44 V+1 v4 -450 43.2 60.8
35 27 4v O= 43 -620 26.6 77.4| 72 61 3v N-2 45 -100 321 719| 71 111 44 V+1 ¥8 -450 43.2 60.8
40 22 4v V= +J -620 26.6 77.4| 76 108 2NS-2 4Q -100 321 71.9| 93 89 44 V+1 w7 -450 43.2 60.8
42 20 4v O= 3 -620 26.6 77.4| 82 102 INS-2 &A -100 321 71.9( 29 35 3NO+2 2 -460 21.1 829
43 19 4v O= ¢3 -620 26.6 774|101 83 3¢ S-2 &J -100 321 719| 40 24 3NO+2 v6 -460 21.1 829
54 31 49y O= &5 -620 26.6 774|105 79 INS-2 4Q -100 321 719| 46 18 3NO+2 ¢2 -460 21.1 829
86 98 4v V= +J -620 266 774| 1 8 3NS-3 «Q -150 16.7 87.3| 49 15 3NV+2 v2 -460 21.1 829
91 93 4v O= a3 -620 26.6 77.4| 16 46 3NS-3 4Q -150 16.7 87.3| 73109 3NO+2 &3 -460 21.1 829
105 79 4v O= 43 -620 26.6 77453 9 3NS-3 4Q -150 16.7 87.3|100 82 3NV+2 ¢6 -460 21.1 829
107 77 4v O= 3 -620 26.6 77.4| 74 110 3NS-3 4Q -150 16.7 87.3(103 79 3NO+2 v2 -460 21.1 829
112 92 4v O=  ¢3 -620 26.6 77.4| 81103 3NS-3 4Q -150 16.7 87.3(112 91 3NO+2 &7 -460 21.1 829
29 33 4v O+1 ¢J -650 56 984| 95 89 3#N-3 +¢5 -150 16.7 87.3| 19 45 44 V+2 ¢ -480 8.9 951
74 110 4v O+1 2 -650 56 984| 35 27 3NS-4 «Q -200 6.7 973 70 61 44 V+2 ¢ -480 8.9 951
75109 4v O+1 49 -650 56 98454 31 3#N-4 ¢9 -200 6.7 97.3( 77 105 44 V+2 &5 -480 89 951
76 108 4v O+1 ¢3 -650 56 984| 75109 3NS-4 «Q -200 6.7 97.3[ 43 21 5NO+1 &7 -490 3.4 100.6
81 103 4v V+1 T -650 56 984 | 21 41 3NDN-2 #5 -300 2.3 101.7 (110 72 3NO+3 ¥6 -490 3.4 100.6
95 89 4v O+1 ¢2 -650 56 984 12 50 24DO= <A -470 0.1 1039| 2 9 INRDS-34A -1600 0.1 103.9
49 - 51.7 49 - 51.7 - 51 39.8
78 - 30.8 78 - 30.8 - 97 57.0
9 - 40.0 9 - 40.0 - 76 49.3
5 4 A-/A+ 416 624 5 4 A-/A+ 416 624 6 5 A+/A- 62.4 41.6
87 97 A-/A+ 416 624 87 97 A-/A+ 416 624 95 87 A+/IA- 624 41.6
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64 « EK8642 65 #9865 66 «EDS
Vast v4 Nord v D53 Ost v EKn1074
oV + 10964 Ingen ¢ KD8 NS ¢ Kn8
#E2 #EDKn #Kn42
4DKnl1093 &7 4EK10 4DKn43 4 Kn9432 41087
vED95 v 10763 vKn94  vK7 vKD853 v6
¢+D ¢ 872 ¢ E93 ¢ 7654 +5 ¢ KD109632
#853 #K9764 #K1074 %653 #83 +106
a5 472 K6
v KKn82 v E10862 v 92
¢ EKKn53 ¢ Kn102 ¢E74
#DKn10 #982 #EKD975
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 47 3vRDV-3&#A 1600 1039 01|50 16 2¢vDS= &K 470 1039 01| 3 10 6NS= 42 1440 101.7 23
46 18 66 S= vA 920 1017 23| 41 25 INS+2 &K 150 100.6 3.4| 50 16 6NS= vQ 1440 1017 23
2 9 1aDV-3 v6 800 96.2 7.8 93 95 24 O-3 8 150 100.6 3.4| 84 104 6NS= 5 1440 101.7 23
31 33 14DV-3 ¥3 800 96.2 7.8| 44 22 2v S+1 v4 140 91.8 12.3| 38 28 6Yy N= ¢K 1430 97.3 6.7
43 21 2vDV-3 #A 800 96.2 7.8 45 21 2v N+l ¢4 140 918 123| 1 12 6#S= ¢5 1370 91.8 12.3
104 78 14DV -3 v4 800 96.2 7.8| 54 33 2¢vN+1 «Q 140 91.8 123| 72 65 64#S= ¢5 1370 91.8 12.3
1 10 1aDV-2 v4 500 79.6 24.4| 84104 2v N+1 v3 140 91.8 123| 77111 6#S=  ¢7 1370 91.8 12.3
36 28 14aDV-2 v4 500 79.6 244189 99 2v S+1 v4 140 91.8 123| 89 99 6#S= ¢5 1370 91.8 12.3
39 25 1aDV-2 v4 500 79.6 244198 90 2v N+1 «Q 140 91.8 123| 42 24 5¢DO-4 A 800 86.2 17.8
41 23 2#DO-2 ¢«A 500 796 244| 1 12 2vN= «Q 110 752 28.8| 97 91 3NS+4 v3 720 84.0 20.0
54 32 14DV-2 v4 500 79.6 24.4| 18 48 2vN= «Q 110 752 28.8| 23 43 3NS+3 +vK 690 741 29.9
66 65 1laDV-2 v4 500 79.6 244120 46 2v N= 43 110 752 28.8| 47 19 3NS+3 &3 690 741 29.9
68 63 1aDV-2 v4 500 79.6 24.4| 38 28 2v S= 4K 110 752 28.8| 54 33 3NN+3 &T 690 741 29.9
81 101 2#DO-2 +K 500 79.6 244|139 27 2vN= «Q 110 752 28.8| 69 68 3NS+3 ¢5 690 741 29.9
83 99 1aDV-2 v4 500 79.6 2441 42 24 2v N= 43 110 752 28.8| 88 100 3NS+3 &3 690 741 29.9
98 84 2vDV-2 v4 500 79.6 244|169 68 2v N=  ¢7 110 752 28.8| 96 92 4ANS+2 45 690 741 29.9
100 82 2vyDV-2 #A 500 79.6 244 77 111 2v S=  &A 110 75.2 28.8(107 81 3NS+3 &3 690 741 29.9
29 35 3NN+2 3 460 66.4 37.6(107 81 2¢v N= 4] 110 752 28.8(109 79 3NS+3 45 690 74.1 29.9
30 34 3NN= «Q 400 575 465| 3 10 24 O-2 +¢J 100 58.6 454| 2 11 3NS+2 45 660 49.8 54.2
37 27 5¢ S= «Q 400 575 465| 7 6 240-2 +¢J 100 58.6 454 9 4 3NS+2 45 660 49.8 54.2
49 15 5¢ S= «Q 400 575 465| 32 34 24 O-2 &2 100 58.6 4541 20 46 3NS+2 +¢3 660 49.8 54.2
67 64 5¢ S= &5 400 575 465| 73 64 24 O-2 &2 100 58.6 454 | 30 36 3NS+2 45 660 49.8 54.2
86 96 5¢ S=  &T 400 575 46.5| 96 92 24DO-1 ¢J 100 58.6 454 | 31 35 3NS+2 45 660 49.8 54.2
110 72 5¢ S= «Q 400 575 465109 79 34 O-2 &2 100 58.6 45.4| 39 27 3NS+2 +¢6 660 49.8 54.2
112 91 3NN= &4 400 575 465| 40 26 INN= &4 90 509 53.1| 41 25 3NS+2 vK 660 49.8 54.2
50 14 INN+4 #4 210 48.7 553| 9 4 24 0-1 ¢J 50 421 619| 51 15 3NN+2 +¢K 660 49.8 54.2
4 7 2vV-2 #A 200 443 59.7| 17 49 INV-1 a5 50 421 619| 62 75 3NN+2 9 660 49.8 54.2
19 45 24DO-1 ¢A 200 443 59.7| 30 36 INV-1 a4 50 42.1 619| 70 67 3NN+2 K 660 49.8 54.2
38 26 2#DO-1 ¢K 200 443 59.7| 70 67 24 O-1 ¢J 50 421 619| 73 64 3NS+2 a3 660 49.8 54.2
71 111 4¢ S+1  vA 150 38.8 653 72 65 INV-1 &5 50 421 619| 76 61 3NN+2 3 660 49.8 54.2
73 109 2¢ N+3 a7 150 38.8 65.3| 80 108 24 O-1 &9 50 42.1 619| 80108 3NS+2 6 660 49.8 54.2
74 108 3¢ S+1 «Q 130 343 69.7| 83105 INV-1 ¢3 50 42.1 61.9]| 98 90 3NS+2 5 660 49.8 54.2
103 79 3¢ S+1 «Q 130 343 69.7]| 14 52 6NN-1 K -50 288 75245 21 4¢vyN+1 ¢Q 650 321 719
75 107 24 N=  v6 110 31.0 73.0| 31 35 3v N-1 &4 -50 28.8 75.2| 86 102 4y N+1 K 650 321 719
8 3 5¢S-1 4Q 50 244 79.6| 47 19 INN-1 a7 -50 288 752| 7 6 5SS+l 5 620 21.1 829
69 62 3NS-1 «Q 50 244 79.6| 51 15 INS-1 &7 -50 288 752| 18 48 4y N= K 620 21.1 829
80 102 3NN-1 #6 50 244 79.6| 62 75 INS-1 %4 -50 288 752| 32 34 54S+1 5 620 21.1 829
90 92 34 N-1 +38 50 244 796| 2 11 INV= K 90 145 895| 37 29 54S+1 5 620 21.1 829
94 88 3NN-1 &4 50 244 796| 71 66 INV= 46 90 145 895| 44 22 4vy N= K 620 21.1 829
16 48 3NS-2 «Q -100 145 895( 74 63 INV= = &J 90 145 895| 71 66 5#S+1 5 620 21.1 829
22 42 3NS-2 «Q -100 145 895( 78 110 INV= = +8 90 145 895| 93 95 54S+1 5 620 21.1 829
70 61 64 S-2 «Q -100 145 895 86 102 INV= = 46 90 145 895|112 94 5#S+1 5 620 21.1 829
77 105 3NS-2 «Q -100 145 895 88 100 INV= v3 -90 145 89.5| 78 110 5¢ O-5 &#A 250 111 929
93 89 44 N-3 v7 -150 8.9 951(97 91 2¢ O= &2 90 145 895| 74 63 3vy N+1 K 170 8.9 95.1
40 24 3NN-4 #6 -200 45 995112 94 INV= 46 90 145 895| 14 52 6NN-1 ¢K -100 56 984
44 20 3NN-4 v6 -200 45 99537 29 INV+l K -120 34 1006 40 26 6NS-1 +¢5 -100 56 984
53 11 3NN-4 %6 -200 45 995(76 61 INO+1 &9 -120 3.4 1006 17 49 74DS-1 v6 -200 1.2 102.8
12 52 24D O +1 45 -380 0.1 103.9( 23 43 INV+2 +¢8 -150 0.1 103.9( 83 105 6NDS-1 +¢5 -200 1.2 102.8
- 51 398 - 53 46.1| - 53 46.1
- 97 57.0 (103 - 55.6 103 - 55.6
- 76 493 - 82 516| - 82 51.6
6 5 A+/A- 624 416|101 87 A+/A- 624 416|101 87 A+/IA- 624 41.6
95 87 A+/A- 624 416| 5 8 A-/A+ 416 624| 5 8 A-IA+ 416 624
67 #1054 68 « K1083 69 & KKn
Syd v EKn107 Vast v E96 Nord vD8
oV ¢ DKn863 Alla ¢ 963 NS +1098743
8 #Kn85 #Kn42
4 EKD93 4 Kn87 ~E7 & Kn52 « 1096 « E854
v 842 v 965 vKD108 532 vEKNn10432 v 965
¢K542  ¢E9 ¢ KD108 ¢ Kn7 ¢ Kn2 + KD6
&D #KKn654 »764 #ED1032 »E8 «D103
462 D964 4 D732
vKD3 vKn74 v K7
¢ 107 ¢ E542 ¢ ES5
#E109732 *K9 #K9765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
54 34 44DV-1 48 200 1039 0.1|108 78 3v V-2 a3 200 1039 01|79 62 24 S= &2 110 1039 0.1
14 1 34V-1 &8 100 97.3 6.7 61 74 1la N+1 v5 110 1017 23| 19 51 3v V-1 &J 50 98.2 5.8
48 20 44 V-1 &3 100 97.3 67| 8 7 INV-1 48 100 91.8 12.3| 32 38 4v V-1 T 50 98.2 5.8
52 16 3«4 V-1 ¢Q 100 97.3 6.7 15 53 3NO-1 46 100 91.8 123| 41 29 4v O-1 +A 50 98.2 5.8
71 64 44 V-1 &8 100 97.3 6.7 19 49 INO-1 &3 100 91.8 123|111 81 3v O-1 T 50 98.2 5.8
102 84 44 V-1 48 100 97.3 6.7 32 36 2NO-1 &3 100 91.8 123| 46 24 14 O= »6 -80 926 114
68 67 3¢ N-1 a7 -50 895 145| 38 30 2NO-1 46 100 91.8 123| 76 65 2v V= &2 -110 90.3 137
88 98 3¢ S-1 v5 -50 895 145| 39 29 INV-1 8 100 91.8 123| 54 35 2NO= &5 -120 88.1 15.9
79 107 3¢ N-2 a2 -100 86.2 17.8( 43 25 2v V-1 48 100 91.8 123| 3 14 3v V= &K -140 66.7 37.3
51 17 24 V= &4 -110 84.0 20.0( 92 94 INO-1 &4 100 91.8 123| 7 10 24 V+1 T -140 66.7 37.3
75111 INO+1 3 -120 81.8 222| 24 44 INN= &3 90 80.7 233| 11 6 2vV+1l &2 -140 66.7 37.3
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6 9 3aV= *3 -140 531 50.9( 42 26 INS= a4 90 80.7 23316 1 3v0O= +A -140 66.7 37.3
8 7 24V+1l e4 -140 531 50.9( 97 89 1lv V= &5 -80 774 26.6| 22 48 3v V= *T -140 66.7 37.3
15 53 34 V= 8 -140 531 509 3 12 INO= 3 90 542 49.8| 33 37 2v V+1 oK -140 66.7 37.3
18 50 34 V= v3 -140 531 509( 4 11 INV= 48 90 542 49.8| 39 31 2v V41l T -140 66.7 37.3
19 49 24 O+1 8 -140 531 509 6 9 INV= 48 -90 542 498| 40 30 3v V= 3 -140 66.7 37.3
24 44 24 V+1 48 -140 531 50.9| 18 50 INO= 4 90 542 49.8| 47 23 3v V= *T -140 66.7 37.3
31 37 3« V= 8 -140 531 50.9( 33 35 INV= 48 90 542 49.8| 49 21 2v V41l T -140 66.7 37.3
32 36 24 O+1 &8 -140 531 50.9( 40 28 INV= a2 90 542 49.8| 52 18 2y V+1 &2 -140 66.7 37.3
33 35 24 V+1 &8 -140 531 509 41 27 INV= 43 90 542 49.8| 74 67 2v V+1l &2 -140 66.7 37.3
42 26 24 V+1 &8 -140 531 50.9( 46 22 INV= 43 -90 542 49.8| 82 110 3v V= EN -140 66.7 37.3
43 25 3a V= *8 -140 531 509 51 17 INO= &4 -90 542 49.8| 90 102 2y V+1 &] -140 66.7 37.3
46 22 34 V= *8 -140 531 509 52 16 INV= 43 90 542 49.8| 91101 2y V+1 T -140 66.7 37.3
61 74 34 V= 8 -140 531 509( 69 66 INO= &4 90 54.2 49.8|103 89 2v V+1 T -140 66.7 37.3
69 66 24 V+1 48 -140 531 50.9( 70 65 INV= 48 -90 542 498|108 84 2y V+1 T -140 66.7 37.3
70 65 34 V= *8 -140 531 509( 71 64 INO= 46 90 542 49.8|109 83 34 V= *T -140 66.7 37.3
73 62 24 V+1 48 -140 531 509 76 110 INO= 46 90 542 498| 9 8 3vV+l &2 -170 30.6 73.4
77 109 34 V= 3 -140 531 509 82104 INO= &4 90 542 498| 15 2 3vV+l T -170  30.6 734
82 104 24 V+1 48 -140 53.1 50.9| 83 103 INV= 48 90 542 49.8| 20 50 3v O+1 ¥3 -170  30.6 734
92 94 24 V+1 48 -140 531 509( 96 90 INO= &4 -90 542 498| 44 26 2y V+2 &2 -170 30.6 73.4
96 90 24 O+1 %8 -140 53.1 50.9 (102 84 INV= a5 -90 542 49.8| 53 17 3vy V+1l &2 -170  30.6 734
97 89 34 V= *8 -140 53.1 50.9 (105 81 INV= 43 90 542 498| 64 77 29y V+2 +T -170  30.6 734
100 86 24 V+1 &8 -140 531 509112 93 INO= 46 90 542 49.8| 71 70 2v V+2 &2 -170 30.6 73.4
105 81 34 V= *8 -140 531 509 45 23 24 N-1 v5 -100 31.0 73.0( 72 69 3v O+1 T -170  30.6 734
108 78 24 V+1 &8 -140 531 509 14 1 3aV-= 43 -110 26.6 77.4( 75 66 2v V+2 42 -170  30.6 734
112 93 24 V+1 &8 -140 531 509 48 20 34 O= &3 -110 26,6 77.4| 78 63 2v V+2 45 -170 30.6 73.4
3 12 3#4S-3 4A -150 222 81.8| 73 62 2v V= 43 -110 266 77.4( 80 61 3vV+l T -170  30.6 734
41 27 3#S-3 4A -150 222 81.8| 31 37 INV+1l 9 -120 178 86.2| 88 104 2y V+2 T -170  30.6 734
76 110 INO+2 42 -150 222 81.8| 68 67 INV+1l &3 -120 178 86.2| 95 97 3v V+1 &K -170 30.6 73.4
4 11 24 V+2 48 -170 134 906 75111 INO+1 &4 -120  17.8 86.2(100 92 3v V+1 &2 -170  30.6 734
38 30 24 V+2 &8 -170 134 90.6( 79 107 INV+1l 8 -120 178 86.2| 42 28 3NO= 42 -400 125 915
45 23 34 V+1 &8 -170 134 90.6 (100 86 INO+1 &4 -120 178 86.2( 73 68 3NO= 6 -400 125 915
72 63 24 V+2 a5 -170 134 90.6( 88 98 INV+2 48 -150 10.0 94.0( 25 45 4v V= *T -420 4.6 99.4
83 103 34 V+1 48 -170 134 90.6( 95 91 INO+2 v4 -150 10.0 94.0( 34 36 4v V= *T -420 4.6 99.4
39 29 3#S-4 A -200 6.7 97.3| 21 47 INV+3 +6 -180 45 995( 43 27 4v V= &2 -420 4.6 99.4
40 28 3#DS-3 «A -500 45 995( 72 63 INV+3 +¢9 -180 45 995( 99 93 4v V= *T -420 4.6 99.4
21 47 4e V= 8 -620 121028 | 77 109 INV+3 3 -180 45 995112 96 4v V= *T -420 4.6 99.4
95 91 4e V= *8 -620 121028 54 34 3NV= *9 -600 0.1 1039 4 - 43.7
2 - 58.0 2 - 58.0 - 107 58.0
- 101 43.1 - 101 43.1| 8 - 57.8
- 80 46.7 - 80 46.7 105 87 A+/A- 624 41.6
10 5 A+/A- 624 416| 10 5 A+/A- 624 416| 5 12 A-/A+ 416 624
87 99 A-/A+ 416 624 87 99 A-/A+ 416 62.4| 98 94 A-IA- 416 416
70 3 71 4 KD102 72 # EKKn63
Ost v 75432 Syd v 85 Vast vE52
ov ¢ EKn853 Alla 46532 Ingen + Kn94
£96 *E86 #Kn8
« KD108 494 a4 «E876 485 4942
vD10 v KKn986 vKnl093 vD6 vK10987 ¥Kn63
¢ 109 ¢ K74 ¢ EKKn97 ¢ D8 ¢ KD1052 #8763
#DKn1074 #K52 #1097 #KDKn43 *6 #ED2
« EKn7652  Kn953 « D107
vE v EK742 vD4
¢ D62 + 104 ¢E
#E83 &52 #K1097543
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
52 18 24DS= vQ 470 1027 13| 47 25 34aDN= +A 730 1039 0.1| 54 36 5vDV-4 &A 800 1039 0.1
76 65 24DS= #Q 470 1027 13| 1 18 3NDO-2 5 500 1017 23| 1 18 44 N+2 &3 480 973 6.7
108 84 3NV-3 5 300 994 46| 8 11 2v V-2 oK 200 984 56| 21 51 44 N+2 &2 480 97.3 6.7
20 50 2NO-2 3 200 949 91|33 39 3NV-2 &K 200 98.4 56| 43 29 44 N+2 &7 480 97.3 6.7
82 110 3# V-2 &3 200 949 911|107 83 34 N= &K 140 95.1 89| 48 24 44 N+2 +¢8 480 973 6.7
109 83 3#V-2 a3 200 949 91| 48 24 2vS= &T 110 929 11.1| 53 19 44 N+2 o7 480 97.3 6.7
9 8 24S= vQ 110 88.1 159| 10 9 2NV-1 &K 100 86.2 17.8| 12 7 44 N+1 v3 450 87.3 16.7
22 48 24 S= vQ 110 88.1 159| 12 7 3¢ V-1 v8 100 86.2 17.8| 20 52 44 N+1 3 450 87.3 16.7
88 104 24 S= *Q 110 88.1 159| 45 27 5#0-1 vK 100 86.2 17.8| 40 32 44 N+1 v3 450 87.3 16.7
3 14 3v0O-1 2 100 83.6 20.4| 77 62 2¢ O-1 ¢4 100 86.2 17.8|107 83 44 N+1 8 450 87.3 16.7
11 6 1la S= *Q 80 779 26.1| 79 111 2NO-1 45 100 86.2 17.8| 4 15 3NN+1 v6 430 818 22.2
47 23 14 S= *Q 80 77.9 26.1| 89 101 24 O+1 vK -110 785 255 8 11 44 N= &2 420 68.6 35.4
91 101 1a S= *Q 80 77.9 26.1(108 82 3# 0= &5 -110 785 255( 10 9 44 N= a2 420 68.6 35.4
103 89 14 S= *9 80 779 261(17 2 3#0+1 vA -130 59.7 443| 34 38 44 N= v3 420 68.6 35.4
7 10 24 S-1  vQ -50 53.1 509| 35 37 4#0= YA -130 59.7 443| 35 37 44 N= v2 420 68.6 35.4
19 51 24 S-1 vQ -50 53.1 509| 41 31 32#0+1 vA -130 59.7 443 42 30 44 N= v2 420 68.6 35.4
25 45 24 S-1 &) -50 53.1 50.9| 42 30 3¢ V+1 ¥8 -130 59.7 443| 44 28 44 N= v3 420 68.6 35.4
32 38 24 S-1 vQ -50 53.1 50.9| 43 29 3¢ V+1 v8 -130 59.7 443 45 27 44 N= v3 420 68.6 35.4
33 37 24 S-1 vQ -50 53.1 50.9| 50 22 3¢ V+1 K -130 59.7 443 90 100 44 N=  v3 420 68.6 35.4
34 36 3¢ N-1 #3 -50 53.1 509|533 19 3#0+1 vA -130 59.7 443| 94 96 44 N= 42 420 68.6 35.4
39 31 24 S-1 «Q -50 53.1 509| 63 76 3O+l vA -130 59.7 443( 98 92 44 N= v] 420 68.6 35.4
43 27 34 S-1 2Q -50 53.1 509| 71 68 2#0+2 vA -130 59.7 443110 80 44 S= vJ 420 68.6 35.4
44 26 24 S-1 #Q -50 53.1 509| 72 67 2¢ V+2 v8 -130 59.7 443 79 111 3#S+3 +¢K 170 55.3 48.7
53 17 24 S-1 vQ -50 53.1 509| 74 65 3#V+l v8 -130 59.7 443| 23 49 24 N=  +¢8 110 53.1 50.9
54 35 24 S-1 vQ -50 53.1 50.9| 90 100 32 O+1 T -130 59.7 443( 16 3 44 N-1 ¢4 -50 376 66.4
71 70 24 S-1 £Q -50 53.1 50.9| 97 93 3¢ V+1 ¢8 -130 59.7 443 47 25 44 N-1 v] -50 376 66.4
72 69 34 S-1 %6 -50 53.1 50.9| 98 92 2¢ V+2 v8 -130 59.7 443| 50 22 44 N-1 v3 -50 37.6 66.4
75 66 24 S-1 vQ -50 53.1 509|104 86 2¢ V+2 v8 -130 59.7 443| 63 76 34 N-1 v3 -50 376 66.4
98 94 24 S-1 vQ -50 53.1 509| 16 3 440+l vK -150 399 64.1| 70 69 44 N-1 6 -50 376 66.4
99 93 24 S-1 #Q -50 53.1 50.9| 94 96 2#O+3 vK -150 399 64.1( 71 68 44 N-1 +¢6 -50 37.6 66.4
100 92 24 S-1 #Q -50 53.1 509|112 95 24 O+3 YA -150 39.9 64.1( 72 67 44 N-1 ¢7 -50 376 66.4
112 96 3¢ N-1 ¢4 -50 53.1 50.9| 21 51 INV+3 v4 -180 321 71.9( 74 65 3NN-1 vJ -50 376 66.4
15 2 3¢DN-1 ¢3 -100 22.7 813| 40 32 2NO+2 YA -180 321 71.9( 75 64 24 N-1  vJ -50 37.6 66.4
16 1 3¢ N-2 o7 -100 22.7 813| 73 66 INV+3 v8 -180 321 71.9( 77 62 44 N-1  ¢2 -50 37.6 66.4
40 30 24DS-1 #Q -100 227 81.3[110 80 INV+3 46 -180 321 71.9| 89101 34 N-1 8 -50 376 66.4
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*Q -100 22.7 81.3| 44 28 2vDS-1 ¢K -200 255 785| 97 93 44 N-1 v6 -50 37.6 66.4
vT -100 22.7 813|102 88 34DN-1 &K -200 255 785|112 95 44 N-1 48 -50 37.6 66.4
vQ -100 227 813| 70 69 INO+4 w7 210 211 829 17 2 44 N-2 &2 -100 123 9138
vQ -100 227 813| 75 64 2NO+3 ¢2 -210 211 829| 26 46 44 N-2 v2 -100 123 918
vQ -100 227 81.3| 20 52 2¢ N-5 ¢3 -500 17.8 86.2| 33 39 44 N-2 48 -100 12.3 91.8
*Q -100 227 81.3| 23 49 3NV= a2 -600 156 884 | 41 31 44 N-2 v3 -100 123 9138
*Q -150 114 926| 4 15 3NO+1 45 -630 11.1 929| 73 66 44 N-2 v4 -100 123 918
v5 -170 9.1 949| 78 61 3NO+1 ¢¥K -630 11.1 92.9| 78 61 44 N-2 44 -100 12.3 91.8
*Q -200 6.9 97199 91 3NV+1l ¢8 -630 11.1 92.9| 81 109 44 N-2 +6 -100 123 9138
vQ -300 3.51005| 26 46 3NO+2 v2 -660 45 995|102 88 44 N-2 ¢5 -100 123 918
*J -300 3.51005| 54 36 3NO+2 ¥5 -660 45 995|104 86 44 N-2 +8 -100 12.3 91.8
1 4A -360 0.1 103.9| 81 109 3NO+2 v4 -660 45 995|108 82 3NN-2 3 -100 123 9138
43.7 34 38 3NO+3 v2 -690 0.1 103.9| 99 91 54 N-3 3 -150 0.1 103.9

580 6 - 44.0 6 - 44.0

57.8 84 - 51.5 84 - 51.5
A+/A- 624 41.6 - 105 54.5 - 105 54.5
A-/A+ 416 624 5 14 A-/A+ 416 624 5 14 A-/A+ 416 62.4
A-/A- 416 416 87 103 A-/A+ 416 62.4| 87 103 A-/A+ 416 624
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